
 

Page 1 of 1 360 West Aspen Ave. Salt Lake City, Utah 84101 method-studio.com 801.532.4422 

Addendum # 01 Date: 10 October 2024 

PROJECT:   
McKay Dee Hospital Cath Lab 4 Replacement 
4401 Harrison Blvd. 
Ogden, UT 84403 

  

   
OWNER:    
Intermountain Healthcare 
Kurt Wilson, Construction Project Manager 
801-387-2800 

  

   
ARCHITECT:   
Method Studio 
360 W Aspen Ave. 
Salt Lake City, UT 84101 
801-532-4422 

  

   
This Addendum forms a part of the Contract Documents and modifies the original contract documents.  Receipt of 
this Addendum must be acknowledged by the Contractor and Owner. 

 

Architectural Clarifications: 

a. D103/A1 – Added existing millwork to be removed 
b. D133/A1 – Added existing ceiling to be removed 
c. D401/A1 – Added interior elevation showing existing millwork to be removed 
d. A133/A1 – Added new portion of ceiling 
e. A411/B2 – Added interior elevation showing new finishes to match existing 
f. A703/A1 – Added portion of finish to match existing 
g. A901 – Added new sheet for equipment plan and equipment schedule 

 
END OF ADDENDUM – 01 

 



3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

10
/7

/2
02

4 
4:

36
:2

9 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

G000

COVER

SHEET

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

McKay Dee Cath Lab 4 Replacement
CONSTRUCTION DOCUMENT  -   SEPT 27, 2024

SEPT 27, 2024

owner
intermountain health

4401 Harrison Blvd,

Ogden, UT 84403

801-387-2800

kurt wilson

architect
method studio

360 w aspen ave

salt lake city, ut 84101

(801) 532-4422

eric geppelt

structural
Dynamic Structures

744 S 400 E

Orem, UT 84097

801-356-1140

george jacklin

mechanical
spectrum engineers

324 s state street, suit 400

salt lake city, ut 84111

(801) 328- 5151

alex boswell

electrical
spectrum engineers

324 s state street, suit 400

salt lake city, ut 84111

(801) 328- 5151

jason worthen



MATERIAL LEGEND

EARTH (EXISTING)

EARTH (BACKFILL)

DRAINAGE FILL
COMPACTED FILL

CONCRETE 
CAST-IN-PLACE

CONCRETE 
PRECAST

BRICK

CONCRETE MASONRY 
UNIT

GROUT

STEEL

ALUMINUM

CONTINUOUS WOOD

SHEATHING

INTERMITTENT WOOD
BLOCKING

WOOD FINISH

HARDBOARD

PARTICLE BOARD

BATT INSULATION

LOOSE FILL INSULATION

RIGID INSULATION

FIRE SPRAY

GYPSUM BOARD

ARCHITECTURE SYMBOLS

A102

SHEET TYPE

DISCIPLINE

SHEET NUMBER SEQUENCE

?

XX

00000X

F1

R1

300M

AWS STANDARD CASEWORK TYPE

MODIFIED CASEWORK TYPE

REFER TO CASEWORK DESIGN SERIES (CDS) OF 
THE ARCHITECTURAL WOODWORK STANDARDS 
(AWS) FOR A FULL DESCRIPTION OF CASEWORK 
TYPES

100' - 0"

MAIN LEVEL

LEVEL NAME

LEVEL ELEVATION

AE000

1 Ref

1

R
ef

1 Ref

1

R
ef

AE000

1 Ref

1

R
ef

1 Ref

1

R
ef

SHEET NUMBER

POSITION ON SHEET

SHEET NUMBER

POSITION ON SHEET

DRAWING NUMBER
VIEW NAME

DRAWING SCALE

ORIGINAL SOURCE OF DETAIL

SIMA1

A526.a

SIMA1

A526.a

POSITION ON SHEET

SHEET NUMBER

SHEET NUMBER

VIEW DIRECTION

POSITION ON SHEET

A1

AE101

SIM

A1

AE101

SIM

A1

AE101

SIM

VIEW DIRECTION

POSITION ON SHEET

SHEET NUMBER

ROOM NUMBER

ROOM AREA

01A

SIGN TYPE

SIGN NUMBER

VIEW DIRECTION

POSITION ON SHEET

SHEET NUMBER

1 DELTA MARKER

10' - 0"

HEIGHT OF ELEMENT

C1 10' - 0"

CEILING TYPE

CEILING HEIGHT

1 2

A

B

A1 STARTS AT UPPER LEFT CORNER;
NUMBERS ARE VERTICAL GRIDS AND LETTERS 
ARE HORIZONTAL GRIDS (EXCLUDES LETTERS "I" 
AND "O")

Room name

101

F

B

W

F
CPT-01

?

ROOM NAME

ROOM NUMBER

WALL FINISH

BASE FINISH

FLOOR FINISH

WALL,BASE, OR FLOOR

MATERIAL FINISH CODE

ARROWS REPRESENT EXTENT OF SCOPE

REFER TO FINISH LEGEND
WC-01

00.00

ROOM NAME

101

150 SF

KEYNOTE TAG

CURTAIN WALL TAG

DOOR TAG

FLOOR TAG

ROOF TAG

WALL TAGS

REVISION CLOUD

A1 VIEW NAME
1/8" = 1'-0" (REF: A1/A101)

1 SA6 a

SEE WALL TYPE SHEET(S) FOR LEGEND
1  SA6

a

1

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

10
/7

/2
02

4 
4:

36
:3

6 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

G001

INDEX,

GENERAL

NOTES,

LOCATION

MAP,

LEGENDS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

ABBREVIATION SCHEDULE
Abbrev. Description

0

# NUMBER OR POUND

& AND

2:1 SL 2 HORIZONTAL TO 1 VERTICAL SLOPE

@ AT

[ CHANNEL

± PLUS MINUS

≤ LESS THAN OR EQUAL TO

≥ GREATER THAN OR EQUAL TO

A

AB ANCHOR BOLT

AC APSHALTIC CONCRETE

ACST ACOUSTIC

AD AREA DRAIN

ADJ ADJUSTABLE

AFF ABOVE FINISH FLOOR

ALT ALTERNATE

ALUM ALUMINUM

ARCH ARCHITECTURAL, ARCHITECT, ARCHITECTURE

ASPH ASPHALT

B

B BASELINE

B BOTTOM

BEJ BRICK EXPANSION JOINT

BLDG BUILDING

BLK BLOCK

BM BEAM

BO BOARD

BRG BEARING

BSMT BASEMENT

C

C&G CURB & GUTTER

CAP CAPACITY

CEM CEMENT

CG CORNER GUARD

CIP CAST IN PLACE, CAST IRON PIPE

CIR CIRCULATING

CJ CONTROL JOINT

CL CENTERLINE

CL CENTERLINE

CLG CEILING

CLR CLEAR

CMU CONCRETE MASONRY UNITS

COL COLUMN

CONC CONCRETE

CONN CONNECTION

CONST CONSTRUCTION

CONT CONTINUOUS

CPT CARPET

CSK COUNTERSUNK

CT CERAMIC TILE

CTR CENTER

D

D DEPTH

DET DETAIL

DF DRINKING FOUNTAIN

DIA DIAMETER

DIM DIMENSION

DN DOWN

DS DOWNSPOUT

DWG DRAWING

E

E EAST

E/P EDGE OF PAVEMENT

EA EACH

EL ELEVATION

ELECT ELECTRICAL

ELEV ELEVATOR

EMER EMERGENCY

EQ EQUAL

EQUIP EQUIPMENT

EW EACH WAY

EWC ELECTRIC WATER COOLER

EXIST EXISTING

EXP EXPANSION

EXP JT EXPANSION JOINT

EXT EXTERIOR

F

F.V. FIELD VERIFY

FD FLOOR DRAIN

FDN FOUNDATION

FE FIRE EXTINGUISHER

FFE FINISHED FLOOR ELEVATION

FH FIRE HYDRANT

FHC FIRE HOSE CABINET

FIN FINISH

FLR FLOOR

FR FRAME

FTG FOOTING

FXTR FIXTURE

G

G GROUND

GA GA

GALV GALVANIZED

GL GLASS

GR GRADE

GRD GROUND

GWB GYPSUM WALL BOARD

H

HB HOSE BIBB

HC HANDICAPPED

HDW HARDWARE

HGT HEIGHT

HORZ HORIZONTAL

HR HOUR

HW HOT WATER

GENERAL NOTES - MISCELLANEOUS
1 THE PROJECT MANUAL, UNDER SEPARATE COVER, IS AN INTEGRAL PART OF THESE CONSTRUCTION DRAWINGS.

2 PLANS, SECTIONS, ELEVATIONS, DETAILS AND DIMENSIONS LABELED "TYPICAL" AND/OR "SIMILAR" SHALL APPLY TO ALL
SITUATIONS OCCURRING THAT ARE THE SAME OR SIMILAR TO THOSE SPECIFICALLY KEYED ON THE DRAWINGS.

3 ALL WORK, MATERIALS, AND METHODS SHALL BE IN CONFORMANCE WITH THE CODES, ORDINANCES AND REGULATIONS
OF ALL GOVERNMENTAL AGENCIES HAVING JURISDICTION AT THE PROJECT LOCATION.

4 UNLESS OTHERWISE INDICATED IN THE CONSTRUCTION DOCUMENTS AS BEING NOT IN CONTRACT (N.I.C.) OR EXISTING,
ALL ITEMS, MATERIALS AND INSTALLATION OF SAME ARE PART OF THE CONTRACT AS DEFINED BY THE CONSTRUCTION
DOCUMENTS.  THE CONTRACTOR SHALL PROVIDE AND INSTALL ALL ACCESSORIES, COMPONENTS AND ASSEMBLIES
REQUIRED FOR THE WORK DEPICTED OR SPECIFIED.

5 CONTRACTORS ARE RESPONSIBLE FOR ALL WORK REGARDLESS OF THE LOCATION OF THE INFORMATION ON THE
DOCUMENTS.

6 KEEP SITE CLEAN AND CLEAR OF DEBRIS AND IN ORDERLY CONDITION THAT DOES NOT DETRACT FROM THE
SURROUNDING SITE AND REPAIR ANY DAMAGE CAUSED BY WORK OF THE CONTRACT.

7 ALL DIMENSIONS ARE TO THE FACE OF METAL OR WOOD STUD FRAMED WALLS AND TO THE FACE OF CONCRETE AND
MASONRY WALLS AS  SHOWN, UNLESS NOTED OTHERWISE.

8 INSTALL SEALANT AT EXTERIOR SIDE OF ALL  JOINTS, SEAMS, CONNECTIONS OR OPENINGS  WHICH WOULD NOT ALLOW
WATER OR AIR  INFILTRATION EXCEPT AS NOTED  OTHERWISE. SEALANT COLOR TO MATCH ADJACENT SURFACE. COLOR
REQUIRES  ARCHITECTS APPROVAL.

9 DOOR OPENINGS IN FRAME CONSTRUCTION WHICH ARE NOT DIMENSIONED ARE EITHER CENTERED IN THE WALL, FACE
OF JAMB OR LOCATED 4" FROM THE FACE OF STUD TO THE FINISHED JAMB.

10 ALL SPECIAL ACCESSIBLE FACILITIES SHALL BE IDENTIFIED WITH APPROVED SIGNAGE.

11 THE CONTRACTOR IS RESPONSIBLE FOR PRODUCING A WEATHER TIGHT BUILDING, DETAILS AND OMISSIONS TO
DRAWINGS NOTWITHSTANDING.  ALL DRAWING CONFLICTS WHICH MAY NOT ALLOW A WEATHERTIGHT CONDITION SHALL
BE BROUGHT TO THE ATTENTION OF THE ARCHITECT.

12 DISCREPANCIES BETWEEN ACTUAL CONDITIONS AND PLANS SHALL BE BROUGHT TO THE ATTENTION OF THE ARCHITECT.
CONTRACTOR SHALL SUBMIT SPECIFIC DISCREPANCIES FOR ARCHITECT REVIEW.

13 PROVIDE FULL METAL BACKING PLATE (16 GAUGE X 6" HIGH SECURED TO 3 STUDS MIN.) OR WOOD BLOCKING AS
REQUIRED TO SECURELY ANCHOR ALL WALL MOUNTED EQUIPMENT (CABINETS, TOILET ROOM ACCESSORIES,
HARDWARE, ETC.). BLOCKING SHALL PROVIDE A RIGID CONNECTION CAPABLE OF SUPPORTING DESIGN LOADS. PROVIDE
A 16 GAUGE X 6" STL. STUD/TRACK SECURED TO 2 STUDS TO SECURELY SUPPORT ALL WALL STOPS (DOOR BUMPER).

14 COORDINATE WITH ALL TRADES, SIZES AND LOCATIONS OF ALL OPENINGS FOR MECHANICAL, PLUMBING, AND
ELECTRICAL EQUIPMENT, EQUIPMENT PADS OR BASES, AS WELL AS ELECTRIC POWER, WATER, AND DRAIN
INSTALLATIONS, BEFORE PROCEEDING WITH WORK. CONTRACTOR SHALL PROVIDE COORDINATION DRAWINGS FOR
PROPER PLACEMENT OF ALL TRADES' WORK. ANY CONCERNS, SPACE LIMITATIONS, OR STRUCTURAL CONFLICTS, SHALL
BE BROUGHT TO THE ATTENTION OF THE ARCHITECT. A REASONABLE RESPONSE TIME SHALL BE ALLOWED AS NOTED IN
THE SPECIFICATIONS.

15 ALL FLOOR OR WALL OPENINGS REQUIRED FOR PIPES, DUCTS, CONDUITS,ETC. SHALL BE SEALED IN AN APPROVED
MANNER.

16 FIRE SPRINKLER DESIGN TO BE DONE BY A CERTIFIED SUB-CONTRACTOR AND WILL REQUIRE APPROVALS BY THE CITY,
AND STATE FIRE MARSHALS. APPROVALS BY THE FIRE MARSHAL ARE TO BE OBTAINED BY THE CONTRACTOR PRIOR TO
SUBMITTAL TO ARCHITECT. SUBMITTAL TO THE ARCHITECT ALSO INDICATES THAT THE CONTRACTOR HAS REVIEWED AND
COORDINATED FIRE-SPRINKLER PIPING LOCATIONS WITH ALL TRADES.

17 ROOMS ENCLOSED WITH RATED WALLS REQUIRE RATED DOORS. ANY DUCTS PASSING THROUGH WALLS REQUIRE FIRE
DAMPERS AND OR FIRE/SMOKE DAMPERS. ANY CONDUIT OR PIPING REQUIRES RATED SEALANT AT JOINTS.

18 GENERAL STRUCTURAL NOTES GOVERN TYPICAL CONDITIONS WHETHER OR NOT SPECIFICALLY DETAILED OR NOTED.

19 IT IS THE CONTRACTOR'S RESPONSIBILITY TO COORDINATE AND LOCATE ELECTRICAL, DATA, AND PHONE RECEPTACLES,
SWITCHES, ETC. TO AVOID CASEWORK, DOORS, ETC.

20 THE DRAWINGS AND SPECIFICATIONS INDICATE THE GENERAL SCOPE OF THE PROJECT IN TERMS OF THE
ARCHITECTURAL AND STRUCTURAL DESIGN CONCEPT. THE DIMENSIONS OF THE BUILDING, THE TYPE OF STRUCTURAL,
MECHANICAL, ELECTRICAL, AND UTILITY SYSTEMS AND MAJOR ARCHITECTURAL ELEMENTS OF CONSTRUCTION AS
"SCOPE" DOCUMENTS.

21 THE DRAWINGS AND SPECIFICATIONS DO NOT NECESSARILY INDICATE OR DESCRIBE ALL WORK REQUIRED FOR THE FULL
PERFORMANCE AND COMPLETION OF THE WORK. CONTRACTS SHALL BE LET ON THE BASIS OF SUCH DOCUMENTS, WITH
THE UNDERSTANDING THAT THE CONTRACTOR IS TO FURNISH ALL ITEMS REQUIRED FOR PROPER COMPLETION OF THE
WORK WITHOUT ADJUSTMENT TO CONTRACT PRICE. IT IS INTENDED THAT THE WORK TO BE OF SOUND AND QUALITY
CONSTRUCTION AND THE CONTRACTOR SHALL BE SOLELY RESPONSIBLE FOR THE INCLUSION OF ADEQUATE AMOUNTS
TO COVER INSTALLATION OF ALL ITEMS INDICATED, DESCRIBED, OR REASONABLY IMPLIED.

22 PROVIDE LEAD SHIELDING IN PROJECT PER RECOMMENDATIONS AND REQUIREMENTS INDICATED IN THE SHIELDING
REPORT

23 PATCH LEAD SHIELDING PER PHYSICIST REQUIREMENTS TO MEET REQUIREMENTS INDICATED IN THE SHIELDING REPORT
WHERE HOLES ARE CREATED DUE TO DEMOLITION AND NEW CONSTRUCTION

DRAWING INDEX
GENERAL

G000 COVER SHEET

G003 CODE ANALYSIS & CODE PLANS

G012 ACCESSIBILITY DETAILS, MOUNTING HEIGHTS & TYPICAL BLOCKING

G015 CODE REQUIRED SIGNAGE & DETAILS

G021 COMCHECKS

G100 UL DESIGNS

G200 LEAD SHIELDING REPORT

G001 INDEX, GENERAL NOTES, LOCATION MAP, LEGENDS

ARCHITECTURAL DEMOLITION

D102 LEVEL 2 EXISTING FLOOR PLAN

D103 LEVEL 3 DEMO PLAN

D132 LEVEL 2 EXISTING RCP

D133 LEVEL 3 DEMO RCP

D401 INTERIOR ELEVATIONS DEMO

ARCHITECTURAL SITE

A001 CONTEXT PLAN

ARCHITECTURAL

A103 LEVEL 3 ENLARGED FLOOR PLAN

A113 LEVEL 3 DIMENSION PLAN

A133 LEVEL 3 RCP PLAN

A211 3D AXONOMETRIC VIEWS

A411 ENLARGED PLANS AND INTERIOR ELEVATIONS

A501 INTERIOR WALL ASSEMBLIES

A503 STRUCTURAL STEEL DETAILS

A504 STRUCTURAL STEEL DETAILS

A571 INTERIOR DETAILS

A581 CASEWORK DETAILS

A601 DOOR SCHEDULE, TYPES, AND DETAILS

Structural

S001 GENERAL STRUCTURAL NOTES

S101 LEVEL 3 FLOOR PLAN

S201 LEVEL 3 CEILING PLAN

S310 CONSTRUCTION DETAILS

MECHANCIAL

F103 LEVEL 3 FIRE PROTECTION

MD103 LEVEL 3 MECHANICAL DEMO PLAN

M001 MECHANICAL COVER SHEET

M103 LEVEL 3 MECHANICAL PLAN

MP103 LEVEL 3 MECHANICAL PIPING PLAN

M501 MECHANICAL DETAILS

M601 MECHANICAL SCHEDULES

M901 LEVEL 3 FGI ACH

PLUMBING

P001 PLUMBING COVER SHEET

PD103 LEVEL 3 PLUMBING DEMO PLAN

P103 LEVEL 3 PLUMBING PLAN

P104 LEVEL 3 PLUMBING MED GAS

P501 PLUMBING DETAILS

P601 PLUMBING SCHEDULES

ELECTRICAL

EE001 ELECTRICAL COVER SHEET

EE002 TELECOM SCHEDULES AND NOTES

EE003 AUXILIARY SCHEDULES AND NOTES

EE501 ELECTRICAL DETAILS

EE701 TYPICAL MOUNTING DETAILS

EE702 SKYTRON DRAWINGS

EE703 SKYTRON DRAWINGS

EE704 SKYTRON DRAWINGS

EE705 SKYTRON DRAWINGS

EE706 SIEMENS DRAWINGS

EE707 SIEMENS DRAWINGS

EE708 SIEMENS DRAWINGS

ED101 LEVEL 3 ELECTRICAL & LIGHTING DEMOLITION PLAN

EP101 LEVEL 3 POWER PLAN - OVERALL

EP102 LEVEL 3 POWER PLAN

EP551 TELECOM DETAILS

EP601 ONE-LINE DIAGRAM

EP651 TELECOM CABLE RISER DIAGRAM

EL101 LEVEL 3 LIGHTING PLAN

EY101 LEVEL 3 AUXILIARY PLAN

EQUIPMENT

SIEMENS A101 FLOOR PLAN

SIEMENS A102 REFLECTED CEILING PLAN AND CLEARANCE

SIEMENS S101 STRUCTURAL PLAN

SIEMENS S102 STRUCTURAL DETAILS

SIEMENS E101 ELECTRICAL RACEWAY PLAN

SIEMENS E102 ELECTRICAL DIMENSION PLAN

SIEMENS E501 ELECTRICAL SCHEDULES

SIEMENS M501 MECHANICAL REQUIREMENTS

SKYTRON COVER SHEET

SKYTRON 00 ROOM LAYOUT

SKYTRON A1 ELEVATION DETAILS

SKYTRON A1.1 MTG. STRUCTURE

SKYTRON A2 CARRIER DETAILS

SKYTRON A3 ELECTRICAL DETAILS

SKYTRON B1 ELEVATION DETAILS

SKYTRON B1.1 MTG. STRUCTURE

SKYTRON B2 CARRIER DETAILS

SKYTRON B3 ELECTRICAL DETAILS

SKYTRON B3.1 ELECTRICAL DETAILS

SKYTRON C1 ELEVATION DETAILS

SKYTRON C1.1 MTG. STRUCTURE

SKYTRON C2 CARRIER DETAILS

SKYTRON C3 ELECTRICAL DETAILS

SKYTRON D1 ELEVATION DETAILS

SKYTRON D1.1 MTG. STRUCTURE

SKYTRON D2 CARRIER DETAILS

SKYTRON D3 ELECTRICAL DETAILS

SKYTRON E1 ELEVATION DETAILS

SKYTRON E1.1 MTG. STRUCTURE

SKYTRON F1 ELEVATION DETAILS

SKYTRON F1.1 MTG. STRUCTURE

SKYTRON F4 LIGHTING DETAILS

SKYTRON F4.1 WALL CTRL. DETAILS

SKYTRON BP1

SKYTRON BP2

SKYTRON BP3

ABBREVIATION SCHEDULE
Abbrev. Description

I

ID INSIDE DIAMETER

IE INVERT ELEVATION

INSUL INSULATION

INT INTERIOR

INTX INTERSECTION

INV INVERT

J

JB JUNCTION BOX

JCT JUNCTION

JST JOIST

JT JOINT

L

L ANGLE

L LENGTH

LC LENGTH OF CURVE

LDC LEAD COVERED

LL LIVE LOAD

LLH LONG LEG HORIZONTAL

LLV LONG LEG VERTICAL

LT LIGHT

M

MAS MASONRY

MATL MATERIAL

MAX MAXIMUM

MECH MECHANICAL

MET METAL

MFR MANUFACTURER

MH MANHOLE

MIN MINIMUM

MISC MISCELLANEOUS

MO MASONRY OPENING

MTD MOUNTED

MTG MOUNTING

MULL MULLION

MWP MEMBRANE WATERPROOFING

N

N NORTH

NA NOT APPLICABLE

NE NORTHEAST

NEC NATIONAL ELECTRIC CODE

NEUT NEUTRAL

NIC NOT IN CONTRACT

NO NUMBER

NOM NOMINAL

NTS NOT TO SCALE

NW NIORTHWEST

O

OA OUTSIDE AIR

OA OUTSIDE AIR

OC ON CENTER

OFCI OWNER FURNISHED, CONTRACTOR INSTALLED

OFOI OWNER FURNISHED, OWNER INSTALLED

OPP OPPOSITE

OVHD OVERHEAD

P

PI POINT IF INTERSECTION

PL PLATE

PLAS PLASTER

PLYWD PLYWOOD

PNL PANEL

PNT PAINT

PRELIM PRELIMINARY

PRESS PRESSURE

PRIM PRIMARY

PRTN PARTITION

PT POINT, POINT OF TANGENT

Q

QT QUARRY TILE

R

R RADIUS

RA RETURN AIR

RB RESILIENT VINYL BASE

RCP REINFORCED CONCRETE PIPE

RD ROOF DRAIN

RECP RECEPTACLE

REINF REINFORCEMENT

REQD REQUIRED

REV REVISION

RF ROOF

RFLCP REFLECTIVE CEILING PLAN

RM ROOM

RVT RESILIENT VINYL TILE

S

S SOUTH

SCH SCHEDULE

SD STORM DRAIN

SE SOUTHEAST

SECT SECTION

SHT SHEET

SIM SIMILIAR

SL SLOPE

SPEC SPECIFICATION

SQ SQUARE

STL STEEL

SUSP SUSPENDED

T

T TOP

T&B TOP AND BOTTOM

TEL TELEPHONE

TEMP TEMPORARY

TERM TERMINAL

THK THICK/THICKNESS

THRSLD THRESHOLD

TO TOP OF

TOS TOP OF STEEL, TOP OF SLAB

TOW TOP OF WALL

TYP TYPICAL

U

UNO UNLESS NOTED OTHERWISE

V

VCT VINYL COMPOSITION TILE

VENT VENTILIATING

VERT VERTICAL

VEST VESTIBULE

VWC VINYL WALL COVERING

W

W WIDTH, WEST

W/ WITH

W/O WITHOUT

WC WATER CLOSET

WD WIDTH

WT WEIGHT

WWF WELDED WIRE FABRIC

X

X TRANSFORMER



CR

J

6 7 8 9 10

H

G

5.65

Occ: 3

610 SF

3A050

HYBRID OR
Occ: 1

132 SF

3A046

CONTROL ROOM

Occ: 1

42 SF

3A047

SCRUB

Occ: 1

140 SF

3A059

EQUIPMENT

READING ROOM EKG COORD

READING ROOM

CORRIDOR

3A062

CORRIDOR

3A031

5

CONTROL ROOM

CONTROL ROOMCONTROL ROOM

CATH LAB

FAC
Req.
Prov.

DOOR

OCC.

32"
48"

0.2
5

GRAPHIC LEGEND

FAC
Req.
Prov.

DOOR

OCC.

32"
36""

0.2
150

FAC
Req.
Prov.

STAIR

OCC.

44"
44""

0.3
85

REQUIRED AND PROVIDED DOOR OPENING SIZE (IN INCHES) BASED
OFF NUMBER OF EXITING OCCUPANTS

REQUIRED AND PROVIDED STAIR WIDTH SIZE (IN INCHES) BASED
OFF NUMBER OF EXITING OCCUPANTS

FIRE EXTINGUISHER SURFACE MOUNTED ON WALL HOOK; 75' RADIUS

FIRE EXTINGUISHER IN RECESSED CABINET; 75' RADIUS

COMMON PATH OF EGRESS (CPE)

TRAVEL DISTANCE (TD)

POINT AT WHICH A CHOICE OF TWO EXITS BECOME AVAILABLE

25
TRAVEL PATH OCCUPANTS & DIRECTION OF TRAVEL

NOTES:

a. SEE SHEET SERIES A500 FOR ADDITIONAL WALL TYPE INFORMATION AND UL LISTINGS
b. SEE G000 SHEET SERIES FOR ADDITIONAL CODE INFORMATION

1 HOUR RATING

2 HOUR RATING

3 HOUR RATING 

1

1 2

1 2 3

REMOTE POINT

FIRE RATING OF OPENING (IN MINUTES)

ADDITIONAL INFORMATION PROVIDED IN A600 SERIES

FE
1

FE
2

120

30 MINUTE RATING

30 MINUTE RATING

SMOKE PARTITIONS

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:3

8 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

G003

CODE

ANALYSIS &

CODE PLANS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

1/8" = 1'-0"
A1 LEVEL 3 CODE PLAN

BUILDING SIZE
NO CHANGES TO EXISTING BUILDING SIZE
TOTAL REMODEL AREA: 962 SF

CODE EVALUATION:
BUILDING CODE

2021 INTERNATIONAL BUILDING CODE.
2021 INTERIONATIONAL EXISTING BUILDING CODE.
2021 INTERNATIONAL FIRE CODE.
2021 INTERNATIONAL MECHANICAL CODE.
2021 INTERNATIONAL PLUMBING CODE.
2020 NATIONAL ELECTRICAL CODE.
2021 INTERNATIONAL ENERGY CONSERVATION CODE. 
ANSI 117-1 2017.
UTAH STATE CODE AMENDMENTS, EFFECTIVE 1 JULY 2022
NFPA 101 LIFE SAFETY 2018

OCCUPANCY CLASSIFICATION
I-2 (HOSPITAL) NO CHANGES TO EXISTING OCCUPANCY

OCCUPANCY REQUIREMENTS
I-2 (IBC 308.3)

TYPE OF CONSTRUCTION
I-2; II-B IBC TABLE 504.3 (EXISTING)

AUTOMATIC FIRE SPRINKLERS
AN EXISTING AUTOMATIC FIRE SPRINKLER SYSTEM IS PROVIDED THROUGHOUT BUILDING IN ACCORDANCE WITH NFPA 13 (IBC 903.3.1) FOR AN 
ALLOWABLE AREA INCREASE AND FOR OTHER CODE BENEFITS.
NO NEW CHANGES THAT AFFECT THE FIRE SPRINKLER SYSTEM

ALLOWABLE FLOOR AREA
NOT REQUIRED BETWEEN I-2 AND I-2 OCCUPANCIES (IBC 302.1)

CORRIIDOR FIRE RESISTANCE
NOT REQUIRED AT CORRIDOR WALLS WHERE AS BUILDING IS FIRE SPRINKLERED THROUGHOUT IN ACCORDANCE WITH NFPA 13 (IBC TABLE 1020.2).

SMOKE PARTITIONS AND BARRIERS
CORRIDOR WALLS IN I-2 OCCUPANCY SHALL BE CONSTRUCTED AS SMOKE BARRIERS OR PARTITIONS IN ACCORDANCE WITH IBC 407, IBC 710 AND 
NFPA 101, 18.3.7.2

OCCUPANT LOAD
(IBC TABLE 1004.1.2)
NO INCREASE TO EXISTING OCCUPANT LOAD

PLUMBING FIXTURES
(IBC 2902.1)
NO CHANGES TO EXISTING PLUMBING FIXTURE COUNT

TRAVEL DISTANCE
200 FEET: I-2 OCCUPANCY (IBC 1017.2)

COMMON PATH OF EGRESS TRAVEL
75 FEET: I-2 OCCUPANCY (IBC 1006.2.1)

DEAD-END CORRIDOR LENGTH
MAXIMUM DEAD-END CORRIDOR LENGTH NOT TO EXCEED 20' (IBC 1020.5)

INTERIOR WALL AND CEILING FINISHES
GROUP I-2  (IBC TABLE 803.13):
B EXIT ENCLOSURES AND PASSAGEWAYS.
B CORRIDORS.
B ROOMS AND ENCLOSED SPACES*
*CLASS C INTERIOR FINISH PERMITTED IN ADMIN SPACES OR IN ROOMS WITH A CAPACITY OF <4 PERSONS.

DECORATIONS AND TRIM
IN GROUP I-2, CURTAINS, DRAPERIES, FABRIC HANGINGS AND SIMILAR COMBUSTIBLE DECORATIVE MATERIALS SUSPENDED FROM WALLS OR 
CEILINGS SHALL COMPLY WITH IBC 806.4 AND SHALL NOT EXCEED 10% OF THE SPECIFIC WALL OR CEILING AREA TO WHICH SUCH MATERIALS ARE 
ATTACHED (IBC 806.2). 

INTERIOR FLOOR FINISHES
COMBUSTIBLE DECORATIVE MATERIALS SUSPENDED FROM WALLS OR CEILINGS SHALL BE IN ACCORDANCE WITH NFPA 701 (IBC 806.4)

SIGNAGE
TO BE INSTALLED IN ACCORDANCE WITH IBC 804

ACCESSIBILITY
TO BE PROVIDED IN ACCORDANCE WITH IBC 1013 AND 1111.
ACCESSIBILITY (IBC CHAPTER 11 AND ICC A117.1)

FIRE ALARM
REQUIRED. (IBC 907.2.6) 
FIRE ALARM AND DETECTION SYSTEMS PROVIDED PER CHAPTER 9.

DOOR ASSEMBLY RATING AND CONSTRUCTION
IBC TABLE 716.1(2)
NO FIRE RATING REQUIREMENT FOR NON FIRE RATED WALLS PER TYPE II-B CONSTRUCTION. DOOR CONSTRUCTION SHALL BE IN ACCORDANCE WITH 
IBC 407.3.1

EGRESS WIDTH
(IBC 1005.3.1 & 1005.3.2)

ADDITIONAL REQUIREMENTS
ONE 2A106C FIRE EXTINGUISHER FOR EVERY 1,500 S.F. SPACED WITH 75' TRAVEL DISTANCE MAXIMUM [IBC TABLE 906.3(1)].

DESIGN CRITERIA



CIRCULAR TURNING SPACE -
NEW BUILDINGS

CIRCULAR TURNING SPACE -
EXISTING BUILDINGS

T-SHAPED TURNING SPACE -
NEW BUILDINGS - OPTION 1

T-SHAPED TURNING SPACE -
NEW BUILDINGS - OVERLAP OF KNEE AND TOE CLEARANCE

20
" 

M
IN

40
" 

M
IN

12" MIN

40" MIN

12" MIN

64" MIN

60
" 

M
IN

T-SHAPED TURNING SPACE -
NEW BUILDINGS - OPTION 3

64" MIN

22
" 

M
IN

38
" 

M
IN

60
" 

M
IN

11" MIN

42" MIN

11" MIN

T-SHAPED TURNING SPACE -
NEW BUILDINGS - OPTION 2

10
" 

M
A

X

67" MIN 60" MIN

25
" 

M
A

X

68" MIN

24
" 

M
IN

36
" 

M
IN

60
" 

M
IN

16" MIN

36" MIN

16" MIN

8" MIN

8"
 M

IN

OVERLAP OF KNEE AND TOEOVERLAP OF KNEE AND TOE

OPTION 2 & OPTION 3OPTION 1

ARM

B
A

S
E

B
A

S
E

ARM

TURNING SPACES SHALL BE PERMITTED TO INCLUDE KNEE AND TOE CLEARANCE COMPLYING WITH 2017 ANSI 117.1, SECION 306, OF 
EITHER THE BASE OR ONE ARM.  FOR OPTION 1, THE BASE OR ARM IS THE PORTION BEYOND THE CHAMFER

EITHER

OR

EITHER

OR

SIZE OF CLEAR FLOOR SPACE - NEW AND 
EXISTING BUILDINGS AND FACILITIES

36" MIN

X
 >

  2
4"

X
 >

 1
5"

60" MIN

POSITION OF CLEAR FLOOR SPACE
FORWARD

POSITION OF CLEAR FLOOR SPACE 
PARALLEL

MANEUVERING CLEARANCE IN AN ALCOVE
PARALLEL APPROACH

MANEUVERING CLEARANCE IN AN ALCOVE
FORWARD APPROACH

52" MIN

30
" 

M
IN

48" MIN

30
" 

M
IN

NEW BUILDINGS AND FACILITIES EXISTING BUILDINGS AND FACILITIES

635

25 max

76
0

2'
 -

 6
" 

m
in

(B)
PLAN(A)

ELEVATION

430 - 635

  17 - 25

76
0

  30
 m

in

(B)
PLANFIG 306.2 

TOE CLEARANCE

23
0  9

150

  6 max

(A)
ELEVATION FIG 306.3

KNEE CLEARANCE

23
0

  9 
m

in

280

  11 min

68
5

  27
 m

in

205

8 min

UNOBSTRUCTED FORWARD REACH OBSTRUCTED FORWARD REACH UNOBSTRUCTED SIDE REACH OBSTRUCTED HIGH SIDE REACH

15
 M

IN

38
0

48
 M

AX

12
20

48
 M

AX

12
20

44
 M

AX

11
20

>20-25 MAX

510-635

20 MAX

510

(A) (B)
10 MAX

255

12
20

48
 M

AX

15
 M

IN

38
0

10 MAX

255

12
20

48
 M

AX

34
 M

AX

86
5

34
 M

AX

86
5 46

 M
AX

11
70

> 10-24 MAX

255-610

(A) (B)

PUSH SIDE

58" MIN.

MIN.

24"

12" MIN. IF BOTH 
CLOSER AND 
LATCH ARE 
PROVIDED

12" MIN. IF BOTH 
CLOSER AND LATCH 
ARE PROVIDED

MIN.

12"

MIN.

32"

48
" 

M
IN

 F
O

R
 E

X
IS

T
IN

G
 B

LD
G

S

FRONT APPROACHPOCKET OR HINGE APPROACH

60" MIN.

42
" 

M
IN

.

STOP OR LATCH APPROACH

SWINGING DOORS
HINGE APPROACH

SWINGING DOORS
FRONT APPROACH

42
" 

M
IN

.

RECESSED DOORS AND GATES FOR NEW BUILDINGS
FRONT APPROACH

22" MIN.

60
" 

M
IN

.

N
E

W
 B

LD
G

S

52
" 

M
IN

.

18" MIN.
24" MIN. 54

" 
M

IN
.

60
" 

M
IN

.

36" MIN.

42" MIN.

22" MIN

18" MIN.60
" 

M
IN

.

X
 >

 8
"

52
" 

M
IN

 F
O

R
 N

E
W

 B
LD

G
S

42
" 

M
IN

PULL SIDE

58" MIN.

MIN.

24"

SWINGING DOORS
LATCH APPROACH

48
" 

M
IN

24" MIN.

22" MIN

42
" 

M
IN

48" MIN IF BOTH 
CLOSER AND 
LATCH PROVIDED

54" MIN IF CLOSER 
IS PROVIDED

54" MIN IF CLOSER 
IS PROVIDED

52
" 

M
IN

.PUSH SIDE

PULL SIDE

PUSH SIDE

PULL SIDE X
 >

 8
"

12" MIN

12" MIN. IF BOTH 
CLOSER AND 
LATCH ARE 
PROVIDED

E
X

IS
T

IN
G

 B
LD

G
S

48
" 

M
IN

.

SOAP DISPENSER PAPER TOWEL 
DISPENSER

NOTES:
1. WHERE SHOWN, 48" MAX HEIGHT SHALL BE MEASURED FROM FLOOR TO ANY HIGHEST OPERABLE PART
2. PROVIDE BLOCKING FOR ALL EQUIPMENT PER MANUFACTURER'S WRITTEN INSTRUCTIONS

T
O

 D
IS

P
E

N
S

E
R

3'
 -

 6
"

T
O

 D
IS

P
E

N
S

E
R

 / 
H

A
N

D
LE

4'
 -

 0
" 

M
A

X

34
" 

M
A

X

15" MIN

LAVATORY OR VANITY SINK

27
" 

M
IN

ACCESSIBLE SINK BOWL 6 
1/2" DEEP

COUNTER WHERE OCCURS

M
IN

.

9"

17"

NOTE:
HOT WATER AND DRAIN PIPES MUST BE CONFIGURED TO PROTECT AGAINST CONTACT.

PROVIDE  HEAT SHIELDS AND OR ISOLATION WRAP IN EXPOSED AREAS.

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:3

9 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

G012

ACCESSIBILITY

DETAILS,

MOUNTING

HEIGHTS &

TYPICAL

BLOCKING

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

3/8" = 1'-0"
E1 ICC ANSI 117.1-2017 TURNING SPACE

3/8" = 1'-0"
C1 ICC ANSI 117.1-2017 CLEAR FLOOR SPACE

3/8" = 1'-0"
D4 ICC ANSI 117.1-2017 TOE / KNEE CLEARANCE

3/8" = 1'-0"
D1 ICC ANSI 117.1-2017 REACH RANGES

1/4" = 1'-0"
B1 ICC ANSI 117.1-2017 DOORS AND DOORWAYS

1/2" = 1'-0"
A1 TYPICAL MOUNTING HEIGHTS

3/8" = 1'-0"
A2 PLUMBING FIXTURE



BRAILLE AREA, TYP

0'
 -

 2
"

OR AS REQ'D

0' - 8" ±

NOTE:
-COLOR AS SELECTED BY ARCHITECT
-CHARACTER SIZE AND BRAILLE
LOCATION PER ANSI A117.1, CH. 7

EXIT SIGN

SIGN

60
" 

M
A

X

48
" 

M
IN

ACTIVE LEAF INACTIVE LEAF ACTIVE LEAF ACTIVE LEAF

SIGN HEIGHT ABOVE THE FLOOR.  TACTILE CHARACTERS SHALL BE 48 INCHES 
MINIMUM ABOVE THE FLOOR.  MEASURED TO THE BASELINE OF THE LOWEST TACTILE 
CHARACTER AND 60 INCHES MAXIMUM ABOVE THE FLOOR.  MEASURED TO THE 
BASELINE OF THE HIGHEST TACTILE CHARACTER.  (ICC/ANSI 703.3.10)

SIGN LOCATION.  WHERE A TACTILE SIGN IS PROVIDED AT A DOOR.  THE SIGN 
SHALL BE ALONGSIDE THE DOOR  AT THE LATCH SIDE.  WHERE A TACTILE SIGN IS 
PROVIDED AT DOUBLE DOORS WITH ONE ACTIVE LEAF.  THE SIGN SHALL BE 
LOCATED ON THE INACTIVE LEAF.  WHERE A TACTILE SIGN IS PROVIDED AT DOUBLE 
DOORS WITH TWO ACTIVE LEAVES.  THE SIGN SHALL BE TO THE RIGHT OF THE 
RIGHT HAND DOOR.  WHERE THERE IS NO WALL SPACE ON THE LATCH SIDE OF A 
SINGLE DOOR, OR TO THE RIGHT SIDE OF DOUBLE DOORS.  SIGNS SHALL BE ON 
THE NEAREST ADJACENT WALL.  SIGNS SHALL BE ON THE NEAREST SHALL BE 
LOCATED SO THAT A CLEAR FLOOR AREA 18 INCHES MINIMUM BUY 18 INCHES 
MINIMUM, CENTERED ON THE TACTILE CHARACTERS, IS PROVIDED BEYOND THE 
ARC OF THE ANY DOOR SWING BETWEEN THE CLOSED POSITION AND 45 DEGREE 
OPEN POSITION.  (ICC/ANSI 703.311)

SIGNAGE LOCATIONS

WALL CONSTRUCTION

ACCESSORY MOUNTED 
OVER FINISHED WALL

GYPSUM BOARD

NOTE:
1. TYPICAL BLOCKING REQUIRED 
BEHIND WALL MOUNTED 
ACCESSORIES AND EQUIPMENT

(OPTION 1) 20 GA x 6" FLAT STEEL 
BLOCKING. ATTACH W SELF TAPPING 
PAN HEAD SCREWS

(OPTION 3) SISTER 16 GA. STL. 
STUD ATTACH FIXTURE TO 
SISTER STUD W/ SELF 
TAPPING SCREWS OR  
ANCHORS

(OPTION 2) INLAID FIRE 
RETARDANT WOOD 
BLOCKING (COMPLY WITH 
IBC 2006 2303.2)

STUDS SHOWN @ 16" O.C. SEE WALL TYPES

FOUNTAIN

20 GA x 6" FLAT STEEL
BLOCKING

20 GA x 6" FLAT STEEL
BLOCKING

16 GA SUPPORT STUD
FOR STL. ANGLE
BRACING

WATER
COOLER/

FOUNTAIN

PROVIDE FULL VERTICAL BLOCKING AT
CENTERLINE OF URINAL

NAPKIN

TAMPON

HAND DRYER

20 GA x 6" FLAT STEEL
BLOCKING

TYPICAL BLOCKING DETAILS

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:3

9 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

G015

CODE

REQUIRED

SIGNAGE &

DETAILS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024



3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:4

2 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

G100

UL DESIGNS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

UL LISTING W-L-8085UL LISTING V435



3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:4

5 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

G200

LEAD

SHIELDING

REPORT

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

MPC SHIELDING REPORT



PROJECT LOCATION

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:2

8 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A001

CONTEXT

PLAN

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - DEMO
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS, MATERIALS, FINISHES, AND DIMENSIONS BEFORE AND

AFTER DEMOLITION, AND TO CONTACT THE ARCHITECT WITH ANY UNFORESEEN CONDITIONS

2 GENERAL CONTRACTOR SHALL PROTECT EXISTING STRUCTURE/ASSEMBLIES/EQUIPMENT AS REQUIRED. REPAIR, PATCH
AND/OR REPLACE EXISTING CONSTRUCTED ITEMS AND EQUIPMENT THAT ARE TO REMAIN AS REQUIRED FOR NEW
CONSTRUCTION

3 GENERAL CONTRACTOR SHALL PATCH AND REPAIR TO MATCH EXISTING FINISHES AT WALLS, FLOORS,
CEILINGS/SOFFITS, ETC... AS REQUIRED IN AREAS NOT SPECIFICALLY CALLED OUT IN THE DRAWINGS BUT ARE IMPACTED
BY CONSTRUCTION

4 REFER TO MECHANICAL, PLUMBING, AND ELECTRICAL DRAWINGS FOR ADDITIONAL DEMOLITION COORDINATION

5 GENERAL CONTRACTOR SHALL PROVIDE A 6 MIL POLYETHYLENE DUST BARRIER FROM FLOOR TO DECK ABOVE TO
ENSURE THAT ALL CORRIDORS OUTSIDE OF CONSTRUCTION AREA ARE KEPT CLEAN AND CLEAR OF DEBRIS AND
OBSTRUCTIONS AT ALL TIMES. DUST BARRIER SHALL BE SEALED AIR TIGHT IN ALL PHASED AREAS OF CONSTRUCTION

6 UPON COMPLETION OF CONSTRUCTION IN EACH PHASE IT IS THE GENERAL CONTRACTORS RESPONSIBILITY TO
THOROUGHLY CLEAN ALL AREAS IN WHICH CONSTRUCTION TOOK PLACE AND AREAS IMPACTED BY CONSTRUCTION. THE
GENERAL CONTRACTOR SHALL CLEAN ALL CARPET, REMOVE ALL DUST, CLEAN DOORS AND FRAMES, LIGHT FIXTURES,
CEILING SYSTEMS, MECHANICAL GRILLES, ELECTRICAL PANELS, WINDOW SYSTEMS, GLAZING, ETC...

7 GENERAL CONTRACTOR TO KEEP AN ACTIVE PEDESTRIAN PATHWAY TO AND AT EGRESS ROUTES FREE OF
OBSTRUCTIONS AT ALL TIMES. CONTRACTOR TO PROVIDE PROTECTION TO PEDESTRIANS BEFORE DEMOLITION (IBC
3303)

8 GENERAL CONTRACTOR TO MAINTAIN EXITS, EXISTING STRUCTURAL ELEMENTS, APPLIED FIREPROOFING PROTECTION
DEVICES, AND SANITARY SAFEGUARDS AT ALL TIMES DURING DEMOLITION AND CONSTRUCTION

9 GREEN HATCH INDICATES FLOOR TO DECK DUST PROOF CONSTRUCTION BARRIER TO PREVENT DUST AND DIRT
MIGRATION AND TO SEPARATE AREAS OCCUPIED BY THE OWNER FROM FUMES AND NOISE. TAPE AND SEAL ALL JOINTS
AND OPENINGS. SEAL JOINTS AT PERIMETER. PAINT EXISTING WALL WHERE BARRIER ATTACHES AFTER REMOVAL OF
BARRIER. PROVIDE STICKY MATS ON BOTH SIDES OF DOOR. COORDINATE WITH OWNER AND INTERMOUNTAIN ICRA FOR
EXACT LOCATION OF CONSTRUCTION BARRIER.

10 CONTRACTOR TO COORDINATE LEAD SHIELDING WITH MPC AND INTERMOUNTAIN HEALTH PHYCISIST PRIOR TO
COVERING WALLS DURING CONSTRUCTION

11 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN
CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

12 REFER TO MANUF. EQUIPMENT PLANS FOR IMAGING EQUIPMENT AND OTHER MISC. EQUIPMENT

13 CONTRACTOR TO COORDINATE WITH OWNER FOR EQUIPMENT NOT NOTED IN SIEMENS AND SKYTRON EQUIPMENT PLANS

14 REFER TO MANUF. REQUIREMENTS FOR EQUIPMENT REMOVAL

12" = 1'-0"
A1

MCKAY DEE HOSPITAL LEVEL 3 CONTEXT PLAN



7 8

H

2A091

2A0572A056

2A064 2A063

2A086

2A092 2A089

2A065

2A078

2A0822A088 2A083

2A066

2A087

2A058

02.00.06

02.00.06

TYP.

TYP.

02.00.01

OR #16OR #17

OR #1 OR #2 OR #3

SUB STER ALCOVE

WORK

STORE / BREAK-OUT OR #1

CORRIDOR

SUB STER ALCOVE

CLEAN CORECLEAN CORECLEAN CORECLEAN CORECLEAN CORE

EXISTING WALLS TO REMAIN, REFER TO DEMOLITION PLANS FOR REMOVAL OF EXISTING WALLS

DEMOLITION LEGEND

ITEMS TO BE DEMOLISHED

EXISTING DOOR TO BE DEMOLISHED

ICRA BARRIER; CONTRACTOR TO COORDINATE LOCATION WITH OWNER

SCOPE OF WORK

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:5

1 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

D102

LEVEL 2

EXISTING

FLOOR PLAN

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

3/8" = 1'-0"
A1 LEVEL 02 EXISTING FLOOR PLAN

GENERAL NOTES - DEMO
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS, MATERIALS, FINISHES, AND DIMENSIONS BEFORE AND

AFTER DEMOLITION, AND TO CONTACT THE ARCHITECT WITH ANY UNFORESEEN CONDITIONS

2 GENERAL CONTRACTOR SHALL PROTECT EXISTING STRUCTURE/ASSEMBLIES/EQUIPMENT AS REQUIRED. REPAIR, PATCH
AND/OR REPLACE EXISTING CONSTRUCTED ITEMS AND EQUIPMENT THAT ARE TO REMAIN AS REQUIRED FOR NEW
CONSTRUCTION

3 GENERAL CONTRACTOR SHALL PATCH AND REPAIR TO MATCH EXISTING FINISHES AT WALLS, FLOORS,
CEILINGS/SOFFITS, ETC... AS REQUIRED IN AREAS NOT SPECIFICALLY CALLED OUT IN THE DRAWINGS BUT ARE IMPACTED
BY CONSTRUCTION

4 REFER TO MECHANICAL, PLUMBING, AND ELECTRICAL DRAWINGS FOR ADDITIONAL DEMOLITION COORDINATION

5 GENERAL CONTRACTOR SHALL PROVIDE A 6 MIL POLYETHYLENE DUST BARRIER FROM FLOOR TO DECK ABOVE TO
ENSURE THAT ALL CORRIDORS OUTSIDE OF CONSTRUCTION AREA ARE KEPT CLEAN AND CLEAR OF DEBRIS AND
OBSTRUCTIONS AT ALL TIMES. DUST BARRIER SHALL BE SEALED AIR TIGHT IN ALL PHASED AREAS OF CONSTRUCTION

6 UPON COMPLETION OF CONSTRUCTION IN EACH PHASE IT IS THE GENERAL CONTRACTORS RESPONSIBILITY TO
THOROUGHLY CLEAN ALL AREAS IN WHICH CONSTRUCTION TOOK PLACE AND AREAS IMPACTED BY CONSTRUCTION. THE
GENERAL CONTRACTOR SHALL CLEAN ALL CARPET, REMOVE ALL DUST, CLEAN DOORS AND FRAMES, LIGHT FIXTURES,
CEILING SYSTEMS, MECHANICAL GRILLES, ELECTRICAL PANELS, WINDOW SYSTEMS, GLAZING, ETC...

7 GENERAL CONTRACTOR TO KEEP AN ACTIVE PEDESTRIAN PATHWAY TO AND AT EGRESS ROUTES FREE OF
OBSTRUCTIONS AT ALL TIMES. CONTRACTOR TO PROVIDE PROTECTION TO PEDESTRIANS BEFORE DEMOLITION (IBC
3303)

8 GENERAL CONTRACTOR TO MAINTAIN EXITS, EXISTING STRUCTURAL ELEMENTS, APPLIED FIREPROOFING PROTECTION
DEVICES, AND SANITARY SAFEGUARDS AT ALL TIMES DURING DEMOLITION AND CONSTRUCTION

9 GREEN HATCH INDICATES FLOOR TO DECK DUST PROOF CONSTRUCTION BARRIER TO PREVENT DUST AND DIRT
MIGRATION AND TO SEPARATE AREAS OCCUPIED BY THE OWNER FROM FUMES AND NOISE. TAPE AND SEAL ALL JOINTS
AND OPENINGS. SEAL JOINTS AT PERIMETER. PAINT EXISTING WALL WHERE BARRIER ATTACHES AFTER REMOVAL OF
BARRIER. PROVIDE STICKY MATS ON BOTH SIDES OF DOOR. COORDINATE WITH OWNER AND INTERMOUNTAIN ICRA FOR
EXACT LOCATION OF CONSTRUCTION BARRIER.

10 CONTRACTOR TO COORDINATE LEAD SHIELDING WITH MPC AND INTERMOUNTAIN HEALTH PHYCISIST PRIOR TO
COVERING WALLS DURING CONSTRUCTION

11 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN
CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

12 REFER TO MANUF. EQUIPMENT PLANS FOR IMAGING EQUIPMENT AND OTHER MISC. EQUIPMENT

13 CONTRACTOR TO COORDINATE WITH OWNER FOR EQUIPMENT NOT NOTED IN SIEMENS AND SKYTRON EQUIPMENT PLANS

14 REFER TO MANUF. REQUIREMENTS FOR EQUIPMENT REMOVAL

KEYED NOTES
02.00.01 LEVEL 03 SCOPE OF WORK, SHOWN IN RED DASHED LINES

02.00.06 CONTRACTOR TO PATCH AND REPAIR EXISTING AFFECTED AREAS ON LEVEL 2 AS NECESSARY PER
CONSTRUCTION ON LEVEL 3. MATCH EXISTING FINISHES.



J

V

V

S

E

S

F

CB
B

FE

T

CR

7 8

H

G

D401 C1

D401

C5

D401

E3

02.05.01

02.00.01

02.05.01

02.08.01

02.08.02

02.08.03

02.05.02

02.06.01

02.10.01

02.11.01

D401E1

D401

C3

D401B4
D401B3

CONTROL ROOM

3A046

SCRUB

3A047
READING ROOM

3A058

E.K.G READ

E.K.G TECH

02.11.02

02.11.04

EKG COORD

3A032

02.10.03

TYP.

TYP.

02.10.04

02.11.0602.10.0502.10.06 02.11.05

02.08.01

02
.1

0.
07

02.10.08

02.10.10

02.11.06

02.11.11

02.11.06

02.10.1102.10.12

02.06.01

02.10.0302.10.13

3A059

3A050

3A059

3A061

02.10.02

02.10.17

02
.1

1.
07

D401 B1

CATH LAB 4

3A050

02
.0

6.
01

02.00.04

02.00.0302.00.03

02.00.03

02.00.05

02.11.06

02.10.48

02.10.49

02.10.09

02.11.19

1

CATH LAB

CONTROL ROOM

SCRUB

READING ROOM CORRIDOR

CATH LAB CORE

02.00.04

D401 A1

02.06.01

EXISTING WALLS TO REMAIN, REFER TO DEMOLITION PLANS FOR REMOVAL OF EXISTING WALLS

DEMOLITION LEGEND

ITEMS TO BE DEMOLISHED

EXISTING DOOR TO BE DEMOLISHED

ICRA BARRIER; CONTRACTOR TO COORDINATE LOCATION WITH OWNER

SCOPE OF WORK

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:5

6 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

D103

LEVEL 3

DEMO PLAN

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

3/8" = 1'-0"
A1 LEVEL 3 DEMOLITION PLAN

GENERAL NOTES - DEMO
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS, MATERIALS, FINISHES, AND DIMENSIONS BEFORE AND

AFTER DEMOLITION, AND TO CONTACT THE ARCHITECT WITH ANY UNFORESEEN CONDITIONS

2 GENERAL CONTRACTOR SHALL PROTECT EXISTING STRUCTURE/ASSEMBLIES/EQUIPMENT AS REQUIRED. REPAIR, PATCH
AND/OR REPLACE EXISTING CONSTRUCTED ITEMS AND EQUIPMENT THAT ARE TO REMAIN AS REQUIRED FOR NEW
CONSTRUCTION

3 GENERAL CONTRACTOR SHALL PATCH AND REPAIR TO MATCH EXISTING FINISHES AT WALLS, FLOORS,
CEILINGS/SOFFITS, ETC... AS REQUIRED IN AREAS NOT SPECIFICALLY CALLED OUT IN THE DRAWINGS BUT ARE IMPACTED
BY CONSTRUCTION

4 REFER TO MECHANICAL, PLUMBING, AND ELECTRICAL DRAWINGS FOR ADDITIONAL DEMOLITION COORDINATION

5 GENERAL CONTRACTOR SHALL PROVIDE A 6 MIL POLYETHYLENE DUST BARRIER FROM FLOOR TO DECK ABOVE TO
ENSURE THAT ALL CORRIDORS OUTSIDE OF CONSTRUCTION AREA ARE KEPT CLEAN AND CLEAR OF DEBRIS AND
OBSTRUCTIONS AT ALL TIMES. DUST BARRIER SHALL BE SEALED AIR TIGHT IN ALL PHASED AREAS OF CONSTRUCTION

6 UPON COMPLETION OF CONSTRUCTION IN EACH PHASE IT IS THE GENERAL CONTRACTORS RESPONSIBILITY TO
THOROUGHLY CLEAN ALL AREAS IN WHICH CONSTRUCTION TOOK PLACE AND AREAS IMPACTED BY CONSTRUCTION. THE
GENERAL CONTRACTOR SHALL CLEAN ALL CARPET, REMOVE ALL DUST, CLEAN DOORS AND FRAMES, LIGHT FIXTURES,
CEILING SYSTEMS, MECHANICAL GRILLES, ELECTRICAL PANELS, WINDOW SYSTEMS, GLAZING, ETC...

7 GENERAL CONTRACTOR TO KEEP AN ACTIVE PEDESTRIAN PATHWAY TO AND AT EGRESS ROUTES FREE OF
OBSTRUCTIONS AT ALL TIMES. CONTRACTOR TO PROVIDE PROTECTION TO PEDESTRIANS BEFORE DEMOLITION (IBC
3303)

8 GENERAL CONTRACTOR TO MAINTAIN EXITS, EXISTING STRUCTURAL ELEMENTS, APPLIED FIREPROOFING PROTECTION
DEVICES, AND SANITARY SAFEGUARDS AT ALL TIMES DURING DEMOLITION AND CONSTRUCTION

9 GREEN HATCH INDICATES FLOOR TO DECK DUST PROOF CONSTRUCTION BARRIER TO PREVENT DUST AND DIRT
MIGRATION AND TO SEPARATE AREAS OCCUPIED BY THE OWNER FROM FUMES AND NOISE. TAPE AND SEAL ALL JOINTS
AND OPENINGS. SEAL JOINTS AT PERIMETER. PAINT EXISTING WALL WHERE BARRIER ATTACHES AFTER REMOVAL OF
BARRIER. PROVIDE STICKY MATS ON BOTH SIDES OF DOOR. COORDINATE WITH OWNER AND INTERMOUNTAIN ICRA FOR
EXACT LOCATION OF CONSTRUCTION BARRIER.

10 CONTRACTOR TO COORDINATE LEAD SHIELDING WITH MPC AND INTERMOUNTAIN HEALTH PHYCISIST PRIOR TO
COVERING WALLS DURING CONSTRUCTION

11 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN
CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

12 REFER TO MANUF. EQUIPMENT PLANS FOR IMAGING EQUIPMENT AND OTHER MISC. EQUIPMENT

13 CONTRACTOR TO COORDINATE WITH OWNER FOR EQUIPMENT NOT NOTED IN SIEMENS AND SKYTRON EQUIPMENT PLANS

14 REFER TO MANUF. REQUIREMENTS FOR EQUIPMENT REMOVAL

KEYED NOTES
02.00.01 LEVEL 03 SCOPE OF WORK, SHOWN IN RED DASHED LINES

02.00.03 ICRA BARRIER LOCATION; CONTRACTOR TO COORDINATE WITH OWNER

02.00.04 EXISTING WALL TO BE REPAINTED. IF SANDING IS REQUIRED, CONTRACTOR TO COORDINATE WITH OWNER FOR ICRA
BARRIER LOCATION; RE: FINISH SCHEDULE

02.00.05 EXISTING PNEUMATIC TUBE STATION TO REMAIN ACCESSIBLE DURING CONSTRUCTION; CONTRACTOR TO COORDINATE
TEMPORARY SHUT DOWN DUE TO CONSTRUCTION WITH THE OWNER

02.05.01 EXISTING WALL AND FRAMING TO BE DEMOLISHED FOR NEW CONSTRUCTION; RE: D100s FOR EXTENTS

02.05.02 EXISTING WALL AND FRAMING TO REMAIN; REMOVE PORTIONS AS NOTED IN DEMO INTERIOR ELEVATIONS; CONTRACTOR TO
PROTECT WALL AND FRAMING DURING CONSTRUCTION RE:INTERIOR ELEVATIONS

02.06.01 EXISTING MILLWORK TO BE REMOVED

02.08.01 EXISTING DOOR AND FRAME TO BE REMOVED

02.08.02 EXISTING DOOR FRAME TO REMAIN, EXISTING LEAD DOOR TO BE REMOVED; CONTRACTOR TO PROTECT DOOR FRAME
DURING CONSTRUCTION; RE: DOOR SCHEDULE

02.08.03 EXISTING LEAD WINDOW TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.10.01 EXISTING LOCKERS TO BE REMOVED

02.10.02 EXISTING COMPUTER CHAIR TO BE REMOVED AND SALVAGED TO OWNER

02.10.03 EXISTING DESKTOP COMPUTER TO BE REMOVED AND SALVAGED TO OWNER

02.10.04 EXISTING SHREDER TO BE REMOVED AND SALVAGE TO THE OWNER

02.10.05 EXISTING WALL MOUNT WORKSTATION EXTENTION ARM TO BE REMOVED AND SALVAGED TO THE OWNER

02.10.06 EXISTING SURGICAL UNIT EQUIPMENT AND CART TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING
CONSTRUCTION AND COORDINATE NEW LOCATION WITH OWNER RE: A400s FOR NEW LOCATION

02.10.07 EXISTING IV POLE TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING CONSTRUCTION; RE: A400s FOR
NEW LOCATION

02.10.08 EXISTING PROTECTIVE SHEILD TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING CONSTRUCTION; RE:
A400s FOR NEW LOCATION

02.10.09 EXISTING BIO WASTE CONTAINER TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.10.10 EXISTING SUPPLY CART TO BE REMOVED AND REINSTALLED IN NEW LOCATION; CONTRACTOR TO PROTECT DURING
CONSTRUCTION; RE: A400s FOR NEW LOCATION

02.10.11 EXISTING ADM TO BE REMOVED AND REINSTALLED IN NEW LOCATION; CONTRACTOR TO PROTECT DURING CONSTRUCTION;
RE: A400s FOR NEW LOCATION

02.10.12 EXISTING WIRE SHELVING UNIT TO BE REMOVED AND REINSTALLED IN NEW LOCATION; CONTRACTOR TO PROTECT DURING
CONSTRUCTION; RE: A400s FOR NEW LOCATION

02.10.13 EXISTING DESKTOP COMPUTER TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING CONSTRUCTION;
RE:A400s FOR NEW LOCATION

02.10.17 EXISTING ROUND WASTE BIN TO REMOVED

02.10.48 EXISTING LEAD APRON RACK TO BE REMOVED AND REINSTALLED IN CATH LAB CORE; CONTRACTOR TO COORDINATE NEW
LOCATION WITH OWNER

02.10.49 EXISTING MAYO STAND TO BE REMOVED AND REINSTALLED; RE:A400s FOR NEW LOCATION

02.11.01 EXISTING MINI REFRIGERATOR TO BE REMOVED AND SALVAGED TO OWNER

02.11.02 EXISTING SINK TO BE REMOVED; RE PLUMBING SCHEDULE

02.11.04 EXISTING DESKTOP PC AND WORK SURFACE IN CONTROL ROOM TO BE REMOVED; COORDINATE WITH SIEMENS; RE: EQUIP.
PLAN

02.11.05 EXISTING EXCIMER LASER SYSTEM IN CLOSET TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING
CONSTRUCTION; RE: A400s FOR NEW LOCATION

02.11.06 EXISTING SIEMENS EQUIPMENT TO BE REMOVED PER MNFR. REQUIREMENTS; COORDINATE WITH SIEMENS

02.11.07 EXISTING CATH LAB EQUIPMENT TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING CONSTRUCTION
AND COORDINATE LOCATION WITH OWNER;

02.11.11 EXISTING VITALS MONITOR TO BE REMOVED AND REINSTALLED; COORDINATE LOCATION WITH OWNER; RE: A400s FOR NEW
LOCATION

02.11.19 EXISTING LAUNDRY HAMPER TO BE REMOVED AND REINSTALLED; COORDINATE LOCATION WITH OWNER; RE: A400s FOR NEW
LOCATION

1 Addendum 1 - Cath Lab Core
Millwork

10/07/2024

1



J

S

S

7 8

H

B1 8' - 6"

B1 10' - 0" B1 10' - 0" B1 10' - 0"

A1 8' - 6"

B1 10' - 0"

B1 8' - 6"

B1 10' - 0"B1 10' - 0"

02.00.01

02.00.07

02.00.07

02.00.07

02.00.07

02.00.07

02.00.07

02.00.07

2A091

2A0572A056

2A064 2A063

2A086

2A092 2A089

2A065

2A078

2A0822A088 2A083

2A066

2A087

2A058

OR #16OR #17

OR #1 OR #2 OR #3

SUB STER ALCOVE

WORK

STORE / BREAK-OUT

OR #1

CORRIDOR

SUB STER ALCOVE

CLEAN CORECLEAN CORECLEAN CORECLEAN CORECLEAN CORE

EXISTING 2' x 2' LAY-IN ACOUSTICAL TILE  & SUSPENSION SYSTEM

EXISTING CEILING LEGEND

EXISTING 5/8" GYPSUM BOARD 

SUPPLY DIFFUSER, SEE MECHANICAL

RECESSED  LIGHT FIXTURE, SEE ELECTRICAL

2'x4' LIGHT FIXTURE, SEE ELECTRICAL

RETURN GRILLE, SEE MECHANICAL

ROUND SURFACE DECO LIGHT, SEE ELECTRICAL

1'x4' LIGHT FIXTURE, SEE ELECTRICAL

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:5

9 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

D132

LEVEL 2

EXISTING

RCP

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

3/8" = 1'-0"
A1

LEVEL 2 EXISTING RCP

GENERAL NOTES - DEMO
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS, MATERIALS, FINISHES, AND DIMENSIONS BEFORE AND

AFTER DEMOLITION, AND TO CONTACT THE ARCHITECT WITH ANY UNFORESEEN CONDITIONS

2 GENERAL CONTRACTOR SHALL PROTECT EXISTING STRUCTURE/ASSEMBLIES/EQUIPMENT AS REQUIRED. REPAIR, PATCH
AND/OR REPLACE EXISTING CONSTRUCTED ITEMS AND EQUIPMENT THAT ARE TO REMAIN AS REQUIRED FOR NEW
CONSTRUCTION

3 GENERAL CONTRACTOR SHALL PATCH AND REPAIR TO MATCH EXISTING FINISHES AT WALLS, FLOORS,
CEILINGS/SOFFITS, ETC... AS REQUIRED IN AREAS NOT SPECIFICALLY CALLED OUT IN THE DRAWINGS BUT ARE IMPACTED
BY CONSTRUCTION

4 REFER TO MECHANICAL, PLUMBING, AND ELECTRICAL DRAWINGS FOR ADDITIONAL DEMOLITION COORDINATION

5 GENERAL CONTRACTOR SHALL PROVIDE A 6 MIL POLYETHYLENE DUST BARRIER FROM FLOOR TO DECK ABOVE TO
ENSURE THAT ALL CORRIDORS OUTSIDE OF CONSTRUCTION AREA ARE KEPT CLEAN AND CLEAR OF DEBRIS AND
OBSTRUCTIONS AT ALL TIMES. DUST BARRIER SHALL BE SEALED AIR TIGHT IN ALL PHASED AREAS OF CONSTRUCTION

6 UPON COMPLETION OF CONSTRUCTION IN EACH PHASE IT IS THE GENERAL CONTRACTORS RESPONSIBILITY TO
THOROUGHLY CLEAN ALL AREAS IN WHICH CONSTRUCTION TOOK PLACE AND AREAS IMPACTED BY CONSTRUCTION. THE
GENERAL CONTRACTOR SHALL CLEAN ALL CARPET, REMOVE ALL DUST, CLEAN DOORS AND FRAMES, LIGHT FIXTURES,
CEILING SYSTEMS, MECHANICAL GRILLES, ELECTRICAL PANELS, WINDOW SYSTEMS, GLAZING, ETC...

7 GENERAL CONTRACTOR TO KEEP AN ACTIVE PEDESTRIAN PATHWAY TO AND AT EGRESS ROUTES FREE OF
OBSTRUCTIONS AT ALL TIMES. CONTRACTOR TO PROVIDE PROTECTION TO PEDESTRIANS BEFORE DEMOLITION (IBC
3303)

8 GENERAL CONTRACTOR TO MAINTAIN EXITS, EXISTING STRUCTURAL ELEMENTS, APPLIED FIREPROOFING PROTECTION
DEVICES, AND SANITARY SAFEGUARDS AT ALL TIMES DURING DEMOLITION AND CONSTRUCTION

9 GREEN HATCH INDICATES FLOOR TO DECK DUST PROOF CONSTRUCTION BARRIER TO PREVENT DUST AND DIRT
MIGRATION AND TO SEPARATE AREAS OCCUPIED BY THE OWNER FROM FUMES AND NOISE. TAPE AND SEAL ALL JOINTS
AND OPENINGS. SEAL JOINTS AT PERIMETER. PAINT EXISTING WALL WHERE BARRIER ATTACHES AFTER REMOVAL OF
BARRIER. PROVIDE STICKY MATS ON BOTH SIDES OF DOOR. COORDINATE WITH OWNER AND INTERMOUNTAIN ICRA FOR
EXACT LOCATION OF CONSTRUCTION BARRIER.

10 CONTRACTOR TO COORDINATE LEAD SHIELDING WITH MPC AND INTERMOUNTAIN HEALTH PHYCISIST PRIOR TO
COVERING WALLS DURING CONSTRUCTION

11 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN
CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

12 REFER TO MANUF. EQUIPMENT PLANS FOR IMAGING EQUIPMENT AND OTHER MISC. EQUIPMENT

13 CONTRACTOR TO COORDINATE WITH OWNER FOR EQUIPMENT NOT NOTED IN SIEMENS AND SKYTRON EQUIPMENT PLANS

14 REFER TO MANUF. REQUIREMENTS FOR EQUIPMENT REMOVAL

KEYED NOTES
02.00.01 LEVEL 03 SCOPE OF WORK, SHOWN IN RED DASHED LINES

02.00.07 CONTRACTOR TO PATCH AND REPAIR EXISTING CEILING SURFACES ON LEVEL 2 AS NECESSARY PER
CONSTRUCTION ON LEVEL 3. MATCH EXISTING CEILING FINISHES.



EPO

E
P

O

S

S

S

S

S
S S

S S

S

S

S

S

S

J

J

J

J

J

J

J

T

7 8

H

G

CONTROL ROOM

3A046

SCRUB

3A047

E.K.G TECH

02.26.01

02.00.01

02.09.02

02.26.05
02.26.05

02.26.04

02.09.02

02.26.04

02.09.02

02.09.02

02.10.41

02.10.40

E.K.G READ

CORRIDOR

3A031

3A059

3A061

02.09.02 02.26.01

CATH LAB 4

3A050

02.11.18
02.09.02

02.26.05

02.26.04

02.26.01

02.23.01

02.09.13

02.09.13

02.26.13

02.10.41

02.10.40

02.11.06

EKG COORD

3A032

READING ROOM

3A058

CORRIDOR

3A062

CATH LAB

3A034

02.23.05

1

EXISTING 2' x 2' LAY-IN ACOUSTICAL TILE  & SUSPENSION SYSTEM

DEMOLITION CEILING LEGEND
NOTE:
ALL DROPS NEED TO BE NON-COMBUSTIBLE METAL FRAMING OR LIGHT GAUGE METAL FRAMING AND 
MEET L/360 STANDARD FOR ALLOWABLE DEFLECTION.

DEMO 5/8" GYPSUM BOARD 

DEMO 2' x 2' LAY-IN ACOUSTICAL TILE  & SUSPENSION SYSTEM

SUPPLY DIFFUSER, SEE MECHANICAL

RECESSED  LIGHT FIXTURE, SEE ELECTRICAL

2'x4' LIGHT FIXTURE, SEE ELECTRICAL

RETURN GRILLE, SEE MECHANICAL

ROUND SURFACE DECO LIGHT, SEE ELECTRICAL

1'x4' LIGHT FIXTURE, SEE ELECTRICAL

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:0

3 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

D133

LEVEL 3

DEMO RCP

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - CEILING
1 VERIFY AND COORDINATE ALL MECHANICAL DUCT, GRILL DIFFUSER & LOCATIONS, VENTS, AND QUANTITY WITH

MECHANICAL PLANS

2 CEILING GRID SHOWN IS ONLY A GRAPHIC REPRESENTATION OF CEILING. CEILING PATTERN IS TO BE CENTERED IN THE
ROOM, UNLESS NOTED OTHERWISE. CONTRACTOR SHALL VERIFY ACTUAL GRID LAYOUT/LOCATION

3 VERIFY ALL LIGHTS, SMOKE DETECTORS, AND EXIT DEVICE LOCATIONS AND QUANTITIES WITH ELECTRICAL DRAWINGS.
SEE ARCHITECTURE FOR LIGHT LAYOUT LOCATION. LIGHT FIXTURES TO BE CENTERED AND SYMMETRICALLY LOCATED IN
UNITS AND SHARED SPACES UNLESS NOTED OTHERWISE

4 MAKE FACTORY EDGE WHERE TILE IS CUT TYPICAL FOR ALL LAY-IN ACOUSTICAL TILE WITH REGULAR EDGE

5 SEE SHEET SERIES A700 FOR FINISH MATERIAL SPECIFICATIONS

6 VERIFY CEILING HEIGHTS IN UNITS WITH SHEET SERIES A400's. CONTRACTOR TO VERIFY AND MAXIMIZE CEILING HEIGHT
IN ALL AREAS DEPENDENT ON DUCTWORK LOCATIONS

7 ELECTRICIAN SHALL NOT SET ANY CEILING J-BOXES THAT ARE FOR LIGHTS BEFORE THE FINAL LOCATION OF THE
DROPPED SOFFITS HAVE BEEN DETERMINED. THIS WILL ENSURE THAT THE LIGHTS THAT NEED TO BE CENTERED ARE
CORRECTLY CENTERED BETWEEN THE SOFFITS

8 ALL DIMENSIONS ARE TO THE FACE OF METAL/WOOD STUD FRAMED WALLS OR TO THE FACE OF CONCRETE/MASONRY
WALLS AS SHOWN, UNLESS NOTED OTHERWISE

3/8" = 1'-0"
A1 LEVEL 3 DEMO RCP

KEYED NOTES
02.00.01 LEVEL 03 SCOPE OF WORK, SHOWN IN RED DASHED LINES

02.09.02 EXISTING GYPSUM BOARD CEILING TO BE REMOVED

02.09.13 EXISTING ACOUSTIC CEILING TILES AND GRID TO REMAIN; NOT PART OF SCOPE

02.10.40 EXISTING UNISTRUCT CHANNEL AND EQUIPMENT RAIL TO BE REMOVED

02.10.41 EXISTING SURGICAL LIGHTS TO BE REMOVED PER MNFR REQUIREMENTS; COORDINATE WITH SKYTRON

02.11.06 EXISTING SIEMENS EQUIPMENT TO BE REMOVED PER MNFR. REQUIREMENTS; COORDINATE WITH SIEMENS

02.11.18 EXISTING CEILING-MOUNTED BOOM EQUIPMENT TO BE REMOVED PER MNFR REQUIREMENTS; COORDINATE WITH SKYTRON

02.23.01 EXISTING SUPPLY DIFFUSER TO BE REMOVED; RE: MECHANICAL

02.23.05 EXISTING DUCTS TO BE REMOVED; RE: MECHANICAL FOR EXTENT AND NEW LOCATION

02.26.01 EXISTING RECESSED LIGHTING TO BE REMOVED

02.26.04 EXSITING 2X2 LIGHT FIXTURE TO BE REMOVED

02.26.05 EXISTING 2X4 LIGHT FIXTURE TO BE REMOVED

02.26.13 EXISTING 2X4 LIGHT FIXTURE TO REMAIN; NOT PART OF SCOPE

1 Addendum 1 - Cath Lab Core
Millwork

10/07/2024



EXISTING WALLS TO REMAIN, REFER TO DEMOLITION PLANS FOR REMOVAL OF EXISTING WALLS

DEMOLITION LEGEND

ITEMS TO BE DEMOLISHED

EXISTING DOOR TO BE DEMOLISHED

ICRA BARRIER; CONTRACTOR TO COORDINATE LOCATION WITH OWNER

SCOPE OF WORK

IN FOREGROUND

IN BACKGROUND

02.06.01

02.10.03

3A047B

02.08.07

02.10.26

02.08.03

02.10.42

02.10.09

02.26.03

02.10.43

02.10.31
V

.I.
F

1'
 -

 6
"

02.10.18

02.26.11

02.11.1902.10.49

02.10.14

02.11.20

02.26.09

02.10.20

02.10.20

02.05.01

02.05.05

FOREGROUND BACKGROUND

02.05.05

02.08.03

02.26.09

02.11.06

02.10.06

02.10.05

02.11.05
02.10.10

02.08.02

02.10.14

3A050

IN FOREGROUND

IN BACKGROUND

02.10.18

02.10.20

02.10.20

02.09.0502.10.25

BACKGROUND FOREGROUND

V
.I.

F

1'
 -

 6
" 02.05.01

02.05.05

02.11.06

02.11.05 02.10.10

02.11.06

02.08.0102.08.01

02.10.1202.10.08

FOREGROUND BACKGROUND

02.06.01

02.06.01

02.11.01

02.10.12

02.10.03 02.10.13

02.10.08

02.10.31

02.26.03

02.26.03

IN BACKGROUND
02.09.14

02.23.02

IN FOREGROUND

02.05.01

02.06.01

02.10.41

IN MIDGROUND

BACKGROUND FOREGROUND

V
.I.

F

1'
 -

 6
"

02.09.17 02.10.49

02.05.05

02.05.01

02.05.05

02.06.05

02.06.01

02.10.01
02.27.05

02.28.01

02.08.01

3A059

02.05.01

02.09.05

02.09.1202.10.02

02.06.01

02.10.03 02.10.03 02.10.03

02.26.03

02.09.15
02.10.13

02.06.01

02.09.12

02.11.02

02.10.44

02.06.03

02.10.45

02.10.46

02.10.47

02.05.06

02.09.16

02.11.0702.11.06

02.06.04

02.09.17

MIDGROUND BACKGROUND FOREGORUND BACKGROUND

02.09.17

02.11.07

02.05.0602.05.0602.05.0102.05.01

ABOVE CABINET SOFFIT

02.09.2102.09.20

3A047

SCRUB

02.05.05

02.08.07
02.08.07 02.06.01

02.06.01

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

36
:2

7 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

D401

INTERIOR

ELEVATIONS

DEMO

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - DEMO
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS, MATERIALS, FINISHES, AND DIMENSIONS BEFORE AND

AFTER DEMOLITION, AND TO CONTACT THE ARCHITECT WITH ANY UNFORESEEN CONDITIONS

2 GENERAL CONTRACTOR SHALL PROTECT EXISTING STRUCTURE/ASSEMBLIES/EQUIPMENT AS REQUIRED. REPAIR, PATCH
AND/OR REPLACE EXISTING CONSTRUCTED ITEMS AND EQUIPMENT THAT ARE TO REMAIN AS REQUIRED FOR NEW
CONSTRUCTION

3 GENERAL CONTRACTOR SHALL PATCH AND REPAIR TO MATCH EXISTING FINISHES AT WALLS, FLOORS,
CEILINGS/SOFFITS, ETC... AS REQUIRED IN AREAS NOT SPECIFICALLY CALLED OUT IN THE DRAWINGS BUT ARE IMPACTED
BY CONSTRUCTION

4 REFER TO MECHANICAL, PLUMBING, AND ELECTRICAL DRAWINGS FOR ADDITIONAL DEMOLITION COORDINATION

5 GENERAL CONTRACTOR SHALL PROVIDE A 6 MIL POLYETHYLENE DUST BARRIER FROM FLOOR TO DECK ABOVE TO
ENSURE THAT ALL CORRIDORS OUTSIDE OF CONSTRUCTION AREA ARE KEPT CLEAN AND CLEAR OF DEBRIS AND
OBSTRUCTIONS AT ALL TIMES. DUST BARRIER SHALL BE SEALED AIR TIGHT IN ALL PHASED AREAS OF CONSTRUCTION

6 UPON COMPLETION OF CONSTRUCTION IN EACH PHASE IT IS THE GENERAL CONTRACTORS RESPONSIBILITY TO
THOROUGHLY CLEAN ALL AREAS IN WHICH CONSTRUCTION TOOK PLACE AND AREAS IMPACTED BY CONSTRUCTION. THE
GENERAL CONTRACTOR SHALL CLEAN ALL CARPET, REMOVE ALL DUST, CLEAN DOORS AND FRAMES, LIGHT FIXTURES,
CEILING SYSTEMS, MECHANICAL GRILLES, ELECTRICAL PANELS, WINDOW SYSTEMS, GLAZING, ETC...

7 GENERAL CONTRACTOR TO KEEP AN ACTIVE PEDESTRIAN PATHWAY TO AND AT EGRESS ROUTES FREE OF
OBSTRUCTIONS AT ALL TIMES. CONTRACTOR TO PROVIDE PROTECTION TO PEDESTRIANS BEFORE DEMOLITION (IBC
3303)

8 GENERAL CONTRACTOR TO MAINTAIN EXITS, EXISTING STRUCTURAL ELEMENTS, APPLIED FIREPROOFING PROTECTION
DEVICES, AND SANITARY SAFEGUARDS AT ALL TIMES DURING DEMOLITION AND CONSTRUCTION

9 GREEN HATCH INDICATES FLOOR TO DECK DUST PROOF CONSTRUCTION BARRIER TO PREVENT DUST AND DIRT
MIGRATION AND TO SEPARATE AREAS OCCUPIED BY THE OWNER FROM FUMES AND NOISE. TAPE AND SEAL ALL JOINTS
AND OPENINGS. SEAL JOINTS AT PERIMETER. PAINT EXISTING WALL WHERE BARRIER ATTACHES AFTER REMOVAL OF
BARRIER. PROVIDE STICKY MATS ON BOTH SIDES OF DOOR. COORDINATE WITH OWNER AND INTERMOUNTAIN ICRA FOR
EXACT LOCATION OF CONSTRUCTION BARRIER.

10 CONTRACTOR TO COORDINATE LEAD SHIELDING WITH MPC AND INTERMOUNTAIN HEALTH PHYCISIST PRIOR TO
COVERING WALLS DURING CONSTRUCTION

11 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN
CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

12 REFER TO MANUF. EQUIPMENT PLANS FOR IMAGING EQUIPMENT AND OTHER MISC. EQUIPMENT

13 CONTRACTOR TO COORDINATE WITH OWNER FOR EQUIPMENT NOT NOTED IN SIEMENS AND SKYTRON EQUIPMENT PLANS

14 REFER TO MANUF. REQUIREMENTS FOR EQUIPMENT REMOVAL

KEYED NOTES

02.05.01 EXISTING WALL AND FRAMING TO BE DEMOLISHED FOR NEW CONSTRUCTION; RE: D100s FOR EXTENTS

02.05.05 EXISTING WALL AND FRAMING TO REMAIN; CONTRACTOR TO PATCH AND REPAIR EXISTING WALL SURFACES AS NECESSARY
PER SOFFIT DEMOLITION

02.05.06 EXISTING WALL AND FRAMING TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION; PATCH AND REPAIR
EXISTING WALL SURFACES AS NECESSARY

02.06.01 EXISTING MILLWORK TO BE REMOVED

02.06.03 EXISTING MILLWORK; NOT PART OF SCOPE; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.06.04 EXISTING SHELF TO BE REMOVED

02.06.05 EXISTING FASCIA TO BE REMOVED

02.08.01 EXISTING DOOR AND FRAME TO BE REMOVED

02.08.02 EXISTING DOOR FRAME TO REMAIN, EXISTING LEAD DOOR TO BE REMOVED; CONTRACTOR TO PROTECT DOOR FRAME
DURING CONSTRUCTION; RE: DOOR SCHEDULE

02.08.03 EXISTING LEAD WINDOW TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.08.07 EXISTING DOOR AND FRAME TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.09.05 EXISTING WALL BASE TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.09.12 PORTIONS OF EXISTING INTEGRAL BASE TO BE REMOVED FOR NEW CONSTRUCTION

02.09.14 EXISTING COUNTERTOP AND BACKSPLASH TO BE REMOVED

02.09.15 EXISTING COUNTERTOP BE REMOVED

02.09.16 EXISTING INTEGRAL BASE; NOT PART OF SCOPE. CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.09.17 EXISTING INTEGRAL BASE TO BE REMOVED

02.09.20 EXISTING INTEGRAL BASE; CONTRACTOR TO PATCH AND REPAIR AS NECESSARY PER CONSTRUCTION

02.09.21 EXISTING INTEGRAL BASE WRAPPED ALL AROUND THE EXISTING MILLWORK TO BE REMOVED

02.10.01 EXISTING LOCKERS TO BE REMOVED

02.10.02 EXISTING COMPUTER CHAIR TO BE REMOVED AND SALVAGED TO OWNER

02.10.03 EXISTING DESKTOP COMPUTER TO BE REMOVED AND SALVAGED TO OWNER

02.10.05 EXISTING WALL MOUNT WORKSTATION EXTENTION ARM TO BE REMOVED AND SALVAGED TO THE OWNER

02.10.06 EXISTING SURGICAL UNIT EQUIPMENT AND CART TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING
CONSTRUCTION AND COORDINATE NEW LOCATION WITH OWNER RE: A400s FOR NEW LOCATION

02.10.08 EXISTING PROTECTIVE SHEILD TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING CONSTRUCTION;
RE: A400s FOR NEW LOCATION

02.10.09 EXISTING BIO WASTE CONTAINER TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.10.10 EXISTING SUPPLY CART TO BE REMOVED AND REINSTALLED IN NEW LOCATION; CONTRACTOR TO PROTECT DURING
CONSTRUCTION; RE: A400s FOR NEW LOCATION

02.10.12 EXISTING WIRE SHELVING UNIT TO BE REMOVED AND REINSTALLED IN NEW LOCATION; CONTRACTOR TO PROTECT DURING
CONSTRUCTION; RE: A400s FOR NEW LOCATION

02.10.13 EXISTING DESKTOP COMPUTER TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING CONSTRUCTION;
RE:A400s FOR NEW LOCATION

02.10.14 EXISTING DRY ERASE BOARD TO BE REMOVED AND REINSTALLED; CONTRACTOR COORDINATE NEW LOCATION WITH
OWNER; RE:A400s FOR NEW LOCATION

02.10.18 EXISTING WALL MOUNT CLOTHES HOOK TO BE REMOVED AND REINSTALLED; CONTRACTOR COORDINATE NEW LOCATION
WITH OWNER; RE:A400s FOR NEW LOCATION

02.10.20 EXISTING WALL MOUNT MARKER HOLDER TO BE REMOVED AND REINSTALLED; CONTRACTOR COORDINATE NEW LOCATION
WITH OWNER; RE:A400s FOR NEW LOCATION

02.10.25 EXISTING CASE CART TO REMAIN

02.10.26 EXISTING TRANSFER BOARD TO BE REMOVED AND REINSTALLED

02.10.31 EXISTING FOOT STOOL TO REMAIN

02.10.41 EXISTING SURGICAL LIGHTS TO BE REMOVED PER MNFR REQUIREMENTS; COORDINATE WITH SKYTRON

02.10.42 EXISTING WALL MOUNTED GLOVE BOX CONTAINER TO REMAIN

02.10.43 EXISTING WALL CLOCK TO REMAIN

02.10.44 EXISTING WALL MOUNTED LEAD APRON RACK BE REMOVED AND REINSTALLED; CONTRACTOR COORDINATE NEW LOCATION
WITH OWNER

02.10.45 EXISTING WASTE BIN; NOT PART OF SCOPE

02.10.46 EXISTING PAPER TOWEL DISPENSER; NOT PART OF SCOPE; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.10.47 EXISTING SOAP DISPENSER; NOT PART OF SCOPE; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.10.49 EXISTING MAYO STAND TO BE REMOVED AND REINSTALLED; RE:A400s FOR NEW LOCATION

02.11.01 EXISTING MINI REFRIGERATOR TO BE REMOVED AND SALVAGED TO OWNER

02.11.02 EXISTING SINK TO BE REMOVED; RE PLUMBING SCHEDULE

02.11.05 EXISTING EXCIMER LASER SYSTEM IN CLOSET TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING
CONSTRUCTION; RE: A400s FOR NEW LOCATION

02.11.06 EXISTING SIEMENS EQUIPMENT TO BE REMOVED PER MNFR. REQUIREMENTS; COORDINATE WITH SIEMENS

02.11.07 EXISTING CATH LAB EQUIPMENT TO BE REMOVED AND REINSTALLED; CONTRACTOR TO PROTECT DURING CONSTRUCTION
AND COORDINATE LOCATION WITH OWNER;

02.11.19 EXISTING LAUNDRY HAMPER TO BE REMOVED AND REINSTALLED; COORDINATE LOCATION WITH OWNER; RE: A400s FOR NEW
LOCATION

02.11.20 EXISTING CONTROLLED SUBSTANCE DISPOSAL CONTAINER TO BE REMOVED AND REINSTALLED; COORDINATE LOCATION
WITH OWNER; RE: A400s FOR NEW LOCATION

02.23.02 EXISTING RETURN DIFFUSER TO BE REMOVED; RE: MECHANICAL

02.26.03 EXISTING OUTLET AND WALL COVER PLATE TO BE REMOVED; RE: ELECTRICAL

02.26.09 EXISTING ADA ACTUATOR TO BE REMOVED AND REINSTALLED; RE: ELECTRICAL AND A400s FOR NEW LOCATION

02.26.11 EXISTING LIGHT SWITCH TO REMAIN; RE: ELECTRICAL

02.27.05 EXISTING NURSE CALL TO BE REMOVED AND SALVAGED TO OWNER

02.28.01 EXISTING FIRE ALARM TO BE REMOVED AND SALVAGED TO OWNER

1/2" = 1'-0"
E1 CATH LAB - WEST

1/2" = 1'-0"
E3 CATH LAB - NORTH

1/2" = 1'-0"
C1

CATH LAB - EAST
1/2" = 1'-0"

C3
CATH LAB - SOUTH

1/2" = 1'-0"
B4

E.K.G TECH - WEST
1/2" = 1'-0"

B3
E.K.G READ - WEST

1/2" = 1'-0"
C5

SCRUB - SOUTH

1/2" = 1'-0"
B1

CATH LAB - CLOSET - EAST

1 Addendum 1 - Cath Lab Core
Millwork

10/07/2024

1/2" = 1'-0"
A1 CATH LAB CORE - EAST

1



V

V

S

E

S

CB
B

CR

7 8

H

G

HYBRID OR

3A050

CONTROL ROOM

3A046

SCRUB

3A047

SCRUB

READING ROOM

A411

E4

D1
A411 C1

EQUIPMENT

3A059

A411C4

C2

E1

E2

A411

D2

D5

D4

D3

EKG COORD

3A050

3A059

CORRIDOR

3A031

CORRIDOR

3A062

CATH LAB

READING ROOM

SL-01
A411

B1

10.00.24

02.00.01

A411 B2

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:2

0 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A103

LEVEL 3

ENLARGED

FLOOR PLAN

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - FLOOR PLAN
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN

CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

2 DO NOT SCALE THE DRAWINGS

3 ALL EXPOSED INTERIOR COLUMNS TO BE PAINTED WITH INTUMESCENT PAINT

4 ALL EXPOSED EXTERIOR STEEL TO BE GALVANIZED, UNLESS NOTED OTHERWISE

5 SEE G000 SERIES SHEETS FOR TYPICAL MOUNTING HEIGHTS. PROVIDE SOLID BLOCKING IN WALLS FOR ALL
WALL-MOUNTED ITEMS WHETHER BLOCKING IS DEPICTED IN DRAWINGS OR NOT

6 COORDINATE ALL EQUIPMENT AND ACCESSORIES, INCLUDING ITEMS THAT ARE OWNER FURNISHED, OWNER INSTALLED

7 SEE SHEET SERIES A500 FOR WALL AND ASSEMBLY TYPES

8 SEE SHEET SERIES A600 FOR DOOR AND WINDOW TYPES

9 SEE ELEVATIONS AND FINISH SCHEDULES FOR SURFACE TREATMENTS AT WALLS

10 SEE ELEVATIONS, SECTIONS, AND DETAILS FOR ADDITIONAL WALL CONSTRUCTION INFORMATION

11 VERIFY CEILING HEIGHTS IN UNITS WITH SHEET SERIES A400. CONTRACTOR TO VERIFY AND  MAXIMIZE CEILING HEIGHT IN
ALL AREAS DEPENDENT ON DUCTWORK LOCATIONS

12 ELECTRICIAN SHALL NOT SET ANY CEILING J-BOXES THAT ARE FOR LIGHTS BEFORE THE FINAL LOCATION OF THE
DROPPED SOFFITS HAVE BEEN DETERMINED.  THIS WILL ENSURE THAT THE LIGHTS THAT NEED TO BE CENTERED ARE
CORRECTLY CENTERED BETWEEN THE SOFFITS

13 SEMI-FLUSH LIGHT FIXTURE TO BE CENTERED OVER UNIT KITCHEN ISLANDS & CENTERED WITHIN FIXED DINING ROOMS
AT UNITS. SEE A400's UNIT SHEET SERIES FOR LOCATIONS

14 DOOR OPENINGS IN FRAME CONSTRUCTION WITH NO SPECIFIED DIMENSION ARE EITHER CENTERED IN THE LENGTH OF
WALL RUN OR (IF DRAWN NEAR CORNER) LOCATED 4" FROM THE FACE OF ADJACENT STUD. ASSUME CENTERED IN FACE
OF JAMB UNLESS NOTED OTHERWISE

15 COORDINATE ALL SLAB PENETRATIONS AND UNDER FLOOR DUCTS WITH SIEMENS EQUIPMENT PLANS

16 REFER TO UL DESIGNS FOR WALL PENETRATIONS AT RATED WALLS; RE: G100 SHEET SERIES

1/4" = 1'-0"
A1 LEVEL 03 FLOOR PLAN

GENERAL NOTES - EQUIPMENT
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN

CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

2 REFER TO MANUF. EQUIPMENT PLANS FOR IMAGING EQUIPMENT AND OTHER MISC. EQUIPMENT

3 CONTRACTOR TO COORDINATE WITH OWNER FOR EQUIPMENT NOT NOTED IN SIEMENS EQUIPMENT PLANS

4 REFER TO MANUF. REQUIREMENTS FOR EQUIPMENT REMOVAL

KEYED NOTES
02.00.01 LEVEL 03 SCOPE OF WORK, SHOWN IN RED DASHED LINES

10.00.24 COUNTERTOP GROMMET

SL-01 STAINLESS STEEL COUNTERTOP; RE: FINISH SCHEDULE

1 Addendum 1 - Cath Lab Core
Millwork

10/07/2024



V

V

S

E

S

CB
B

CR

7 8

H

G

1' - 9 1/16"

V.I.F.

6' - 4"

14' - 4 1/8"

C L
2'

 -
 0

"

7'
 -

 1
1 

1/
16

"
0'

 -
 4

 5
/8

"

2' - 4 9/16" 9' - 1 11/32"

V.I.F.

5' - 6 13/32"

610 SF

HYBRID OR

3A050

42 SF

SCRUB

3A047

132 SF

CONTROL ROOM

3A046

140 SF

EQUIPMENT

3A059

READING ROOM

451 SF

CORRIDOR

3A031

812 SF

CORRIDOR

3A062

8'
 -

 7
 5

/1
6"

3'
 -

 1
0"

3A050

3A047B

3A
05

9SJ4 e

SJ6 e

S
A

4

SA4

S
A

4

S
J4

e
S

B
4

SB4
SB4

SB4

EKG COORD

SJ4 e

S
J4

e

0' - 2 7/16"

2' - 4 9/16"

SA4
SA4

S
A

4

CATH LAB

4' - 2 5/8"

SB4
1'

 -
 6

 1
/2

"

LEGEND:  INT. PARTITION HEAD CONDITIONS

TYPICAL PARTITION FLOOR TO UNDERSIDE OF DECK

1-HR FIRE RATED PARTITION

2-HR FIRE RATED PARTITION

b - ACOUSTIC PARTITION

a - PARTITION EXTENDS FROM FLOOR TO 6" ABOVE CEILING

WALL TYPE HEAD CONDITION/SPECIALTY LEGEND

IF NULL = TYPICAL PARTITION FLOOR TO FLOOR/CEILING/ROOF
a = PARTITION EXTEND FROM FLOOR TO 6" ABOVE CEILING
b = ACOUSTIC PARTITION 
e= LEAD SHIELDING; RE: SHIELDING REPORT

NON-FIRE RATED WALL TAG (description)

SA6a

CORE MATERIAL (SEE LEGEND)

LAYERS (SEE LEGEND)

CORE SIZE (ROUNDED; SEE LEGEND)

HEAD CONDITION MODIFIER (IF APPLICABLE)

FIRE RATED WALL TAG (description)

FIRE RATING (IF APPLICABLE)

1SA6a

CORE MATERIAL (SEE LEGEND BELOW)

LAYERS (REF PARTITIONS SHEET)

CORE SIZE (ROUNDED; SEE LEGEND)

HEAD CONDITION MODIFIER (IF APPLICABLE)

C = CONCRETE WALLS, MASONRY
S = STEEL STUDS
W = WOOD STUDS

CORE MATERIAL LEGEND

CORE SIZE LEGEND

STEEL STUDS WOOD STUDS MASONRY (WIDTH) BCONCRETE (WIDTH)
1 = A7/8"
2 = 1 5/8" 1 1/2"
3 = 2 1/2" 2 1/2"
4 = 3 5/8" 3 1/2" MASONRY SIZE 4"
5 = 
6 = 6" 5 1/2" MASONRY SIZE 6" CONCRETE 6"
8 = 8" 7 1/4" MASONRY SIZE 8" CONCRETE 8"
10 = 9 1/4" MASONRY SIZE 10" CONCRETE 10"
12 = 11 1/4" MASONRY SIZE 12" CONCRETE 12"
14 = CONCRETE 14"
16 = MASONRY SIZE 16"

SUPERSCRIPT NOTES -
A - HAT CHANNEL FURRING IN LIEU OF METAL STUD
B - IF WALL IS STRUCTURAL, DO NOT TAG WALL OR INCLUDE IN WALL TYPES

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:2

3 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A113

LEVEL 3

DIMENSION

PLAN

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

1/4" = 1'-0"
A1

LEVEL 3 DIMENSION PLAN

GENERAL NOTES - FLOOR PLAN
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN

CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

2 DO NOT SCALE THE DRAWINGS

3 ALL EXPOSED INTERIOR COLUMNS TO BE PAINTED WITH INTUMESCENT PAINT

4 ALL EXPOSED EXTERIOR STEEL TO BE GALVANIZED, UNLESS NOTED OTHERWISE

5 SEE G000 SERIES SHEETS FOR TYPICAL MOUNTING HEIGHTS. PROVIDE SOLID BLOCKING IN WALLS FOR ALL
WALL-MOUNTED ITEMS WHETHER BLOCKING IS DEPICTED IN DRAWINGS OR NOT

6 COORDINATE ALL EQUIPMENT AND ACCESSORIES, INCLUDING ITEMS THAT ARE OWNER FURNISHED, OWNER INSTALLED

7 SEE SHEET SERIES A500 FOR WALL AND ASSEMBLY TYPES

8 SEE SHEET SERIES A600 FOR DOOR AND WINDOW TYPES

9 SEE ELEVATIONS AND FINISH SCHEDULES FOR SURFACE TREATMENTS AT WALLS

10 SEE ELEVATIONS, SECTIONS, AND DETAILS FOR ADDITIONAL WALL CONSTRUCTION INFORMATION

11 VERIFY CEILING HEIGHTS IN UNITS WITH SHEET SERIES A400. CONTRACTOR TO VERIFY AND  MAXIMIZE CEILING HEIGHT IN
ALL AREAS DEPENDENT ON DUCTWORK LOCATIONS

12 ELECTRICIAN SHALL NOT SET ANY CEILING J-BOXES THAT ARE FOR LIGHTS BEFORE THE FINAL LOCATION OF THE
DROPPED SOFFITS HAVE BEEN DETERMINED.  THIS WILL ENSURE THAT THE LIGHTS THAT NEED TO BE CENTERED ARE
CORRECTLY CENTERED BETWEEN THE SOFFITS

13 SEMI-FLUSH LIGHT FIXTURE TO BE CENTERED OVER UNIT KITCHEN ISLANDS & CENTERED WITHIN FIXED DINING ROOMS
AT UNITS. SEE A400's UNIT SHEET SERIES FOR LOCATIONS

14 DOOR OPENINGS IN FRAME CONSTRUCTION WITH NO SPECIFIED DIMENSION ARE EITHER CENTERED IN THE LENGTH OF
WALL RUN OR (IF DRAWN NEAR CORNER) LOCATED 4" FROM THE FACE OF ADJACENT STUD. ASSUME CENTERED IN FACE
OF JAMB UNLESS NOTED OTHERWISE

15 COORDINATE ALL SLAB PENETRATIONS AND UNDER FLOOR DUCTS WITH SIEMENS EQUIPMENT PLANS

16 REFER TO UL DESIGNS FOR WALL PENETRATIONS AT RATED WALLS; RE: G100 SHEET SERIES

GENERAL NOTES - DIMENSION
1 DO NOT SCALE DRAWINGS

2 ALL EXPOSED INTERIOR COLUMNS TO BE PAINTED, UNLESS NOTED OTHERWISE

3 WALL TYPES ARE TAGGED FOR ENTIRE WALL RUN, UNLESS NOTED OTHERWISE

4 ALL DIMENSIONS ARE TO THE FACE OF METAL/WOOD STUD FRAMED WALLS OR TO THE FACE OF CONCRETE/MASONRY
WALLS AS SHOWN, UNLESS NOTED OTHERWISE

5 DOOR OPENINGS IN FRAME CONSTRUCTION WHICH ARE NOT DIMENSIONED ARE EITHER CENTERED IN THE WALL, FACE
OF JAMB OR LOCATED 4" FROM THE FACE OF STUD TO THE FINISHED JAMB; UNLESS NOTED OTHERWISE

6 ALIGN CENTERLINE OF ALL STRUCTURAL ELEMENTS ON RESPECTIVE GRID(S), UNLESS NOTED/DIMENSIONED OTHERWISE

7 PROVIDE DEFLECTION TRACKS AT TOP OF ALL COLD FORMED METAL FRAMING; SEE SHEET SERIES A500.

8 REFER TO UL DESIGNS FOR WALL PENETRATIONS AT RATED WALLS; RE: G100 SHEET SERIES



E
P

O

S

S

S

J

S S

S S

T

7 8

H

G

HYBRID OR

3A050

EQUIPMENT

3A059

CONTROL ROOM

3A046

SCRUB

3A047

A1 8' - 6"

A1 8' - 6"B1 9' - 3 5/8"

OR-14R
E

: S
K

Y
T

R
O

N

7'
 -

 1
0"

RE: SKYTRON

1' - 0 1/2"

RE: SKYTRON

5' - 5 3/8"

R
E

: S
K

Y
T

R
O

N

5'
 -

 1
0"

R
E

: S
K

Y
T

R
O

N

8'
 -

 1
1"

RE: SKYTRON

4' - 6"

RE: SKYTRON

5' - 6"

R
E

: S
K

Y
T

R
O

N

7'
 -

 9
"

RE: SKYTRON

7' - 6"

OR-17

OR-16

OR-21OR-20

OR-19OR-18

OR-15

6' - 0 1/4"

T
O

 G
Y

P
.

2'
-3

"

2'
-5

 7
/8

"
C L

C L

3'
-5

 1
/2

"

C L

R
E

: S
IE

M
E

N
S

3'
 -

 0
" RE: SIEMENS

6' - 6"

E5

A531

E6

A531

TYP. TYP.

EQ EQ EQ

EQ EQ

C L
C L

C L

1

V
.I.

F

V.I.F

A1 8' - 6"

ACT-01:
2' x 2' LAY-IN ACOUSTICAL TILE  & SUSPENSION SYSTEM, RE: FINISH SCHEDULE

CEILING LEGEND

TYPE A1

SUPPLY DIFFUSER, SEE MECHANICAL

RECESSED  LIGHT FIXTURE, SEE ELECTRICAL

2'x4' LIGHT FIXTURE, SEE ELECTRICAL

RETURN GRILLE, SEE MECHANICAL

ROUND SURFACE DECO LIGHT, SEE ELECTRICAL

5/8" GYPSUM BOARD (PAINTED PNT-01 UNLESS NOTED ON PLAN) ON METAL 
SUSPENSION SYSTEM.

TYPE B1

NOTE:
ALL DROPS NEED TO BE NON-COMBUSTIBLE METAL FRAMING OR LIGHT GAUGE METAL FRAMING AND 
MEET L/360 STANDARD FOR ALLOWABLE DEFLECTION.

2'x2' LIGHT FIXTURE, SEE ELECTRICAL

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:2

4 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A133

LEVEL 3 RCP

PLAN

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

3/8" = 1'-0"
A1

LEVEL 3 REFLECTED CEILING PLAN

GENERAL NOTES - CEILING
1 VERIFY AND COORDINATE ALL MECHANICAL DUCT, GRILL DIFFUSER & LOCATIONS, VENTS, AND QUANTITY WITH

MECHANICAL PLANS

2 CEILING GRID SHOWN IS ONLY A GRAPHIC REPRESENTATION OF CEILING. CEILING PATTERN IS TO BE CENTERED IN THE
ROOM, UNLESS NOTED OTHERWISE. CONTRACTOR SHALL VERIFY ACTUAL GRID LAYOUT/LOCATION

3 VERIFY ALL LIGHTS, SMOKE DETECTORS, AND EXIT DEVICE LOCATIONS AND QUANTITIES WITH ELECTRICAL DRAWINGS.
SEE ARCHITECTURE FOR LIGHT LAYOUT LOCATION. LIGHT FIXTURES TO BE CENTERED AND SYMMETRICALLY LOCATED IN
UNITS AND SHARED SPACES UNLESS NOTED OTHERWISE

4 MAKE FACTORY EDGE WHERE TILE IS CUT TYPICAL FOR ALL LAY-IN ACOUSTICAL TILE WITH REGULAR EDGE

5 SEE SHEET SERIES A700 FOR FINISH MATERIAL SPECIFICATIONS

6 VERIFY CEILING HEIGHTS IN UNITS WITH SHEET SERIES A400's. CONTRACTOR TO VERIFY AND MAXIMIZE CEILING HEIGHT
IN ALL AREAS DEPENDENT ON DUCTWORK LOCATIONS

7 ELECTRICIAN SHALL NOT SET ANY CEILING J-BOXES THAT ARE FOR LIGHTS BEFORE THE FINAL LOCATION OF THE
DROPPED SOFFITS HAVE BEEN DETERMINED. THIS WILL ENSURE THAT THE LIGHTS THAT NEED TO BE CENTERED ARE
CORRECTLY CENTERED BETWEEN THE SOFFITS

8 ALL DIMENSIONS ARE TO THE FACE OF METAL/WOOD STUD FRAMED WALLS OR TO THE FACE OF CONCRETE/MASONRY
WALLS AS SHOWN, UNLESS NOTED OTHERWISE

RE: SIEMENS EQUIPMENT PLANS FOR ADDITIONAL EQUIPMENT

EQUIPMENT LIST

MARK DESCRIPTION COUNT MANUFACTURER MODEL NEW/EXISTING RESP. COMMENTS

CR-01 ISOLATION PANEL 1 CONTRACTOR NEW CFCI RE: ELECTRICAL

EQP-08 CABLE CABINET 1 SIEMENS NEW OFOI FLOOR MOUNTED

OR-10 INTERCOM LOUDSPEAKER 1 SIEMENS NEW OFOI WALL MOUNTED

OR-14 ARTIS ICONO CEILING PRO 1 SIEMENS NEW OFOI SEE MFG REQS.

OR-15 CEILING MOUNT INJECTOR 1 SIEMENS NEW OFOI SEE MFG REQS.

OR-16 ANESTHESIA AND XRAY SHIELD 1 SKYTRON NEW OFOI SEE MFG REQS.

OR-17 LIGHT W/ CAMERA AND LARGE DISPLAY 1 SKYTRON NEW OFOI SEE MFG REQS.

OR-18 PERFUSION 1 SKYTRON NEW OFOI SEE MFG REQS.

OR-19 LARGE DISPLAY 1 SKYTRON NEW OFOI SEE MFG REQS.

OR-20 SKYTRON X-RAY SHIELD 1 SKYTRON NEW OFOI SEE MFG REQS.

OR-21 LIGHT 1 SKYTRON NEW OFOI SEE MFG REQS.

1 Addendum 1 - Cath Lab Core
Millwork

10/07/2024



HYBRID OPERATING ROOM

NEW EQUIPMENT CLOSET

EXISTING CONTROL ROOM

EXISTING SCRUB ROOM

HYBRID OPERATING ROOM

NEW EQUIPMENT CLOSET

EXISTING CONTROL ROOM

EXISTING SCRUB ROOM

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:2

7 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A211

3D

AXONOMETRIC

VIEWS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - 3D
1 3D PERSPECTIVES ARE SHOWN AS A COURTESY TO PROVIDE CLARITY OF OVERALL PROJECT MASSING, PROPORTIONS,

AND ELEMENT RELATIONSHIPS. ALL ELEMENTS MAY NOT NECESSARILY BE REPRESENTED; REFER TO ALL 2D PLANS,
SECTIONS, ELEVATIONS, DETAILS, SCHEDULES, AND SPECIFICATIONS FOR ADDITIONAL INFORMATION

C1
NORTHEAST VIEW

A1
SOUTHWEST VIEW



PNT-01
PNT-01

OR-28 OR-27 OR-26

OR-33

RF-01

OR-10

OR-22

OR-25

OR-29

OR-10

OR-30

4"

E
Q

U
IP

. M
O

U
N

T
IN

G
 H

E
IG

H
T

S

C
O

O
R

D
IN

A
T

E
 W

/ O
W

N
E

R
 F

O
R

CG-01RF-01

02.08.03

BACKGROUND FOREGROUND

CTRL-02

CTRL-04

CTRL-05

CTRL-07 CTRL-06

CTRL-01

CTRL-08

02.09.05

3A050

PNT-01PNT-01

OR-06 OR-07OR-05OR-04OR-03OR-02OR-01

BACKGROUND MIDGROUND FOREGROUND

WC-01

WC-01

CG-01

RF-01 RF-01

PNT-03

CG-01

CG-01

PNT-03

PNT-03

PNT-03

FILLER

NEAR-MID FAR-MIDFOREGROUND MIDGROUND BACKGROUND

SL-01

RF-01

FILLER

254M 254M

302 302
426426

OR-31RF-01 OR-12

CG-01

PNT-01

FOREGROUNDBACKGROUND

OR-13

SL-01

OR-31 RF-01OR-32RF-01

EQP-08EQP-09

EQP-10EQP-06EQP-07 EQP-02

PNT-01

NOTE: OVERLAPPING EQUIPMENT IN ELEVATION; RE: EQUIPMENT PLAN

EQP-03RF-01

EQP-05

EQP-02EQP-04EQP-08

EQP-09

PNT-01

NOTE: OVERLAPPING EQUIPMENT IN ELEVATION; RE: EQUIPMENT PLAN

400M

1' - 6" 0' - 2 1/2"

RF-01EQP-03

EQP-05

3A059

EQP-07

EQP-06 EQP-10

PNT-01

RF-01EQP-01

PNT-01

EQP-03 EQP-01EQP-02 RF-01

400M

OPEN 
BEYOND

3A059

RF-02

PNT-04

CG-01

PNT-04

EKG COORD

02.09.05

02.08.07

OPEN 
BEYOND

RF-02

PNT-04 PNT-04

CR-01

4'
 -

 0
"

CG-01

02.05.06

02.09.18

02.09.05

02.23.06

02.09.05

CASEWORK TAG 

300M

AWS STANDARD CASEWORK TYPE

MODIFIED CASEWORK TYPE

REFER TO CASEWORK DESIGN SERIES (CDS) OF THE ARCHITECTURAL WOODWORK 
STANDARDS (AWS) FOR A FULL DESCRIPTION OF CASEWORK TYPES

22.00.01

02.09.05

SCRB-02

SCRB-03

RF-02

3A047 SCRUB

PNT-04

02.08.0702.08.07

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:3

6 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A411

ENLARGED

PLANS AND

INTERIOR

ELEVATIONS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - INTERIOR ELEVATIONS
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN

CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

2 DO NOT SCALE DRAWINGS

3 SEE SHEET SERIES G000 FOR TYPICAL MOUNTING HEIGHTS. PROVIDE SOLID BLOCKING IN WALLS FOR ALL
WALL-MOUNTED ITEMS WHETHER BLOCKING IS DEPICTED IN DRAWINGS OR NOT

4 UPPER, LOWER, AND TALL MILLWORK CABINETS NOT TO EXCEED 36" IN WIDTH, UNLESS NOTED OTHERWISE

5 UNLESS NOTED OTHERWISE, MATCH UPPER CABINET WIDTH DIMENSIONS TO BASE CABINETS - TYPICAL

6 ALL ELECTRICAL AND DATA OUTLETS ABOVE COUNTER TOPS SHOULD BE HORIZONTALLY ALIGNED AND MOUNTED
HORIZONTALLY

7 PROVIDE SAFETY INSULATION ON ALL EXPOSED SUPPLY WATER LINES AND WASTE LINES

8 PROVIDE METAL TRIM AT ALL TILE TO FLOOR TRANSITIONS; SEE DETAILS AND FINISH SCHEDULE

9 ALL MILLWORK INTERIOR FINISH TO BE WHITE MELAMINE, UNLESS NOTED OTHERWISE

10 CONTRACTOR TO PROVIDE RESTROOM ACCESSORIES; SEE ACCESSORY SCHEDULE

11 SEE SHEET SERIES A700 FOR MATERIAL SPECIFICATIONS

12 SEE SHEET SERIES A500 FOR WALL AND ASSEMBLY TYPES

13 SEE SHEET SERIES A600 FOR DOOR AND WINDOW TYPES

14 SEE SHEET SERIES A500 FOR CASEWORK DETAILS

KEYED NOTES
02.05.06 EXISTING WALL AND FRAMING TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION; PATCH AND

REPAIR EXISTING WALL SURFACES AS NECESSARY

02.08.03 EXISTING LEAD WINDOW TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.08.07 EXISTING DOOR AND FRAME TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.09.05 EXISTING WALL BASE TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.09.18 EXISTING CRASH RAIL TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION

02.23.06 EXISTING MED GAS VALVE BOX AND FACE PLATE TO REMAIN; CONTRACTOR TO PROTECT DURING CONSTRUCTION;
RE: MECHANICAL

22.00.01 NEW STAINLESS STEEL WALL HUNG DOUBLE STATION SURGEON SCRUB SINK; RE: PLUMBING

CG-01 CORNER GUARD; RE: FINISH SCHEDULE

PNT-01 FIELD WALL PAINT; RE: FINISH SCHEDULE

PNT-03 ACCENT WALL PAINT; RE: FINISH SCHEDULE

PNT-04 FIELD WALL PAINT; MATCH EXISTING

RF-01 RUBBER RESILIENT FLOORING; RE: FINISH SCHEDULE

RF-02 RUBBER RESILIENT FLOORING; MATCH EXISTING

SL-01 STAINLESS STEEL COUNTERTOP; RE: FINISH SCHEDULE

WC-01 WALL COVERING; RE: FINISH SCHEDULE

1/4" = 1'-0"
D1 HYBRID OR 3A050 - SOUTH ELEVATION

1/4" = 1'-0"
C1

CONTROL 3A046 - NORTH ELEVATION

1/4" = 1'-0"
E1

HYBRID OR 3A050 - WEST ELEVATION
1/4" = 1'-0"

E2
HYBRID OR 3A050 - NORTH ELEVATION

1/4" = 1'-0"
E4

HYBRID OR 3A050 - EAST ELEVATION

1/4" = 1'-0"
D4 EQUIPMENT 3A059 - EAST ELEVATION

1/4" = 1'-0"
D5 EQUIPMENT 3A059 - SOUTH ELEVATION

1/4" = 1'-0"
D3 EQUIPMENT 3A059 - NORTH ELEVATION

1/4" = 1'-0"
D2 EQUIPMENT 3A059 - WEST ELEVATION

1/4" = 1'-0"
C4

CORRIDOR 3A062 - SOUTH ELEVATION
1/4" = 1'-0"

C2
CORRIDOR 3A031 - EAST ELEVATION

RE: SIEMENS EQUIPMENT PLANS FOR ADDITIONAL EQUIPMENT

EQUIPMENT LIST

MARK DESCRIPTION COUNT MANUFACTURER MODEL NEW/EXISTING RESP. COMMENTS

CR-01 ISOLATION PANEL 1 CONTRACTOR NEW CFCI RE: ELECTRICAL

CTRL-01 CONTROL INTERFACE BOARD 1 SIEMENS NEW OFOI ON WALL UNDER COUNTER

CTRL-02 CPC CONTRAL POWER CONTROL 1 SIEMENS NEW OFOI ON CONTROL COUNTER

CTRL-03 INJECTOR WALL CONNECTION 1 SIEMENS NEW OFOI ON WALL UNDER COUNTER

CTRL-04 KEYBOARD 1 SIEMENS NEW OFOI MOUNTED UNDER COUNTER

CTRL-05 32" LARGE CONTROL ROOM DISPLAY 1 SIEMENS NEW OFOI ON COUNTER

CTRL-06 INTERCOM MICROPHONE / LOUDSPEAKER 1 SIEMENS NEW OFOI ON COUNTER

CTRL-07 INTERCOM POWER UNIT 1 SIEMENS NEW OFOI ON COUNTER

CTRL-08 EATON 9355 REMOTE MONITORING DEVICE 1 SIEMENS NEW OFOI SEE MFG REQS.

EQP-01 IV STAND 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-01 IV STAND 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-02 ATIS IMAGE SYSTEM 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-03 EXCIMER LASER SYSTEM 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-04 SYSTEM CONTROL CABINET 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-05 MEGA POWER ELECTROSURGICAL UNIT 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-06 EATON 9355 15 KVA UPS AND BATTERY 1 SIEMENS NEW OFOI SEE MFG REQS.

EQP-07 EATON 9355 OUTPUT TRANSFORMER CABINET 1 SIEMENS NEW OFOI SEE MFG REQS.

EQP-08 CABLE CABINET 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-09 GENERATOR (ACX) 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-10 TUBE COOLING UNIT 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-11 VALLEY LAB ESU CART 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-01 MAYO STAND 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-02 CASE CART 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-03 VITALS - MOBILE 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-04 FOOTSWITCH PEDAL 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-05 STRAIGHT FOOTSTOOL WITH HANDLE 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-06 SUPPLY CART 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-07 MOBILE X-RAY PROTECTIVE SCREEN 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-07 MOBILE X-RAY PROTECTIVE SCREEN 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-09 TABLE CONTROL MODULES 1 SIEMENS NEW OFOI ON TABLE

OR-10 INTERCOM LOUDSPEAKER 1 SIEMENS NEW OFOI WALL MOUNTED

OR-12 MEDRAD ARTERION INJECTOR PEDESTAL SYSTEM (INTEGRATED) 1 SIEMENS NEW OFOI SEE MFG REQS.

OR-13 ADM MACHINE 1 OWNER EXISTING OFCI RE: ELECTRICAL; COORDINATE LOCATION WITH OWNER

OR-14 ARTIS ICONO CEILING PRO 1 SIEMENS NEW OFOI SEE MFG REQS.

OR-14 ARTIS ICONO CEILING PRO 1 SIEMENS NEW OFOI SEE MFG REQS.

OR-22 3 GLOVE BOX 1 OWNER EXISTING OFCI WALL MOUNTED; COORDINATE LOCATION WITH OWNER

OR-25 WALL MOUNT HAND SANITIZER DISPENSER 1 OWNER EXISTING OFCI WALL MOUNTED; COORDINATE LOCATION WITH OWNER

OR-26 LINEN HAMPER W/ LID 1 OWNER EXISTING OFCI

OR-27 WASTE CONTAINER 1 OWNER EXISTING OFCI

OR-27 WASTE CONTAINER 1 OWNER EXISTING OFCI

OR-28 15 L WASTE CONTAINER 1 OWNER EXISTING OFCI

OR-29 SMALL DRY-ERASE WHITE BOARD 1 OWNER EXISTING OFCI WALL MOUNTED; COORDINATE LOCATION WITH OWNER

OR-30 CONTROLLED SUBSTANCE DISPOSAL CONTAINER 1 OWNER EXISTING OFCI WALL MOUNTED; COORDINATE LOCATION WITH OWNER

OR-31 CUSHION-SEAT EXAM STOOL 1 OWNER EXISTING OFCI

OR-32 WIRE SHELVES 1 OWNER EXISTING OFCI

OR-33 PATIENT TRANSFER BOARD 1 OWNER EXISTING OFCI WALL MOUNTED; COORDINATE LOCATION WITH OWNER

SCRB-02 WALL MOUNT DISINFECTANT WIPES DISPENSER 1 PROFESSIONAL DISPOSABLES INTERNATIONAL-PDI SANI-BRACKET EXTRA LARGE SINGLE CANISTER NEW OFCI WALL MOUNTED

SCRB-03 MULTIFOLD WALL MOUNT PAPER TOWEL DISPENSER 1 GEORGIA PACIFIC ENMOTION FLEX MINI AUTOMATED (BLACK) NEW OFCI WALL MOUNTED

1/4" = 1'-0"
B1

SCRUB 3A047 - EAST

1 Addendum 1 - Cath Lab Core
Millwork

10/07/2024

1/4" = 1'-0"
B2

CATH LAB CORE - EAST ELEVATION

1



LAYERS LEGEND

NOTE: DO NOT USE THE FOLLOWING LETTERS: i, l, and o. a through e are Method Studio's Standard, f and above are user defined.

SA = GYPSUM BOARD BOTH SIDE OF CORE
SB = GYPSUM BOARD ONE SIDE OF CORE
SC = GYPSUM BOARD, 2 LAYERS BOTH SIDES OF CORE
SD = GYPSUM BOARD BOTH SIDES OF CORE, DOUBLE STUD
SE = GYPSUM BOARD, 2 LAYERS BOTH SIDES OF CORE, DOUBLE STUD
SF = GYPSUM BOARD, ONE LAYER CORE SIDE, ONE LAYER RESILIENT CHANNEL SIDE
SG = GYPSUM BOARD, ONE LAYER CORE SIDE, ONE LAYER HAT CHANNEL SIDE
SS = TYPE "X" GYPSUM BOARD, ONE LAYER CORE SIDE, 1" SHAFT LINER
ST = TYPE "X" GYPSUM BOARD, 2 LAYERS CORE SIDE, 1" SHAFT LINER
SU = TYPE "X" GYPSUM BOARD, 3 LAYERS CORE SIDE, 1" SHAFT LINER
SJ = LEAD LINED GYPSUM BOARD; RE: SHIELDING REPORT

NON-FIRE RATED WALL TAG (description)

SA6a

CORE MATERIAL (SEE LEGEND)

LAYERS (SEE LEGEND)

CORE SIZE (ROUNDED; SEE LEGEND)

SPECIAL CONDITION (IF APPLICABLE)

FIRE RATED WALL TAG (description)

FIRE RATING

1 SA6 a

CORE MATERIAL (SEE LEGEND)

LAYERS (SEE LEGEND)

CORE SIZE (ROUNDED; SEE LEGEND)

HEAD CONDITION MODIFIER (IF APPLICABLE)

CORE SIZE LEGEND

C = CONCRETE WALLS, MASONRY
S = STEEL STUDS
W = WOOD STUDS
G = GLAZING

CORE MATERIAL LEGEND

WALL TYPE CONDITION LEGEND

IF NULL = TYPICAL PARTITION FLOOR TO FLOOR/CEILING/ROOF
a = PARTITION EXTEND FROM FLOOR TO 6" ABOVE CEILING
b = ACOUSTIC PARTITION 
c = 1 - HR FIRE RATED PARTITION 
d = 2 - HR FIRE RATED PARTITION
e = LEAD LINED PARTITION; RE: SHIELDING REPORT

STEEL STUDS WOOD STUDS MASONRY (WIDTH) BCONCRETE (WIDTH)
1 = A7/8"
2 = 1 5/8" 1 1/2"
3 = 2 1/2" 2 1/2"
4 = 3 5/8" 3 1/2" MASONRY SIZE 4"
5 = 
6 = 6" 5 1/2" MASONRY SIZE 6" CONCRETE 6"
8 = 8" 7 1/4" MASONRY SIZE 8" CONCRETE 8"
10 = 9 1/4" MASONRY SIZE 10" CONCRETE 10"
12 = 11 1/4" MASONRY SIZE 12" CONCRETE 12"
14 = CONCRETE 14"
16 = MASONRY SIZE 16"

SUPERSCRIPT NOTES -
A - HAT CHANNEL FURRING IN LIEU OF METAL STUD
B - IF WALL IS STRUCTURAL, DO NOT TAG WALL OR INCLUDE IN WALL TYPES

GYP BOARD SCHEDULE
5/8" GYPSUM BOARD

5/8" TYPE X GYPSUM BOARD

5/8" MOISTURE RESISTANCE AND MOLD-
RESISTANT GYPSUM BOARD (TYPE X WHERE FIRE 
RATED)

5/8" GLASS MAT MOISTURE AND MOLD-RESISTANT 
GYPSUM TILE BACKER (TYPE X WHERE FIRE RATED) 

5/8" CEMENT BOARD

ALL PARTITIONS UNLESS NOTED OTHERWISE BELOW

FIRE RATED PARTITIONS

WET OR HIGH HUMIDITY, HEAVY MOISTURE EXPOSURE AREAS SUCH AS 
TOILET ROOMS, SHOWERS, LOCKER ROOMS, AND JANITOR CLOSETS, 
EXCEPT WHERE WALL TILE OCCURS.  USE AT KITCHEN WALLS FROM 
FLOOR TO 12" ABOVE COUNTERTOP, EXCEPT WHERE TILE BACKSPLASH 
OCCURS.

LIMITED WATER EXPOSURE AREAS WHERE WALL TILE OCCURS, BEHIND 
FIBERGLASS SHOWER ENCLOSURES, AND KITCHEN WALLS FROM FLOOR 
TO 12" ABOVE COUNTERTOP WHERE TILE BACKSPLASH OCCURS

WET OR HIGH HUMIDITY, HEAVY MOISTURE EXPOSURE AREAS 
WHERE WALL TILE OCCURS, EXCEPT AT BACKSPLASHES

1. AT FIRE RATED PARTITIONS WHERE CEMENT BOARD IS REQUIRED, PROVIDE CEMENT BOARD ON TOP OF TYPE X GYPSUM 
BOARD, OR PROVIDE A TESTED FIRE-RESISTANCE DESIGN THAT ALLOWS REPLACEMENT OF THE TYPE X GYPSUM BOARD 
WITH CEMENT BOARD.

2. REFER TO THE  ENVIRONMENTAL CLASSIFICATIONS IN THE CURRENT EDITION OF THE TILE COUNCIL OF NORTH AMERICA 
HANDBOOK FOR CERAMIC, GLASS AND STONE TILE INSTALLATION.

GYP BOARD NOTES

5/8" LEAD LINED GYPSUM BOARD ALL PARTITIONS REQUIRING LEAD AS NOTED IN SHIELDING REPORT; 
CONTRACTOR TO VERIFY REQUIRED LEAD WEIGHT WITH REPORT

STEEL FRAMING 
(RE: CORE SIZE LEGEND)

STEEL FRAMING
(RE: CORE SIZE LEGEND)

SEALANT (BOTH SIDES)

RUNNER TRACK

ACOUSTIC BATT INSULATION

SILL

PLAN

FIRE RATING: SEE SCHEDULE
SOUND RATING (STC): SEE SCHEDULE
UL DESIGN NUMBER: SEE SCHEDULE

INTERIOR PARTITION

SA_

5/8" GYP. BOARD, TYPE X

LEAD LINED GYP. BOARD @ 
IMAGING ROOM SIDE;
5/8" GYP. BOARD, TYPE X 
OUTSIDE OF IMAGING ROOM

NOTE: ALL WALLS GO UP TO UNDERSIDE OF DECK OR STRUCTURE UNLESS NOTED OTHERWISE. CONTRACTOR 
TO VERIFY EXISTING CONDITIONS AND NOTIFY ARCHITECT OF ANY DISCREPANCIES SUCH AS RATED WALL 
ASSEMBLIES AND SMOKE PARTITIONS NOT NOTED IN PLAN; RE: A501 FOR HEAD CONDITION DETAILS

SCHEDULED WALL

CONTINUOUS DEFLECTION
TRACK

INNER SLIP TRACK

FIRE SEALANT (BOTH SIDES)

C L
M

A
X

0'
 -

 0
 1

/2
"

SHIM AS NEEDED TO ATTACH
RUNNER TO GYPSUM BOARD

(BOTH SIDES)

UNDERSIDE OF DECK OR 
STRUCTURE

SCHEDULED WALL

CONTINUOUS DEFLECTION
TRACK

INNER SLIP TRACK

ACOUSTIC SEALANT (BOTH SIDES)

SHIM AS NEEDED TO ATTACH
RUNNER TO GYPSUM BOARD

(BOTH SIDES)

4"
 M

IN

ENSURE CONTINUOUS CONTACT 
BETWEEN GYP FACES

UNDERSIDE OF DECK OR 
STRUCTURE

M
A

X
3/

8"

CONTINUOUS LAYERS OF GYP 
PER WALL TYPE

ACOUSTIC SEALANT (BOTH 
SIDES) IF APPLICABLE

INNER SLIP TRACK

SCHEDULED WALL

CONTINUOUS DEFLECTION TRACK

SOUND ATTENUATION BATT
AS APPLICABLE

UNDERSIDE OF DECK OR 
STRUCTURE

STEEL FRAMING 
(RE: CORE SIZE LEGEND)

STEEL FRAMING
(RE: CORE SIZE LEGEND)

SEALANT 

RUNNER TRACK

ACOUSTIC BATT INSULATION

SILL

PLAN

FIRE RATING: SEE SCHEDULE
SOUND RATING (STC): SEE SCHEDULE
UL DESIGN NUMBER: SEE SCHEDULE

INTERIOR PARTITION

SB_

5/8" GYP. BOARD, TYPE X

NOTE: ALL WALLS GO UP TO UNDERSIDE OF DECK OR STRUCTURE UNLESS NOTED OTHERWISE. CONTRACTOR 
TO VERIFY EXISTING CONDITIONS AND NOTIFY ARCHITECT OF ANY DISCREPANCIES SUCH AS RATED WALL 
ASSEMBLIES AND SMOKE PARTITIONS NOT NOTED IN PLAN; RE: A501 FOR HEAD CONDITION DETAILS

STEEL FRAMING 
(RE: CORE SIZE LEGEND)

STEEL FRAMING
(RE: CORE SIZE LEGEND)

SEALANT (BOTH SIDES)

RUNNER TRACK

ACOUSTIC BATT INSULATION

SILL

PLAN

FIRE RATING: SEE SCHEDULE
SOUND RATING (STC): SEE SCHEDULE
UL DESIGN NUMBER: SEE SCHEDULE

INTERIOR PARTITION (LEAD)

SJ_

5/8" GYP. BOARD, TYPE X, 
OUTSIDE OF X-RAY IMAGING

LEAD-LINED GYPSUM BOARD,
INSIDE OF X-RAY IMAGING;
RE: SHIELDING REPORTS AND EQUIPMENT 
MANUFACTURER FOR LEAD THICKNESS 
REQUIREMENTS

NOTE: LEAD SHIELDING MUST BE 
CONTINUOUS. ALL PENETRATIONS 
SUCH AS ELECTRICAL BOXES 
MUST HAVE LEAD SHIELDING

INSIDE OF IMAGING ROOMOUTSIDE OF IMAGING ROOM

NOTE: ALL WALLS GO UP TO UNDERSIDE OF DECK OR STRUCTURE UNLESS NOTED OTHERWISE. CONTRACTOR 
TO VERIFY EXISTING CONDITIONS AND NOTIFY ARCHITECT OF ANY DISCREPANCIES SUCH AS RATED WALL 
ASSEMBLIES AND SMOKE PARTITIONS NOT NOTED IN PLAN; RE: A501 FOR HEAD CONDITION DETAILS

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:3

9 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A501

INTERIOR

WALL

ASSEMBLIES

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - PARTITIONS
1 REFER TO DIMENSION PLANS FOR WALL TYPE LOCATIONS

2 REFER TO SCHEDULES & DETAILS FOR FINISHES.  WALL TYPES REFER TO BASE WALL ONLY.

3 "LINE OF STRUCTURE" AS SHOWN AT THE HEAD CONDITIONS OF EACH WALL TYPE IS DIAGRAMMATIC ONLY AND DOES
NOT INDICATE THE EXACT CONSTRUCTION CONDITION.  RATED WALLS ARE TO TERMINATE AT STRUCTURAL MEMBERS
WITH A FIRE RESISTANT RATING.  WHERE REQ'D APPROPRIATE FRAMING AND GYP BOARD IS TO BE INSTALLED AND
OFFSET AROUND STRUCTURAL MEMBERS OR OTHER OBSTRUCTIONS SUCH AS PIPING OR DUCTWORK, TO MAINTAIN THE
FIRE RESISTANCE RATING.  NON-RATED WALLS THAT CONTINUE TO STRUCTURE ARE TO TERMINATE AT PROPER
LOCATIONS TO MAINTAIN THE INTENT OF THE CONTINUOUS PLANE OF ONE LAYER OF GYP BOARD AS A NOISE, SMOKE OR
OTHER TYPE OF BARRIER.

4 SPACING OF THE METAL STUDS HAS NOT BEEN INDICATED ON THE WALL TYPES OR DETAILS.  REFER TO STRUCTURAL
STUD DETAILS SHEET

5 ALL GYP BOARD SHALL BE 5/8", U.N.O.

6 REFER TO GYP BOARD SCHEDULE BELOW FOR GYP BOARD REQUIREMENTS PER LOCATION AND WALL TYPE

7 ALL WALL ASSEMBLIES TO BE FILLED W/ SOUND ATTENUATION BATTS, U.N.O.

8 VARYING INSULATION REQUIREMENTS HAVE NOT BEEN INDICATED ON THE WALL TYPES; FOR WALL TYPES WITH VARYING
INSULATION TYPES, REFERENCE INSULATION PLAN

9 VARYING LOAD BEARING REQUIREMENTS HAVE NOT BEEN INDICATED ON THE WALL TYPES; FOR WALL TYPES WITH
VARYING LOAD BEARING REQUIREMENTS, REFERENCE LOAD BEARING PLAN

10 SOUND ATTENUATION BLANKETS/BATTS SHALL EXTEND THE FULL HEIGHT OF THE WALLS, U.N.O.

11 THERMAL AND SOUND INSULATION AND COVERING WHICH ARE INSTALLED IN CONCEALED AND EXPOSED SPACES AND AS
COVERING OVER PIPE AND TUBING SHALL BE TESTED IN ACCORDANCE WITH AMERICAN SOCIETY OF TESTING MATERIALS
(ASTM) E 84 AND HAVE A FLAME SPREAD OF 0-25 AND A SMOKE INDEX OF 0-450.

12 SUPPORT INSULATION WITH CHICKEN WIRE IN PARTITIONS WITHOUT GYP BOARD ON BOTH SIDES TO STRUCTURE.

13 ALL RATED WALLS SHALL BE CONSTRUCTED FIRST.  SECONDARY WALLS TO ABUT, BUT NOT PENETRATE RATED WALLS.

14 FIRESTOPPING TO BE PROVIDED AT PENETRATIONS THROUGH RATED WALLS AS SPECIFIED.

15 UL DESIGN NUMBERS REFER TO FIRE RESISTANCE IN MOST CURRENT EDITION OF THE UL DIRECTORY.

16 PROVIDE ALL COMPONENTS REQUIRED PER THE INDICATED DESIGN NUMBER OR TEST REFERENCE LISTING NUMBER,
INCLUDING BUT NOT LIMITED TO FASTENER SIZE AND SPACING.

17 APPROPRIATE SUBMITTAL INFORMATION MUST BE PROVIDED TO SUBSTANTIATE THAT THE MATERIALS AND ASSEMBLY
USED BY THE CONTRACTOR HAVE BEEN TESTED BY A RECOGNIZED TESTING AGENCY TO MEET THE FIRE RESISTANCE
RATING SCHEDULED ON THESE WALL TYPES.

18 MAINTAIN 1/2" SPACE BETWEEN FLOOR SLAB AND BOTTOM OF GYP BOARD ON ALL WALLS.

19 STOP STUD 1" BELOW METAL RUNNER (TOP TRACK) TO ALLOW FOR VERTICAL EXPANSION DO NOT ATTACH STUDS OR
GYP BOARD TO TOP TRACK.

20 U.N.O. ALL WALLS TO BE LEVEL 4 FINISH

21 REFER TO INTERIOR DETAILS FOR ADDITIONAL INFORMATION.

PARTITION
TAG

FIRE
RATING

HEAD
DETAIL

STUD
DEPTH

CORE SIZE
(NOM.)

TOTAL
THICKNESS LOAD BEARING

STC
RATING

SB4 E3/A501 3 5/8" 4 0' - 4 1/4" RE: STRUCTURAL STC 34

PARTITION TAG
FIRE

RATING HEAD DETAIL
STUD

DEPTH
CORE SIZE

(NOM.)
TOTAL

THICKNESS LOAD BEARING FIRE TEST STC RATING

SA4 E3/A501 3 5/8" 4 0' - 4 7/8" RE: STRUCTURAL STC 46

SA4|e E3/A501 3 5/8" 4 0' - 4 7/8" RE: STRUCTURAL STC 46

SA6 E3/A501 6" 6 0' - 7 1/4" RE: STRUCTURAL STC 51

1|SA4 1 HR E2/A501 3 5/8" 4 0' - 4 7/8" RE: STRUCTURAL U465 STC 46

3" = 1'-0"
E2

1-HR FIRE RATED STEEL STUD PARTITION HEAD
3" = 1'-0"

E3
STEEL STUD ACOUSTIC PARTITION HEAD

3" = 1'-0"
E1

TYPICAL STEEL STUD PARTITION HEAD

PARTITION
TAG

FIRE
RATING

HEAD
DETAIL

STUD
DEPTH

CORE SIZE
(NOM.)

TOTAL
THICKNESS LOAD BEARING

STC
RATING

SJ4 E3/A501 3 5/8" 4 0' - 4 7/8" RE: STRUCTURAL

SJ4|e E3/A501 3 5/8" 4 0' - 4 7/8" RE: STRUCTURAL

SJ6|e E3/A501 6" 6 0' - 7 1/4" RE: STRUCTURAL



BOTTOM TRACK -
SEE PARTITION 
TYPE GENERAL 
NOTE 21. 

STUD - SEE WALL 
SCHEDULE

JAMB BASE 
ATTACHMENT - SEE 
JAMB SCHEDULE

BOTTOM TRACK 
ATTACHMENT -
SEE PARTITION 
TYPE GENERAL 21.

JAMB STUDS - SEE 
JAMB SCHEDULE

ADDITIONAL ANCHOR 
AS REQ'D. BY JAMB 
SCHEDULE

JAMB STUDS - SEE 
JAMB SCHEDULE

JAMB BASE 
ATTACHMENT - SEE 
JAMB SCHEDULE

BOTTOM TRACK 
ATTACHMENT -
SEE PARTITION 
TYPE GENERAL 21.

BOTTOM TRACK -
SEE PARTITION 
TYPE GENERAL 
NOTE 21. 

OPENING

ADDITIONAL ANCHOR 
AS REQ'D. BY JAMB 
SCHEDULEPLAN VIEW

BOTTOM TRACK -
SEE PARTITION 
TYPE GENERAL 
NOTE 21. 

BOTTOM TRACK 
ATTACHMENT - SEE 
PARTITION TYPE GENERAL 21.

A

(1) #8 SCREW @ EACH 
FLANGE

STUD - SEE 
WALL 
SCHEDULE

JAMB BASE CONNECTIONS                                                                      
SCALE: NONE

TYPICAL BOTTOM TRACK CONNECTIONS       
SCALE: NONE

TYPICAL STEEL STUD JAMB SECTIONS                                                                                                                          
SCALE: NONE

STANDARD FRAMING JAMB STUD SCHEDULE

TSN MID WALL SCHEDULE (W/ HANDRAIL LOAD):

TSN MID WALL SCHEDULE:

J1
ONE TRACK 
ONE STUD

J2
ONE TRACK 
TWO STUDS

J3
TWO TRACKS 
TWO STUDS

J4
TWO TRACKS 
THREE STUDS

MATCH WALL BOTTOM 
TRACK & STUD SIZE TYPICAL 
UNO

#10 @ 12" O.C. TYP 
UNO

TOP CONNECTION TYPE 1 (DEFLECTION TRACK ATTACHMENT WITHOUT VERTICLIP)                                                       
SCALE: NONE

DEFLECTION TRACK

STUD

STRUCTURE

TRACK ATTACHMENT - SEE 
PARTITION TYPES GENERAL 
NOTES 22

ATTACH TO CONCRETE SLAB:

PARALLEL TO 
FLUTE AT 

FLUTE

STUD

DEFLECTION TRACK

STRUCTURE

TRACK ATTACHMENT -
SEE PARTITION TYPES GENERAL 
NOTE 22. SEE DETAIL WITH 
ADDITIONAL 68mil PLATE IF 
OVERLAPPING <3"

ATTACH TO CONCRETE SLAB ON METAL 
DECK:

PARALLEL TO 
FLUTE BETWEEN  

FLUTES

FIRE PROOFING IF 
REQUIRED

TRACK ATTACHMENT -
SEE PARTITION TYPES GENERAL 
NOTES 22.

68 MIL x 14" x CONTINUOUS PLATE W 
(1) ROWS OF HILTI X-U @ 6" O.C. 
EACH SIDE. EMBEDMENT = 1" MIN.

PERPENDICULAR TO 
FLUTE

STUD

DEFLECTION TRACK

TRACK ATTACHMENT -
SEE PARTITION TYPES 
GENERAL NOTES 22.

FIRE PROOFING IF 
REQUIRED

PARALLEL TO 
FLUTE AT 

FLUTE

DEFLECTION TRACK

TRACK ATTACHMENT -
SEE PARTITION TYPES 
GENERAL NOTES 22.

METAL DECK

PARALLEL TO 
FLUTE BETWEEN  

FLUTES

PERPENDICULAR TO 
FLUTE

68 MIL x 8" x 
CONTINUOUS PLATE W/ #
10 SCREWS EACH SIDE 
@ 4" O.C.

FIRE PROOFING IF 
REQUIRED

TRACK ATTACHMENT -
SEE PARTITION TYPES 
GENERAL NOTES 22.

STUD

DEFLECTION TRACK

TRACK 
ATTACHMENT -
SEE PARTITION 
TYPES GENERAL 
NOTES 22.

FIRE PROOFING IF 
REQUIRED

ATTACH TO METAL DECK:

ATTACH TO STEEL BEAM:

STUD

HILTI X-U15 PAF'S AT 8" 
O.C. STAGGERED

STEEL BEAM

STUD

HILTI X-U15 PAF'S AT 8" 
O.C. STAGGERED

STEEL BEAM

54 MIL PLATE x 6" x 12" 
AT 32" O.C.

(2) #10 SCREWS AT 
EACH PLATE

STEEL BEAM

(2) HILTI X-U15 
ANCHORS PER Z-CLIP

54 MIL Z-CLIP FOR 
FIREPROOFING AT 32" 
MAX. SPACING

DEFLECTION TRACK

STUD

TYPICAL STUD SPACING

WALL 
HEIGHT

TYPICAL WALL STUD

TWO ADJACENT 
MIDWALL™ SUPPORTS 
REQUIRED AT TYPICAL 
STUD SPACING FOR 
END OF WALL

MIDWALL™

STANDARD TOP TRACK

STEEL BEAM

HILTI X-U15 PAF'S AT 
8"O.C. STAGGERED

STUD

TSN VERTICLIP SLD AT EACH 
JAMB W/ (2) #8 SCREWS IN 
EACH JAMB &  (2) #8 SCREWS 
INTO TRACK

(2) HILTI X-U15 PAF'S AT 
EACH PLATE

54 MIL PLATE x 6" x 12" AT 32" 
O.C.

TSN VERTICLIP SLD AT EACH JAMB 
W/ (2) #8 SCREWS IN EACH JAMB & 
(2) #8 SCREWS INTO TRACK AND 
PLATE

STUD

STEEL BEAM STEEL BEAM

(2) HILTI X-U15 
ANCHORS PER Z-CLIP

54 MIL Z-CLIP FOR FIRE 
PROOFING AT 32" MAX. 
SPACING

DEFLECTION TRACK

STUD

ATTACH TO METAL DECK:

ATTACH TO STEEL BEAM:

TOP TRACK. EACH SIDE OF JAMB 
CONNECTION (WHERE OCCURS). SEE 
SS08 FOR DEFLECTION TRACK AND 
SLOTTED TRACK INFORMATION

(1) #12 SCREWS PER FLUTE

METAL DECK

TSN VERTICLIP SLD AT EACH 
JAMB W/ (2) #8 SCREWS IN 
EACH JAMB &  (2) #8 SCREWS 
INTO TRACK AND PLATE

68 MIL x 12" x 25" 
PLATE AT EACH 
JAMB
JAMB STUD

TSN VERTICLIP SLD AT EACH 
JAMB W/ (2) #8 SCREWS IN 
EACH JAMB &  (2) #8 
SCREWS INTO TRACK

68 MIL x 12" x 25" 
PLATE AT EACH 
JAMB

TYPICAL STUD

(5) #12 SCREWS IN 
EACH FLUTE - (10) 
TOTAL

METAL DECK

DEFLECTION TRACK

JAMB STUDS

TRACK

PARALLEL TO 
FLUTE AT FLUTE PERPENDICULAR TO 

FLUTE

ATTACH TO CONCRETE SLAB ON METAL 
DECK:

TRACK

(4) 3/8" HILTI KH-EZ ANCHOR 
W/ 2-1/2" EMBEDMENT AT 
EACH LOWER FLUTE

IF CLIP IS LOCATED PARTIALLY ON PLATE AND 
ON CONCRETE, REPLACE SCREWS INTO 
CONCRETE WITH 1/4" HILTI KH-EZ ANCHORS 
WITH 2" MINIMUM EMBEDMENT

 12"

TSN VERTICLIP SLD AT EACH 
JAMB W/ (2) #8 SCREWS IN 
EACH JAMB &  (2) #8 
SCREWS INTO TRACK AND 
PLATE

JAMB STUD

DEFLECTION TRACK

CONCRETE SLAB ON METAL 
DECK

68 MIL x 14" x 25" 
PLATE AT EACH 
JAMB

68 MIL x 14" x 25" 
PLATE AT EACH 
JAMB

DEFLECTION 
TRACK

(4) 3/8" DIA. HILTI KH-
EZ ANCHORS W/ 
2-1/2" EMBEDMENT 
IN EACH FLUTE. (4) 
TOTAL.

CONCRETE SLAB 
ON METAL DECK

TYPICAL STUD

JAMB STUDSTSN VERTICLIP SLD AT EACH 
JAMB W/ (2) #8 SCREWS IN 
EACH JAMB &  (2) #8 
SCREWS INTO TRACK AND 
PLATE

 12"

TRACK

TRACK
PARALLEL TO 

FLUTE AT FLUTE
PERPENDICULAR TO 

FLUTE

ATTACH TO CONCRETE SLAB:

TOP CONNECTION TYPE 2 (DEFLECTION TRACK ATTACHMENT WITH VERTICLIP)                                         
SCALE: NONE

NOTE: 
• ONLY ONE CLIP IS REQ'D FOR JAMBS AT TYPICAL 

LOCATION. WHERE JAMB CONFIG J3 AND J4 ARE 
USED, THE CLIP MUST BE LOCATED AT THE 
CENTER JAMB, OR TWO CLIPS MUST BE USE ONE 
ON EACH SIDE OF BUILT UP JAMB

CONCRETE SLAB

DEFLECTION TRACK

TSN VERTICLIP SLD W/ (2) SLOTS 
@ EACH JAMB W/ (2) #8 SCREWS 
IN EACH JAMB &  (2) 1/2" DIA. 
HILTI HUS-EZ ANCHORS W/ 3" 
EMBEDMENT

TYPICAL STUD

STUD TO FIT TIGHT 
AGAINST RADIUS OF 
TRACK

SECTION A
PLAN VIEW

MIDWALL SUPPORT DETAIL
SCALE: NONE

                Typ. Stud Spacing   Max Wall Height         Mid Wall to base connection                                                                                          Comment                                                                                                                                      

250MW-24: 16"O.C. 4'-0"               1/2" dia HAS-E Threaded Epoxy Anchor w/  HIT-HY 200. Embed=6"min                       For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
                     24"O.C. 4'-0"               1/2" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=6"min               For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
250MW-48:  16"O.C. 7'-0"               1/2" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=6"min                For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
                     24"O.C. 5'-0"               1/2" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=6"min                For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
362MW-24:   16"O.C. 3'-6"               (2) 3/8" dia Kwik Bolt 3. Embed=2.375"                                                                      For Concrete over metal deck

4'-0"                (2) 3/8" dia HAS-E Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min          For Concrete Slab                  
                      24"O.C. 3'-0"                (2) 3/8" dia Kwik Bolt 3. Embed=2.375"                                                          For Concrete over metal deck

4'-0"                (2) 3/8" dia HAS-E Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min          For Concrete Slab
362MW-48: 16"O.C. 8'-6"                (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min   For Concrete Slab only, EOR must deign base connection for concrete over metal deck application   
                     24"O.C. 7'-6"                (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min   For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
600MW-24: 16"O.C. 4'-0"               (2) 3/8" dia Kwik Bolt 3. Embed=2.375"                                                                For Concrete over metal deck

(2) 3/8" dia HAS-E Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min          For Concrete Slab
                    24"O.C. 3'-6"                (2) 3/8" dia Kwik Bolt 3. Embed=2.375"                                                             For Concrete over metal deck

4'-0"              (2) 3/8" dia HAS-E Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min          For Concrete Slab
600MW-48:  16"O.C. 4'-6"           (2) 3/8" dia Kwik Bolt 3. Embed=2.375"                                                                For Concrete over metal deck

10'-6"           (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min   For Concrete Slab 
                    24"O.C. 9'-0"             (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min    For Concrete Slab only, EOR must deign base connection for concrete over metal deck application

Note: Max wall height are calculated base on one 5/8" GYP BD on each side
          MidWall attaches to every other stud, studs attach to MidWall=xxxS162-54. All other typ stud=xxxS137-33, typ top track=xxxT125-33
          Base connection based on concrete slab or concrete on metal deck with minimum compressive strength, f'c=3000psi

                Typ. Stud Spacing Max Wall Height           Mid Wall to base connection Comment                                                                                                                                         

250MW-24: 16"O.C. 4'-0" 1/2" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=6"min to Concrete Slab For Concrete Slab only, EOR must deign base connection for concrete over metal deck application       
250MW-48:     16"O.C. 7'-0"              1/2" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=6"min to Concrete Slab For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
362MW-24:     16"O.C. 4'-0"               (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
                      24"O.C. 4'-0"               (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
362MW-48: 16"O.C. 8'-6"               (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab     For Concrete Slab only, EOR must deign base connection for concrete over metal deck application  

24"O.C. 7'-0"               (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab     For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
600MW-24: 16"O.C. 4'-0"              (2) 3/8" dia HAS-E Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab            For Concrete Slab only, EOR must deign base connection for concrete over metal deck application

24"O.C. 4'-0"              (2) 3/8" dia HAS-Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab     For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
600MW-48: 16"O.C. 10'-6"              (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab     For Concrete Slab only, EOR must deign base connection for concrete over metal deck application
                     24"O.C. 9'-0"               (2) 3/8" dia HAS Super Threaded Epoxy Anchor w/  HIT-HY 200. Embed=2.375"min to Concrete Slab     For Concrete Slab only, EOR must deign base connection for concrete over metal deck application

Note: Max wall height are calculated base on one 5/8" GYP BD on each side
          MidWall attaches to every other stud, studs attach to MidWall=xxxS162-54. All other typ stud=xxxS137-33, typ top track=xxxT125-33
          Handrail loads (50plf or 200lb point live load) are applied at 3'-0" above the base connection  
          Base connection based on concrete slab or concrete on metal deck minimum compressive strength f'c=3000psi               

      JAMB DEPTH     MAX. JAMB HEIGHT              MAX. OPENING WIDTH                            JAMB COMPONENTS             CONFIGURATION               BASE CONNECTION                             TOP CONNECTION  

2-1/2" 12'-0" 4'-0" (2)250S162-33 & (1)250T150-33                   J2 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD)            Type  1
                       8'-0" (1 layer Gyp each side Max.) (2)250S162-33 & (1)250T125-54                   J2 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
                                 12'-0" (1 layer Gyp 1 side Max.)     (2)250S162-33 & (2)250T150-43 J3 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
            
3-5/8" 10'-0" 4'-0" 362S137-33 & 362T125-33 J1 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 1

8'-0" 362S137-33 & 362T125-33 J1 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
12'-0" 362S137-33 & 362T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2

15'-0" 4'-0" 362S137-33 & 362T125-33 J1 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 1
8'-0" 362S200-33 & 362T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
12'-0" (2)362S137-33 & (1)362T125-33 J2 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
16'-0" (1 layer Gyp each side Max.) (2)362S137-33 & (2)362T125-33 J3 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2

18'-0" 4'-0" 362S162-33 & 362T125-33 J1 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 1
8'-0" (2)362S162-33 & (1)362T150-33 J2 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
12'-0" (2)362S200-33 & (2)362T150-33 J3 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
16'-0" (1 layer Gyp each side Max.) (3)362S200-33 & (2)362T150-33 J4 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2

                
6" 10'-0" 4'-0" 600S137-33 & 600T125-33 J1 (1) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 1

8'-0" 600S137-33 & 600T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2 
12'-0" 600S137-33 & 600T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
16'-0" 600S137-33 & 600T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2 

15'-0" 4'-0" 600S137-33 & 600T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 1
8'-0" 600S137-33 & 600T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
12'-0" 600S137-33 & 600T125-33 J1 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
16'-0" 600S162-33 & 600T150-33 J1 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2

20'-0" 4'-0" 600S137-33 & 600T125-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 1
8'-0" (2)600S137-33 & (1)600T125-33 J2 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
12'-0" (2)600S137-33 & (1)600T125-33 J2 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
16'-0" (2)600S162-33 & (2)600T150-33 J3 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2

25'-0" 4'-0" 600S162-33 & 600T150-33 J1 (2) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 1
8'-0" (2)600S137-33 & (1)600T125-33 J2 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
12'-0" (2)600S200-33 & (1)600T200-33 J2 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2
16'-0" (3)600S162-33 & (2)600T150-33 J4 (3) 3/8" HILTI KH-EZ w/ embed=3-1/4" (SOG) or 1-5/8" (COMD) Type 2

12" 50-0" 16'-8" (3)1200S350-118 & (2)1200T200-54 J4 (3) 3/8" HILTI KH-Fz w/ embed=3-1/4" (SOG) SEE DETAILS ATTACHED

NOTE: SOG=SLAB ON GRADE
COMD=CONCRETE ON METAL DECK

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

1 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A503

STRUCTURAL

STEEL

DETAILS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024



TYPICAL SILL SECTIONS                                                                                                             
SCALE: NONE

SILL TRACK - SEE SCHEDULE #8 SCREWS AT 24" 
O.C.

SILL - SEE 
SCHEDULE

S1 S2 S3

TYPICAL STUD HEADER SECTIONS                                                                                                        
SCALE: NONE

H1 H2 H3 H4

VERTICAL 
SECTION - TYPICAL

HORIZONTAL 
SECTION - TYPICAL

SILL CONNECTION DETAIL                                                                                      
SCALE: NONE

REFER TO JAMB STUD 
SCHEDULE FOR TRACK 
ATTACHMENT

SILL - SEE SILL SCHEDULE

L2 x 2 x 16 GA. x SILL WIDTH 
WITH (4) #10 SCREWS INTO 
STUD AND (4) #10 SCREWS 
INTO 6" SILL. (3) #10 SCREWS 
INTO STUD AND (3) #10 
SCREWS INTO 3.625" SILL. (2)#
10 SCREWS INTO STUD AND (2) 
#10 SCREWS INTO 2.5" SILL.

54 MIL CLOSURE TRACK AS 
REQUIRED - COORDINATE WITH 
HEADER DETAILS

JAMB STUD - SEE 
HEADER AND JAMB 
SCHEDULE

SILL TRACK SHALL 
NOT EXTEND TO LAP 
OVER JAMB STUDS

STUD -SEE WALL 
SCHEDULE FOR TYPICAL 
WALL FRAMING

(1) #8 SCREW AT EACH 
FLANGE

BOTTOM TRACK - SEE 
PARTITION TYPE GENERAL 
NOTES

CONCRETE

54 MIL X FULL HEIGHT 
CLOSURE TRACK @ OPEN 
FACE OF JAMB AS REQ'D -
ATTACH WITH #8 SCREWS @ 
16" O.C. EACH SIDE

HEADER CONNECTION DETAIL                                                  
SCALE: NONE

JAMB STUDS - SEE 
JAMB SCHEDULE

HEADER 
CONNECTION

TRACK CLIP:
SECTION OF 54 MIL MIN. 
TRACK LENGTH 1-1/4" 
LESS THAN HEADER 
DEPTH. SCREW 
ATTACHED TO JAMB PER 
SCHEDULE

NOTE:  IF ATTACHED TO
STRUCTURAL STEEL JAMB,
REPLACE EACH SCREW
WITH (1) HILTI X-U15 P.A.F.

STUDS

(1) #8 SCREW TYP. EA. FLANGE

(2) #8 SCREWS @ 16" O.C.

HEADER STUDS AND TRACK -
SEE JAMB AND HEADER 
SCHEDULE

CLIP ANGLE:
2" x 2" x 54 MIL CLIP 
ANGLE 1/2" LESS THAN 
STUD WIDTH. USE (3) #
10 SCREWS FOR 6" 
JAMB AND (2) #10 FOR 
2.5" AND 3.625" JAMB AT 
EACH LEG AS SHOWN

1 1/2"

1 1/2"
EQ

.

L33X12GA W/4-.157" HILTI X-U PAF TO 
STEEL BEAM AND 3#12 SCREW TO CFS 
BRACE

362S162-33 BRACE AT 8'-0" EACH SIDE OF 
WALL STAGGERED 4'-0". ALSO PROVIDE 
ADDITIONAL BRACING AT THE TOP OF ALL 
JAMBS. IF BRACING CAN ONLY BE 
INSTALLED ON ONE SIDE, DECREASE 
SPACING TO 4'-0"

STUD AND TRACK -SEE 
WALL SCHED. AND 
PARTITION TYPES 
GENERAL NOTE 20

ATTACH METAL STUD BRACE TO 
TRACK WITH L1-1/2" x 1-1/2" x 33 
MIL WITH (4) #10 SCREWS INTO 
BRACE AND (4) SCREWS INTO 
TOP TRACK.

CONNECT BRACING DIRECTLY 
TO ROOF FRAMING BEAM WEB. 
OR ADD L6X6X5/16 CONT 
BETWEEN STRUCTURAL 
SUPPORTS. COPE VERT LEG & 
WELD TO ROOF FRAMING TOP 
CHORD/ FLANGE W/ 3/16" 
FILLED WELD ALL AROUND

METAL DECK

362S162-33 BRACE AT 8'-0" EACH SIDE OF 
WALL STAGGERED 4'-0". ALSO PROVIDE 
ADDITIONAL BRACING AT THE TOP OF ALL 
JAMBS. IF BRACING CAN ONLY BE 
INSTALLED ON ONE SIDE, DECREASE 
SPACING TO 4'-0"

1.5 MAX.

1

1 MIN.

1

1.5 MAX.

1

1 MIN.

1

STUD AND TRACK -SEE WALL SCHED. AND 
PARTITION TYPES GENERAL NOTE 20

ATTACH METAL STUD BRACE TO 
TRACK WITH L1-1/2" x 1-1/2" x 33 MIL 
WITH (4) #10 SCREWS INTO BRACE 
AND (4) SCREWS INTO TOP TRACK.

TSN STIFFCLIP CL362-68 AT EACH 
BRACE WITH (1) 1/2" DIAMETER HILTI 
KBTZ WITH 3-1/4" MIN. EMBEDMENT.  
ATTACH TO BRACE WITH (3) #12 
SCREWS

CONCRETE SLAB ON METAL DECK

362S162-33 BRACE AT 8'-0" EACH SIDE OF 
WALL STAGGERED 4'-0". ALSO PROVIDE 
ADDITIONAL BRACING AT THE TOP OF ALL 
JAMBS. IF BRACING CAN ONLY BE 
INSTALLED ON ONE SIDE, DECREASE 
SPACING TO 4'-0"

STUD AND TRACK -SEE 
WALL SCHED. AND 
PARTITION TYPES 
GENERAL NOTE 20

ATTACH METAL STUD 
BRACE TO TRACK WITH 
L1-1/2" x 1-1/2" x 33 MIL 
WITH (4) #10 SCREWS 
INTO BRACE AND (4) 
SCREWS INTO TOP 
TRACK.

TSN STIFFCLIP CL362-68 AT EACH 
BRACE WITH (1) 1/2" DIAMETER HILTI 
KBTZ WITH 3-1/4" MIN. EMBEDMENT.  
ATTACH TO BRACE WITH (3) #12 
SCREWS

TOP OF WALL BRACING DETAIL                                                                                                                                                                                                            
SCALE: NONE

BRIDGING DETAIL                                                                                                                                                                                                                 
SCALE: NONE

BRIDGING 
ATTACHMENT - SEE 
PLAN NOTE

SCREWS

TSN BRIDGEBAR

BUILT-UP JAMB OR POST, 
EXTEND CHANNEL INTO 
PUNCH-OUT.

1.5"x54 MIL COLD ROLLED 
CHANNEL

2"X2"X54MIL CLIP ANGLE 1/4" 
LESS THAN STUD WIDTH TO BE 
PLACED AT EACH STUD. 
ATTACH TO STUD WITH (4)#10 
SCREWS.

TSN BRIDGEBAR OPTION COLD ROLL CHANNEL OPTION

STRAP OPTION (ABOVE CEILING ONLY)

10
'-0

" M
AX.

1.5 MAX.

1

1 MIN.

1

1-1/2" x 30 MIL STRAPPING ON 
EACH SIDE OF WALL STUD. 
(STRAPPING TO START, END 
AND SPLICE AT SOLID 
BLOCKING)

10
'-0

" M
AX.

10
'-0

" M
AX.

10'-0" M
AX. SPACING

TYPICAL STUD

L2 x 2 x 43 MIL x STUD WIDTH AT 
EACH SIDE OF STUD BLOCKING. 
SCREW TO STUD & BLOCKING 
WITH (2) #8 SCREWS IN EACH LEG 
OF ANGLE - FLANGES OF STUD 
BLOCKING MAY BE CUT OFF, WEB 
BENT & ATTACHED TO STUDS

43 MIL STUD BLOCKING AT 10'-0" MAX. 
AND AT ENDS OF WALLS AND EACH 
SIDE OF OPENINGS

USE (6) #10 SCREWS ON EACH SIDE OF 
BLOCKING

BLOCKING REQUIRED 
ADJACENT TO ALL 
OPENINGS AND END OF 
WALL

(1) #8 SCREW IN 
EACH STUD FLANGE

OPENING OR END OF 

WALL

CEILING LEVEL

NOTE: 
• ATTACHEMNT=BRIDGECLIP WITH (1)#10 SCREW FOR TSN CLIP, OR 

SUBH3.25 WITH (1)#10 SCREW AND 3/8" WASHER FOR STUD WIDTH 
3.625 OR ABOVE. 

• WHEN DEEP LEG DEFLECTION TRACK IS USED, INSTALL ADDITIONAL 
ROW OF BRIDGING WITHIN 12" OF TOP SLIP TRACK.

NOTE: 
• IF SILL IS ATTACH TO STRUCTURAL STEEL, 

REPLACE EACH SCREW WITH (1) HILTI X-U 15

JAMB STUD DEPTH       WALL HEIGHT BELOW OPENING      MAX. OPENING WIDTH       SILL COMPONENTS                                 CONFIGURATION        SILL TO JAMB  ANGLE                
2-1/2"                        5'-0"                              4'-0" 250T125-33                                                      S1 2"X2"X54MIL CLIP ANGLE        

                                                                                                          8'-0"                   (1)250T250-33 & (1)250S137-33  S2 2"X2"X54MIL CLIP ANGLE        
                                                                                                                                                
                                             10'-0"                              4'-0"        250T125-33                                      S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                   8'-0"      (1)250T250-54 & (1)250S137-33   S2 2"X2"X54MIL CLIP ANGLE   
                                     
                                             15'-0"                                    4'-0"          250T125-33                                 S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                  8'-0"       (1)250T250-68 & (1)250S162-33   S2 2"X2"X54MIL CLIP ANGLE  
   3-5/8"                                 5'-0"                                  4'-0"      362T125-33                                       S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                    8'-0"      362T125-33     S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                   12'-0"   (1)362T250-43 & (1)362S162-33    S2  2"X2"X54MIL CLIP ANGLE   
                                                                                                             
   
                                            10'-0"                                     4'-0"          362T125-33                      S1  2"X2"X54MIL CLIP ANGLE      
                                                                                                     8'-0"    (1)362T250-33 & (1)362S137-33    S2  2"X2"X54MIL CLIP ANGLE        
                                                                                                     12'-0" (1)362T250-68 & (1)362S200-33 S2   2"X2"X54MIL CLIP ANGLE   
                                                                                                             
                                             15'-0"                                  4'-0"       362T125-33       S1 2"X2"X54MIL CLIP ANGLE      
                                                                                                      8'-0"    (1)362T250-33 & (1)362S137-33 S2  2"X2"X54MIL CLIP ANGLE        
                                                                                                      12'-0"                   (2)362T200-54 & (1)362S200-33  S3 2"X2"X97MIL CLIP ANGLE 
                                                                                                     16'-0"                   (2)362T200-97 & (1)362S250-97 S3    2"X2"X97MIL CLIP ANGLE
                                                                                                                                                           
                                                                                            
   6"                                        5'-0"                                    4'-0"                      600T125-33         S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                     8'-0"                    600T125-33  S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                    12'-0"                    600T200-33     S1 2"X2"X54MIL CLIP ANGLE
                                                                                                                                                                                              
                                             10'-0"                                4'-0" 600T125-33   S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                     8'-0" 600T125-33  S1  2"X2"X54MIL CLIP ANGLE       
                                                                                                   12'-0" (1)600T250-33 & (1)600S137-33    S2  2"X2"X54MIL CLIP ANGLE
                                                                                                                                                                                              
                                             15'-0"                                4'-0" 600T125-33 S1 2"X2"X54MIL CLIP ANGLE       
                                                                                                  8'-0"  600T200-33        S1   2"X2"X54MIL CLIP ANGLE      
                                                                                                  12'-0" (1)600T250-33 & (1)600S137-33   S2   2"X2"X97MIL CLIP ANGLE
                                                                                               16'-0" (2)600T200-43 & (1)600S200-33    S3   2"X2"X97MIL CLIP ANGLE
                                                                                                           
                                             20'-0"                              4'-0"     600T125-33             S1   2"X2"X54MIL CLIP ANGLE       
                                                                                                   8'-0" 600T200-33        S1   2"X2"X54MIL CLIP ANGLE      
                                                                                                 12'-0" (1)600T250-33 & (1)600S137-33  S2    2"X2"X97MIL CLIP ANGLE
                                                                                               16'-0" (1)600T250-68 & (1)600S162-33     S2  2"X2"X97MIL CLIP ANGLE

STANDARD FRAMING SILL SCHEDULE 

JAMB STUD DEPTH        WALL HEIGHT ABOVE OPENING              MAX. OPENING WIDTH       HORIZONTAL HEADER COMPONENTS       VERTICAL HEADER COMPONENTS    CONFIGURATION TRACK CLIP TO HEADER/JAMB ATTACHMENT                                                              
2-1/2"                         5'-0"                            4'-0"               250T200-33                      ----                                         H1    (2) #10 SCREWS TO HEADER/(2)#10 TO JAMB (2X2X54MIL CLIP ANGLE ONLY)                              

                                                                                                                  8'-0"                (1)250S162-68 & (2)250T150-68 ----                                         H2   (4)#10 SCREWS TO HEADER/(4)#10 SCREWS TO JAMB                     
                                                                                                                12'-0" (2)250S162-68 & (2)250T150-68    ----                                H3    (4)#10 SCREWS TO HEADER/(4)#10 SCREWS TO JAMB   
                                             
                                               10'-0"                   4'-0" (1)250S162-33 & (2)250T150-33              ----                                         H2 (4)#10 SCREWS TO HEADER/(4)#10 SCREWS TO JAMB                              
                                           
                                               15'-0"                                 4'-0" (1)250S162-43 & (2)250T150-43        ----                                         H2 (4)#10 SCREWS TO HEADER/(4)#10 SCREWS TO JAMB
     3-5/8"                                 5'-0"                                4'-0" 362T200-33                                      ----                                         H1 (2) #10 SCREWS TO HEADER/(2)#10 TO JAMB (2X2X54MIL CLIP ANGLE ONLY)                               
                                                                                                     8'-0" (2)362T125-33                                  (2)600S137-33                                H4 (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                                                                                                        12'-0" (2)362T200-43                         (2)600S162-68                                H4  (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB  
                                                                                                   16'-0" (2)362T125-97                   (2)800S137-33          H4 (8)#10 SCREWS TO HEADER/(8)#10 SCREWS TO JAMB
                                             
                                               10'-0"                                      4'-0"        (1)362S162-33 & (2)362T150-33 ----                                     H2   (4)#10 SCREWS TO HEADER/(4)#10 SCREWS TO JAMB                             
                                                                                          8'-0"           (2)362T125-33            (2)600S162-33                H4       (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                                                                                                    12'-0"          (2)362T150-54      (2)1000S162-68           H4         (12)#10 SCREWS TO HEADER/(12)#10 SCREWS TO JAMB  
                                                                                                  16'-0"             (2)362T200-97      (2)1000S162-97     H4        (12)#10 SCREWS TO HEADER/(12)#10 SCREWS TO JAMB                         
                                                                                                                   
                                               15'-0"                               4'-0" (1)362S200-33 & (2)362T200-33 ----                  H2    (4)#10 SCREWS TO HEADER/(4)#10 SCREWS TO JAMB                             
                                                                                                8'-0"         (2)362T125-33            (2)600S162-43       H4            (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                                                                                           12'-0"           (2)362T150-68      (2)1000S162-97        H4    (12)#10 SCREWS TO HEADER/(12)#10 SCREWS TO JAMB  
                                                                                                                                       
                                               20'-0"                               4'-0"            (2)362T125-33     (2)600S162-43            H4           (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                             
                                                                                             8'-0"             (2)362T125-43  (2)600S162-54                          H4       (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                
                                                                                              
     6"                                        5'-0"                                 4'-0"            600T200-33     ----                  H1          (3) #10 SCREWS TO HEADER/(3)#10 TO JAMB (2X2X54MIL CLIP ANGLE ONLY)                              
                                                                                         8'-0"          (2)600T125-33   (2)600S137-33  H4   (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                                                                                    12'-0"             (2)600T125-33 (2)600S200-33           H4        (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB  
                                                                                 16'-0"           (2)600T125-43  (2)800S250-54       H4      (8)#10 SCREWS TO HEADER/(8)#10 SCREWS TO JAMB                                                             
                           
                                                                                
                                               10'-0"                    4'-0"    (1)600S162-33 & (2)600T125-33 ----                          H2        (4)#10 SCREWS TO HEADER/(4)#10 SCREWS TO JAMB                             
                                                                                  8'-0"             (2)600T125-33 (2)600S162-33                 H4      (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                                                                                       12'-0"                (2)600T125-43  (2)600S250-43          H4     (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB  
                                                                                    16'-0"            (2)600T125-43  (2)800S300-68    H4    (8)#10 SCREWS TO HEADER/(8)#10 SCREWS TO JAMB                                                             
                           
                                                                                                               
                                               15'-0"                             4'-0"           (2)600T125-33      (2)600S162-33               H4         (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                             
                                                                                                   8'-0"             (2)600T125-33  (2)600S200-33                  H4       (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                                                                                      12'-0"         (2)600T200-33 (2)800S250-43           H4     (8)#10 SCREWS TO HEADER/(8)#10 SCREWS TO JAMB  
                                                                                   16'-0"           (2)600T125-54 (2)1000S300-68         H4   (12)#10 SCREWS TO HEADER/(12)#10 SCREWS TO JAMB      
                                                                                                             
                                               20'-0"                            4'-0"        (2)600T125-33 (2)600S162-33        H4     (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                             
                                                                                     8'-0"           (2)600T125-33  (2)600S200-33       H4     (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB                     
                                                                                   12'-0"            (2)600T150-43 (2)600S300-68  H4     (6)#10 SCREWS TO HEADER/(6)#10 SCREWS TO JAMB  
                                                                                               

STANDARD FRAMING HEADER SCHEDULE

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

2 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A504

STRUCTURAL

STEEL

DETAILS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024



90
°

FIRST LINE OF BRACING 6'-0" OR LESS FROM WALL 
BOUNDARY

CEILING SUSPENSION
SYSTEM

WALL

SPLAY WIRE

COMPRESSION POST

12'-0" (M
AX.)

NOTE:  
AREAS SMALLER THAN 144 SQ. FT. AND WITH WALLS ON FOUR SIDES 
EXTENDING TO THE STRUCTURE NEED NOT BE BRACED.  BOUNDARY WALLS 
MUST BE BRACED TOP AND BOTTOM INDEPENDENT OF CEILING TO QUALIFY.

12'-0" (M
AX.)

6'-0" M
AX.

TYP.

E4

AE531

8" MAX.

2 "

VERTICAL
SUSPENSION WIRE

8" MAX. FROM WALL

ARMSTRONG BERC 2 CLIP

CONNECT TO
STRUCTURAL

ELEMENT

WALL ANGLE

SPREADER BAR
BETWEEN ALL
MEMBERS AT
PERIMETER

CEILING CLIP
CONNECTION TO

STRUCTURE

HEAVY DUTY T-BAR SYSTEM

NOTE 1- ALL SPLAY WIRES TO BE IN LINE WITH ATTACHED
COMPONENT

NOTE 2- ALL SPLAY WIRES TO BE TAUT AND TIED BOTH ENDS WITH MINIMUM OF THREE TURNS IN 1" OF RUN.

NOTE 3- COMPLY WITH IBC 2015,  ASTM C635, ASTM C636 AND CISCA
STANDARDS

NOTE 4- SPLAY WIRES SHALL ATTACH TO STRUCTURAL GIRDER OR JOIST ONLY, DO NOT ATTACH TO ROOF DECK.

NOTE 5- METAL COMPRESSION POST (STRUT) FASTENED TO THE MAIN RUNNER SHALL  BE EXTENDED TO AND FASTENED TO THE STRUCTURAL MEMBERS 
SUPPORTING THE ROOF OR FLOOR ABOVE. COMPRESSION POSTS & SPLAY WIRES TO BE INSTALLED EVERY 12' O.C. BOTH DIRECTIONS STARTING 6' 
FROM WALL.  SEE COMPRESSION POST ALLOWABLE LENGTHS TABLE FOR SIZES.  SEE DETAILS 3 & 4 FOR TYPICAL BRACING.

NOTE 6- ALL LIGHT FIXTURES SHALL BE POSITIVELY ATTACHED TO THE SUSPENDED CEILING SYSTEM. WHEN INTERMEDIATE SYSTEMS ARE USED, 
ATTACH NO. 12 GAGE HANGERS TO THE GRID MEMBERS WITHIN 3" OF EACH CORNER OF EACH FIXTURE. LIGHT FIXTURES WEIGHING LESS THAN 56 LBS. 
SHALL HAVE TWO NO. 12 GAGE HANGERS CONNECTED FROM THE FIXTURE HOUSING TO THE STRUCTURE ABOVE. COMPLY WITH IBC 2015

NOTE 7- ALL LIGHT FIXTURES SHALL BE POSITIVELY ATTACHED 20 LBS. SHALL BE POSITIVELY ATTACHED TO THE CEILING SUSPENSION MAIN RUNNERS. 
TERMINALS OR SERVICES WEIGHING 20 LBS., BUT NOT MORE THAT 56 LBS., SHALL IN ADDITION HAVE TWO NO. 12 GAGE HANGERS CONNECTED TO THE 
CEILING SYSTEM HANGERS OR TO THE STRUCTURE ABOVE. TERMINALS OR SERVICES WEIGHING MORE THAN 56 LBS. SHALL BE SUPPORTED DIRECTLY 
FROM THE STRUCTURE ABOVE BY APPROVED HANGERS. COMPLY WITH IBC 2015

NOTE 8- ALL GRID SYSTEM IN SEISMIC ZONE D OR GREATER ARE REQUIRED TO BE HEAVY DUTY. REFER REQUIREMENTS TO ASCE 7 REQUIREMENTS.

NOTE 9- CEILINGS WITHOUT RIGID BRACING MUST HAVE 2" OVERSIZED TRIM RINGS FOR SPRINKLERS AND OTHER PENETRATIONS, COORDINATE W/ 
SPECIFICATIONS.

NOTE 10 - SUSPENDED  ACOUSTIC CEILINGS INSTALLED IN SEISMIC DESIGN CATEGORY D SHALL BE INSTALLED ACCORDING TO IBC 808.1.1.1, IBC 1613.1, 
ASTM C 635, ASTCM C 636, AND ASCE 7-10.

NOTE 11 - ACOUSTICAL PANEL CEILINGS REQUIRES SEISMIC DESIGN TO BE COMPLETED BY A LICENSE ENGINEER AND SUBMITTED FOR REVIEW AND 
APPROVAL. RE: SPECIFICATIONS.

STRUCTURE

SPLAY WIRE - SECURE
TO STRUCTURE

MAIN TEE

CROSS TEE

VERTICAL HANGER
WIRE ADJACENT
TO POST

SPRING CLIP INSERTS IN 
HOLE IN POST

STRUT ASSEMBLY TOP CLIP 
MECHANICALLY FASTENED TO DECK 
PER MANUFACTURERS 
RECOMMENDATIONS

BULB CLIP ATTACHING COMPRESSION 
POST AND MAIN RUNNER 
MECHANICALLY FASTENED PER 
MANUFACTURERS 
RECOMMENDATIONS

A FASTENER OR SPLAY WIRES 
MAYBE INSERTED INTO THE TAB OF 
THE POST AND THROUGH A 
CONVENIENCE HOLE IN THE MAIN 
TEE BULB

COMPRESSION POST - INSTALL 
WITHIN 2" OF CROSS TEE 
INTERSECTION

45° OR LESS

45° OR 
LESS 45° OR LESS

45° OR LESS

COMPRESSION POST ALLOWABLE LENGTHS TABLE

13/16" x 13/32" STRUT 19 GA

MATERIAL TYP. ALLOWABLE LENGTH

24"

1 5/8" x 13/16" STRUT 12 GA 48"

13/16" x 13/16" STRUT 19 GA 54"

1 5/8" x 1" STRUT 12 GA 60"

3 5/8" x 1 1/4" STRUT 16 GA 82"

1 1/4" x 1 1/4" STRUT 14 GA 84"

1 5/8" x 1 3/8" STRUT 12 GA 96"

1 5/8" x 1 5/8" STRUT 12 GA 108"

1 5/8" x 2 7/16" STRUT 12 GA 120"

NOTES

1.  THE INFORMATION PROVIDED IS FOR QUICK REFERENCE ONLY.  OTHER 
RESTRICTIONS AND EXEMPTIONS MAY APPLY.

2.  WALL MOLDING SHOULD NOT BE USED AS STRUTS.

3.  A STRUCTURAL ENGINEER SHOULD BE CONSULTED FOR LENGTHS GREATER THAT 
14'.

METAL FURRING
CHANNEL @ 16" O.C. 
(TYP)

FIRST LINE OF BRACING
4'-0" OR LESS FROM

WALL BOUNDARY

RUNNER CHANNEL
@ 4'-0" O.C. (TYP)

4'-0" TYP.

12
'-0

" T
YP

.

NOTE:
AREAS SMALLER THAN 144 SQ. FT. AND WITH WALLS ON 
FOUR SIDES, EXTENDING TO THE STRUCTURE, DO NOT 
NEED TO BE BRACED. BOUNDARY WALLS MUST BE 
BRACED TOP AND BOTTOM INDEPENDENT OF CEILING.

12'-0" TYP.

TYP.

A3

AE903

0'
 -

 0
 1

/8
" UNISTRUT CHANNEL

RE: STRUCTURAL PLAN

TRANSVERSE RAIL
RE: EQUIPMENT PLAN

CEILING GYP. MIN 1/8" 
ABOVE UNISTRUT

UNISTRUT CHANNEL NUT & SCREWS
RE: EQUIPMENT PLAN

SUSPENSION WIRES

CEILING T-BAR SYSTEM

UNISTRUT PLASTIC CLOSURE STRIP
CONTRACTOR TO CONFIRM 
REQUIRED LENGTH WITH OWNER 
AND EQUIPMENT

0'
 -

 0
 1

/8
" UNISTRUT CHANNEL

RE: STRUCTURAL PLAN

TRANSVERSE RAIL BEYOND;
RE: EQUIPMENT PLAN

CEILING GYP. MIN 1/8" 
ABOVE UNISTRUT

SUSPENSION WIRES

CEILING T-BAR SYSTEM

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

3 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A531

CEILING

DETAILS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

12" = 1'-0"
E2 CEILING SEISMIC BRACING AT LAY-IN

3" = 1'-0"
E3 SEISMIC CEILING DETAIL

1 1/2" = 1'-0"
C1

CEILING SEISMIC BRACING

12" = 1'-0"
E1 CEILING SEISMIC BRACING GYP.

3" = 1'-0"
E5 UNISTRUT W/ RAIL DETAIL

3" = 1'-0"
E6 UNISTRUT W/ PLASTIC CLOSURE STRIP DETAIL



WALL COVERING; RE: FINISH SCHEDULE
INSTALL PER MANUFACTURER

SCHEDULED INSIDE 
CORNER TRIM

SCHEDULED WALL

SCHEDULED WALL

WALL COVERING; RE: FINISH SCHEDULE
INSTALL PER MANUFACTURER

SCHEDULED OUTSIDE 
CORNER TRIM

SCHEDULED WALL

WALL COVERING; RE: FINISH SCHEDULE
INSTALL PER MANUFACTURER

HEAT WELD VERTICAL 
JOINTS

EXISTING/NEW WALL

COVE TRIM
CAULK AT SEAMS

HOMOGENEOUS RESILIENT FLOORING;
CONTINUE UP THE WALL 4" OR 6" AS INTEGRAL 
WALL BASE
RE: FINISH SCHEDULE

CONTINUOUS MILDEW RESISTANT 
SEALANT ALONG FRONT EDGE OF TOE

HOMOGENEOUS RESILIENT FLOORING

STEEL PLATE, WHERE OCCURS
RE: STRUCTURAL AND EQUIPMENT

1/8"

SLOPE HOMOGENEOUS RESILIENT FLOORING 
TO ALIGN TO TOP OF STEEL PLATE

SCHEDULED WALL PROTECTION

CAULK AT SEAMS

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

3 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A571

INTERIOR

DETAILS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

3" = 1'-0"
A1

WALL PROTECTION - INSIDE CORNER
3" = 1'-0"

A2
WALL PROTECTION - OUTSIDE CORNER

3" = 1'-0"
A3

WALL PROTECTION - VERTICAL JOINTS
3" = 1'-0"

A4
RUBBER RESILIENT FLOORING



3"

6"

R
E

: E
LE

V
A

T
IO

N
S

4"

R
E

: E
LE

V
A

T
IO

N
S

R
E

: E
LE

V
A

T
IO

N
S

SCHEDULED FINISH FLOOR; RE: 
FINISH FLOOR PLANS

LOWER CABINET; RE: ELEVATION FOR 
CABINET TYPE

WALL AS SCHEDULED; RE: 
PLAN FOR TYPE

UPPER CABINET, RE: ELEVATION FOR 
CABINET TYPE

BACKSPLASH  WHERE 
OCCURS, RE: ELEVATION, 

SAME MATERIAL AS 
COUNTERTOP, CALKING AT 

JOINTS TO MATCH 
COUNTERTOP MATERIAL

BASE TO MATCH MILLWORK MATERIAL 
UNLESS NOTED IN ELEVATIONS

12"

24"

R
E

: I
N

T
E

R
IO

R
 E

LE
V

A
T

IO
N

4"

1/
4"

6"

SCHEDULED COUNTERTOP AND BACKSPLASH
RE: FINISH SCHEDULE

CABINET DRAWERS, TYP.: 3/4" MDF SUBSTRATE, PLASTIC 
LAMINATE FINISH WITH MANUF. CORRISPONDING 3MM ABS 
EDGEBANDING; RE: INTERIOR ELEVATIONS FOR MATERIAL. 
RE: SPECIFICATION DOCUMENTS FOR SOFT-CLOSE DRAWER 
HARDWARE

TYP CABINET DRAWER AND DOOR PULL, RE: MILLWORK 
HARDWARE SCHEDULE; INSTALL PER MANUFACTURER'S 
RECCOMENDATIONS. RE: INTERIOR ELEVATION FOR 
PLACEMENT AND LOCATIONS

SCHEDULED BASE; RE: FINISH SCHEDULE

INTERIOR CABIENT, TYP.: 3/4" MDF SUBSTRATE, FINISHED 
WITH WHITE MELAMINE

SCHEDULED FINISHED FLOOR, TO RUN UNDERNEATH MILLWORK, 
TO WALL BEYOND; RE: FINISH PLAN AND SCHEDULE

6"
E

Q

1/
4"

E
Q

1/
4"

E
Q

1/
4"

3"

WALL AS SCHEDULED, RE: PLAN FOR TYPE

  24"

SCHEDULED WALL
RE: WALL SCHEDULE

SCHEDULED FLOOR; RE: FINISH SCHEDULE

24"

R
E

: I
N

T
E

R
IO

R
 E

LE
V

A
T

IO
N

SCHEDULED COUNTERTOP AND BACKSPLASH
RE: FINISH SCHEDULE

FULL CONCEALED STEEL SUPPORT BRACKET -  
SPACED AT 3'-0", FINISH TO MATCH ADJACENT 
WALL COLOR/FINISH (WHERE EXPOSED)

1 
1/

2"

2 
1/

2"
1"

EQ 1" EQ

(4) #12 SDS SCREWS

SCHEDULED BASE; RE: FINISH SCHEDULE

GROMMET, WHERE OCCURS

SLOPED MILLWORK TOP
ALIGN SLOPES ON ALL MILLWORK TOPS

2"

 12"

SCHEDULED WALL

SEE FLOOR PLAN FOR WALL TYPES

CABINET CONSTRUCTION: 3/4" 
PLYWOOD CORE FACED W/ WHITE 
MELAMINE.

SCHEDULED FLOOR; RE: FINISH 
SCHEDULE

SCHEDULED BASE; RE: FINISH SCHEDULE

ADJUSTABLE SHELF

PROVIDE BLOCKING AS REQ'D

NUMBER OF ADJUSTABLE SHELVES 
VARIES; SEE INTERIOR ELEVATIONS FOR 
CONFIGURATIONS 

ADJUSTABLE SHELF

ADJUSTABLE SHELF

ADJUSTABLE SHELF

ADJUSTABLE SHELFS
E

E
 E

LE
V

A
T

IO
N

 F
O

R
 H

E
IG

H
T

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

4 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A581

CASEWORK

DETAILS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

1 1/2" = 1'-0"
A1

TYPICAL CASEWORK DETAIL
1 1/2" = 1'-0"

A3
TYPICAL BASE CABINET, 4 DRAWER

1 1/2" = 1'-0"
A5

FLOATING COUNTERTOP DETAIL

1 1/2" = 1'-0"
B3

MILLWORK SLOPED TOP
1 1/2" = 1'-0"

B5
24" OPEN SHELF DETAIL



F1
HOLLOW METAL

0'
 -

 2
"

S
E

E
 S

C
H

E
D

U
LE

0' - 2"
SEE SCHEDULE 0' - 2"

F2
HOLLOW METAL

DOUBLE DOOR, EXISTING

0'
 -

 2
"

S
E

E
 S

C
H

E
D

U
LE

0' - 2"
SEE SCHEDULE 0' - 2"

A2

A601

A2

A601

A1

A601

A1

A601

CL

C
.L

. O
F

 H
A

R
D

W
A

R
E

3'
 -

 4
"

D1 D2
LEAD LINED SOLID CORE WOOD W/ DOOR PROTECTION PLATE,

DOUBLE

S
E

E
 S

C
H

E
D

U
LE

SEE SCHEDULE SEE SCHEDULE

S
E

E
 S

C
H

E
D

U
LE

SEE SCHEDULE

SOLID CORE WOOD 

STAINLESS STEEL PLATE

SEALANT

FRAMED HEADER
RE: STRUCTURAL

LEAD-LINED DOOR AND DOOR FRAME 
TO MEET SHIELDING REQUIREMENTS

LEAD-LINED DRYWALL  TO MEET 
SHIELDING REQUIREMENTS

NOTE: WALL AND DOOR ASSEBLY SHALL MEET THE 
SHIELDING REQUIREMENTS FOR FACILITY.
RE: OWNER-PROVIDED SHIELDING REPORT FOR 
REQUIREMENTS.

LEAD-LINED DOOR; RE: DOOR SCHEDULE
MAINTAIN SHIELDING REQUIREMENTS

HOMOGENEOUS RESILIENT FLOORING
RE: FINISH SCHEDULE

EXISTING FLOOR ASSEMBLY; 
VERIFY IN FIELD

EXISTING LEAD-LINED DOOR FRAME BEYOND
VERIFY IN FIELD

HEAD AND JAMB

SILL

METAL STUD HEADER

SCHEDULED HOLLOW METAL FRAME.
INSULATE AT STC RATED PARTITION FRAMES

CONT. SEALANT BOTH SIDES 
TYP.

WALL AS SCHEDULED;RE:
WALL TYPES/DIM. PLANS

VERIFY WIDTH W/ WALL TYPE

DOOR AS SCHEDULED

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

5 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A601

DOOR

SCHEDULE,

TYPES, AND

DETAILS

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

GENERAL NOTES - DOORS
1 ALL HOLLOW METAL FRAMES AND DOORS ARE TO BE PAINTED TO MATCH ADJACENT WALL FINISH, UNLESS NOTED

OTHERWISE

2 ALL INTERIOR HOLLOW METAL FRAME WIDTHS ARE TO MATCH WALL WIDTHS; COORDINATE WITH VERTICAL ASSEMBLY
TYPES

3 WOOD GRAIN DIRECTION TO BE VERTICAL, UNLESS NOTED OTHERWISE

4 FINISH OF METAL FRAMES ADJACENT TO METAL PANEL TO MATCH METAL PANEL COLOR, UNLESS NOTED OTHERWISE

5 COLOR TRANSITIONS TO OCCUR AT INSIDE OF FRAME STOP

6 DOORS SERVING SPACES WITH AN OCCUPANT LOAD OF 50 OR MORE SHALL NOT BE PROVIDED WITH A LATCH OR LOCK
OTHER THAN PANIC HARDWARE. SEE DOOR HARDWARE SPECIFICATIONS

DOOR TYPES

DOOR FRAME TYPES

ALL DOOR HANDLES & HARDWARE USED ON THE PROJECT MUST NOT REQUIRE PINCHING, TIGHT GRASPING, OR TWISTING OF THE WRIST IN ORDER TO OPERATE, IN ACCORDANCE WITH 2021 IBC 1010.2.2

DOOR SCHEDULE

DOOR
NUMBER

ROOMS DOOR DIMENSIONS DOOR FRAME FIRE
RATING HW SET COMMENTSTO RM # WIDTH HEIGHT THK TYPE MATERIAL FINISH TYPE MATERIAL FINISH

LEVEL 03

3A050 HYBRID OR 3A050 6' - 0" 7' - 0" 1 3/4" D2 WOOD/LEAD-LINED MATCH EXISTING F2 HM MATCH EXISTING 2 NEW DOOR TO BE INSTALLED, EXISTING DOOR FRAME TO BE USED; PROVIDE PALLADIUM DOORS AS BID ALTERNATE

3A059 EQUIPMENT 3A059 3' - 0" 7' - 0" 1 3/4" D1 WOOD MATCH EXISTING F1 HM PAINT, MATCH EXISITNG 1

3" = 1'-0"
A1 HM DOOR HEAD, JAMB, AND SILL - LEAD LINED

3" = 1'-0"
A2 HM DOOR HEAD/JAMB

NOTE: ALL DOOR HARDWARE TO MATCH FACILITY LOCKSET STANDARD. CONTRACTOR TO CONFIRM WITH OWNER.



E CB
B

CR

FLOOR FINISH LEGEND

Room name

101

F

B

W WALL FINISH

BASE FINISH

FLOOR FINISH

ROOM NUMBER

FINISH KEY

FINISH CODE; REFER TO 
ELEVATIONS FOR ENTIRE 
SCOPE.

REFER TO FINISH SCHEDULE 
FOR BASIS OF DESIGN.

RESILIENT FLOORINGRF-01

NOTE: INDICATES MAIN FIELD FINISH; ASSUME THIS 
FINISH IN ENTIRE AREA UNLESS AN ACCENT IS CALLED 
OUT IN PLANS OR ELEVATION

* MULTIPLE FINISHES; 
SEE ELEVATION

TYP. ROOM FINISH TAG ACCENT TAG

XX
-X

X

EX
TE

N
T 

O
F 

FI
NI

SH
 

SC
O

PE

* SEE ENLARGED FINISH PLANS + INTERIOR ELEVATIONS+ FINISH SCHEDULE SHEET FOR 
MORE INFORMATION *

ARROWS REPRESENT 
EXTENT OF SCOPE

EXISTINGRF-02

RED LINERF-03

7 8

H

G

HYBRID OR

3A050

RF-01

RF-01

*

EQUIPMENT

3A059

RF-01

RF-01

PNT-01

SCRUB

3A047

EXIST

EXIST

EXIST

CG-01

CG-01

CG-01

CG-01

CG-01

CORRIDOR

3A062

EXIST

RF-02

PNT-04

CORRIDOR

3A031

EXIST

EXIST

PNT-04

CATH LAB CORE

3A028

EXIST

RF-02

PNT-04

V
.I.

F

V.I.F

1

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

5 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A703

LEVEL 3

FINISH PLAN

AND FINISH

SCHEDULE

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

1/4" = 1'-0"
A1

LEVEL 3 FINISH PLAN

GENERAL NOTES - FINISH
1 SEE FLOOR PLANS FOR INTERIOR ELEVATIONS

2 ALL MATERIALS TO BE INSTALLED PER SPECIFIC MANUFACTURER'S INSTALLATION RECOMMENDATIONS

3 FLOORING MATERIAL TRANSITIONS TO OCCUR AT CENTERLINE OF DOOR THRESHOLDS, UNLESS NOTED OTHERWISE

4 PREPARE FLOORS/WALLS TO RECEIVE FINISH MATERIAL. REFER TO MANUFACTURER'S RECOMMENDATIONS FOR
SURFACE PREPARATION. NOTIFY ARCHITECT IF CONDITIONS ARE INADEQUATE FOR REQUIRED INSTALLATION

5 REFER TO ROOM FINISH LEGEND ON SHEET SERIES A600 FOR MORE INFORMATION

6 SEE DIMENSION PLAN SHEET SERIES A120 FOR WALL TYPE LOCATIONS; SEE SHEET SERIES A500 FOR WALL TYPE AND
ASSEMBLY DESCRIPTIONS

7 CONTRACTOR TO PROVIDE SOLID BLOCKING AT ALL CASEWORK, FIXED FURNISHINGS, AND EQUIPMENT. COORDINATE
WITH ELEVATIONS, SECTIONS, FURNITURE, FIXTURE SHEETS, AND SPECIFICATIONS

8 SEE SHEET SERIES A500 FOR TYPICAL DETAILS

9 TILE INSTALLER TO FOLLOW TCNA & ANSI GUIDELINES

10 ALL FLOORING MATERIALS ARE TO RUN WALL TO WALL AND BENEATH CASEWORK

11 VERIFY LOCATION OF POINT OR ORIGIN OF TILE AND CONTROL JOINTS ON SHOP DRAWINGS AND WITH ARCHITECT
ON-SITE PRIOR TO INSTALLATION

12 ALL GROUT TO BE SEALED

13 GENERAL CONTRACTOR TO COORDINATE POWER/DATA PLACEMENT WITH FURNITURE PROVIDER

14 LEVEL 5 FINISH REQUIRED FOR ALL WALL GRAPHIC AND WALLCOVERING LOCATIONS. SEE FINISH PLANS AND ELEVATIONS
FOR LOCATIONS

15 ALL METAL STUD WALLS TO DECK ABOVE, UNLESS NOTED OTHERWISE; SEE SHEET SERIES A500 FOR WALL TYPES

16 PROVIDE DEFLECTION TRACKS AT ALL STUD WALLS, SEE DETAILS ON SHEET SERIES A500

17 ALL EXPOSED METAL TO BE INSTALLED PER SPECIFIC MANUFACTURER'S INSTALLATION RECOMMENDATIONS

18 CREATE A CLEAN, STRAIGHT TRANSITION LINE FROM POLISHED SEALED CONCRETE FLOORING TO SEALED CONCRETE
FLOORING UNDER DOORS. USE APPROPRIATE MEANS TO ACHIEVE A CLEAN TRANSITION

19 ALL FINISHES SHALL COMPLY WITH FGI 2010 STANDARDSHARDWARE SCHEDULE
PRODUCT TYPE MODEL FINISH SPECIFICATIONS

CABINET PULL MATCH EXISTING - RE: INTERIOR ELEVATIONS FOR QUANTITY AND LOCATIONS. HARDWARE LOCATIONS AND SPEC TO BE SHOWN IN SHOP DRAWINGS. CONTRACTOR PROVIDED, CONTRACTOR INSTALLED

SCEDULED MATERIALS AND FINISHES SHALL BE USED FOR BASIS OF DESIGN U.N.O.

*MS_FINISH SCHEDULE

CODE PRODUCT TYPE MANUFACTURER STYLE COLOR DIVISION FINISH NOTES/ REMARKS SPECIFICATION

DIVISION 06 - WOODS, PLASTICS & COMPOSITES

PL-01 PLASTIC LAMINATE WILSONART PREMIUM LAMINATE 7970K-18 HIGH LINE LINEARITY FINISH DIVISION 06 - WOODS, PLASTICS & COMPOSITES BASE AND UPPER CABINETS

DIVISION 09 - CEILINGS

ACP-01 ACOUSTICAL CEILING PANEL ARMSTRONG CEILINGS ULTIMA HEALTH ZONE WHITE WH DIVISION 09 - CEILINGS RE: RCP FOR LOCATIONS 24" X 24" SQUARE LAY-IN; INSTALL PER MANUFACTURER RECOMMENDATIONS

DIVISION 09 - FLOORS

RF-03 RUBBER RESILIENT FLOORING TARKETT iQ OPTIMA 877 RED DIVISION 09 - FLOORS RE: FINISH PLAN FOR LOCATIONS USE FOR RESTRICTED AREA RED LINE FLOOR MARKING. WELD SEAMS. CONTRACTOR TO CONFIRM PRODUCT
COMPATIBILITY WITH EXISTING FLOORING WITH MANUFACTURER.

RF-01 RUBBER RESILIENT FLOORING/BASE TARKETT iQ OPTIMA 977 SOFT BROWN DIVISION 09 - FLOORS RE: FINISH PLAN FOR LOCATIONS WELD SEAMS AND CONTINUE 6" UP THE WALLS AND MILLWORK FOR WALL BASE. TERMINATE BASE WITH COVE TRIM

RF-02 RUBBER RESILIENT FLOORING/BASE MATCH EXISTING MATCH EXISTING MATCH EXISTING DIVISION 09 - FLOORS RE: FINISH PLAN FOR LOCATIONS WELD SEAMS AND CONTINUE 4" UP THE WALLS; OWNER TO POVIDE ATTIC STOCK

DIVISION 09 - PAINT & WALLCOVERING

PNT-03 ACCENT WALL PAINT SHERWIN WILLIAMS SW 7043 WORLDLY GRAY DIVISION 09 - PAINT & WALLCOVERING SATIN FINISH

PNT-02a FIELD CEILIING PAINT SHERWIN WILLIAMS SW 7005 PURE WHITE DIVISION 09 - PAINT & WALLCOVERING FLAT FINISH

PNT-01 FIELD WALL PAINT SHERWIN WILLIAMS SW 7005 PURE WHITE DIVISION 09 - PAINT & WALLCOVERING SATIN FINISH

PNT-04 FIELD WALL PAINT MATCH EXISTING MATCH EXISTING DIVISION 09 - PAINT & WALLCOVERING MATCH EXISTING

WC-01 WALL COVERING ACROVYN SMOOTH SHEET DIVISION 09 - PAINT & WALLCOVERING PROVIDE MANUFACTURER RECOMMENDED TRIMS AT EDGES,
JOINTS, OUTSIDE, AN INSIDE CORNERS

42" HIGH

DIVISION 10 - SPECIALTIES

CG-01 CORNER GUARD ACROVYN SM-10 MATCH HOST WALL DIVISION 10 - SPECIALTIES RE: FINISH PLAN FOR LOCATIONS 90 DEGREE, 3" WING SIZE, WITH BULLNOSE COVER, 42" HIGH

UC-01 UNISTRUT COVER DIVISION 10 - SPECIALTIES

DIVISION 12 - FURNISHINGS

SL-01 STAINLESS STEEL COUNTERTOP MAC MEDICAL STAINLESS STEEL DIVISION 12 - FURNISHINGS EQUIVALENT MANUFACTURER SUBSTITUTIONS MAY BE PROPOSED
TO ARCHITECT FOR REVIEW

TYPE 300 STAINLESS STEEL WITH 5/8" COVE CORNERS. COUNTERTOP SHALL BE A CONTINUOUS PIECE AND HAVE
NO SEAMS FOR CLEANABILITY. PROVIDE GROMMET AND UNDER COUNTER CABLE MANAGEMENT SYSTEM

1 Addendum 1 - Cath Lab Core
Millwork

10/07/2024



V

V

S

E

S

CB
B

CR

7 8

H

G

A411

E4

D1
A411 C1

A411C4

C2

E1

E2

HYBRID OR

3A050
CONTROL ROOM

3A046

SCRUB

3A047

READING ROOM

3A058

EQUIPMENT

3A059

A411

D2

D5

D4

D3
CTRL-02

CTRL-01

CTRL-04

CTRL-05

CTRL-03

CTRL-07

CTRL-06 OR-09

EQP-09EQP-08

EQP-04

EQP-02

EQP-10

OR-12

EQP-06 EQP-07

CTRL-08

3A059

3A050

CORRIDOR

3A062

CORRIDOR

3A031

EKG COORD

3A032

ANESTHESIA 
ZONE
6' x 8'

OR-13

EQP-01

EQP-03

EQP-05

OR-01 OR-02 OR-03 OR-04 OR-05 OR-06 OR-07

CR-01

A411

B1 SCRB-02

SCRB-03

CLCR-01

OR-27

OR-26

OR-32

OR-28

22.00.01

CATH LAB

SCRUB

CONTROL ROOM

CATH LAB CORE

3A047

A411 B2

3 6 0    w e s t    a s p e n    a v e n u e

s a l t  l a k e  c i t y ,  u t a h  8 4 1 0 1

8 0 1   5 3 2   4 4 2 2

sheet:

title:

revisions :

p r o j e c t # :

d a t e :

UNLESS A PROFESSIONAL SEAL WITH SIGNATURE AND 

DATE IS AFFIXED, THIS DOCUMENT IS PRELIMINARY AND IS 

NOT INTENDED FOR CONSTRUCTION, RECORDING 
PURPOSES, OR IMPLEMENTATION

THE DESIGNS SHOWN AND DESCRIBED HEREIN INCLUDING 

ALL TECHNICAL DRAWINGS, GRAPHIC REPRESENTATIONS & 
MODELS THEREOF, ARE PROPRIETARY & CAN NOT BE 

COPIED, DUPLICATED, OR COMMERCIALLY EXPLOITED IN 

WHOLE OR IN PART WITHOUT THE SOLE AND EXPRESS 
WRITTEN PERMISSION FROM METHOD STUDIO INC.

project:

E

D

C

B

A

E

D

C

B

A

1 2 3 4 5 6

1 2 3 4 5 6

10
/7

/2
02

4 
4:

35
:4

9 
P

M
A

ut
od

es
k 

D
oc

s:
//M

cK
ay

 D
ee

 C
at

h 
La

b 
4 

R
ep

la
ce

m
en

t/2
4.

03
10

 M
cK

ay
 D

ee
 C

at
h 

La
b 

4 
R

ep
la

ce
m

en
t.r

vt

A901

LEVEL 3

EQUIPMENT

PLAN

24.0310

SEPT 27, 2024

McKay Dee Hospital

4401 Harrison Blvd

Ogden, UT 84403

McKay Dee

Cath Lab 4

Replacement

CONSTRUCTION DOCUMENT

SEPT 27, 2024

1/4" = 1'-0"
A1 LEVEL 03 EQUIPMENT PLAN

RE: SIEMENS EQUIPMENT PLANS FOR ADDITIONAL EQUIPMENT

EQUIPMENT LIST

MARK DESCRIPTION COUNT MANUFACTURER MODEL NEW/EXISTING RESP. COMMENTS

CLCR-01 LEAD-APRON WALL MOUNTED RACK 1 OWNER
EXISTING

OFCI WALL MOUNTED; COORDINATE LOCATION
WITH OWNER

CR-01 ISOLATION PANEL 1 CONTRACTOR NEW CFCI RE: ELECTRICAL

CTRL-01 CONTROL INTERFACE BOARD 1 SIEMENS NEW OFOI ON WALL UNDER COUNTER

CTRL-02 CPC CONTRAL POWER CONTROL 1 SIEMENS NEW OFOI ON CONTROL COUNTER

CTRL-03 INJECTOR WALL CONNECTION 1 SIEMENS NEW OFOI ON WALL UNDER COUNTER

CTRL-04 KEYBOARD 1 SIEMENS NEW OFOI MOUNTED UNDER COUNTER

CTRL-05 32" LARGE CONTROL ROOM DISPLAY 1 SIEMENS NEW OFOI ON COUNTER

CTRL-06 INTERCOM MICROPHONE / LOUDSPEAKER 1 SIEMENS NEW OFOI ON COUNTER

CTRL-07 INTERCOM POWER UNIT 1 SIEMENS NEW OFOI ON COUNTER

CTRL-08 EATON 9355 REMOTE MONITORING DEVICE 1 SIEMENS NEW OFOI SEE MFG REQS.

EQP-01 IV STAND 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-01 IV STAND 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-02 ATIS IMAGE SYSTEM 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-03 EXCIMER LASER SYSTEM 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-04 SYSTEM CONTROL CABINET 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-05 MEGA POWER ELECTROSURGICAL UNIT 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

EQP-06 EATON 9355 15 KVA UPS AND BATTERY 1 SIEMENS NEW OFOI SEE MFG REQS.

EQP-07 EATON 9355 OUTPUT TRANSFORMER CABINET 1 SIEMENS NEW OFOI SEE MFG REQS.

EQP-08 CABLE CABINET 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-09 GENERATOR (ACX) 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-10 TUBE COOLING UNIT 1 SIEMENS NEW OFOI FLOOR MOUNTED

EQP-11 VALLEY LAB ESU CART 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-01 MAYO STAND 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-02 CASE CART 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-03 VITALS - MOBILE 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-04 FOOTSWITCH PEDAL 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-05 STRAIGHT FOOTSTOOL WITH HANDLE 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-06 SUPPLY CART 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-07 MOBILE X-RAY PROTECTIVE SCREEN 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-07 MOBILE X-RAY PROTECTIVE SCREEN 1 OWNER EXISTING OFCI COORDINATE LOCATION WITH OWNER

OR-09 TABLE CONTROL MODULES 1 SIEMENS NEW OFOI ON TABLE

OR-12 MEDRAD ARTERION INJECTOR PEDESTAL SYSTEM
(INTEGRATED)

1 SIEMENS
NEW

OFOI SEE MFG REQS.

OR-13 ADM MACHINE 1 OWNER
EXISTING

OFCI RE: ELECTRICAL; COORDINATE LOCATION
WITH OWNER

OR-14 ARTIS ICONO CEILING PRO 1 SIEMENS NEW OFOI SEE MFG REQS.

OR-22 3 GLOVE BOX 1 OWNER
EXISTING

OFCI WALL MOUNTED; COORDINATE LOCATION
WITH OWNER

OR-25 WALL MOUNT HAND SANITIZER DISPENSER 1 OWNER
EXISTING

OFCI WALL MOUNTED; COORDINATE LOCATION
WITH OWNER

OR-26 LINEN HAMPER W/ LID 1 OWNER EXISTING OFCI

OR-27 WASTE CONTAINER 1 OWNER EXISTING OFCI

OR-27 WASTE CONTAINER 1 OWNER EXISTING OFCI

OR-28 15 L WASTE CONTAINER 1 OWNER EXISTING OFCI

OR-29 SMALL DRY-ERASE WHITE BOARD 1 OWNER
EXISTING

OFCI WALL MOUNTED; COORDINATE LOCATION
WITH OWNER

OR-30 CONTROLLED SUBSTANCE DISPOSAL CONTAINER 1 OWNER
EXISTING

OFCI WALL MOUNTED; COORDINATE LOCATION
WITH OWNER

OR-31 CUSHION-SEAT EXAM STOOL 1 OWNER EXISTING OFCI

OR-32 WIRE SHELVES 1 OWNER EXISTING OFCI

OR-33 PATIENT TRANSFER BOARD 1 OWNER
EXISTING

OFCI WALL MOUNTED; COORDINATE LOCATION
WITH OWNER

SCRB-02 WALL MOUNT DISINFECTANT WIPES DISPENSER 1 PROFESSIONAL DISPOSABLES
INTERNATIONAL-PDI

SANI-BRACKET EXTRA LARGE SINGLE
CANISTER

NEW
OFCI WALL MOUNTED

SCRB-03 MULTIFOLD WALL MOUNT PAPER TOWEL
DISPENSER

1 GEORGIA PACIFIC ENMOTION FLEX MINI AUTOMATED
(BLACK)

NEW
OFCI WALL MOUNTED

GENERAL NOTES - EQUIPMENT
1 GENERAL CONTRACTOR SHALL FIELD VERIFY ALL CONDITIONS AND SHALL REPORT TO THE ARCHITECT ANY UNKNOWN

CONDITIONS, ERRORS, OR CONFLICTS IN THE DRAWINGS BEFORE BEGINNING WORK

2 REFER TO MANUF. EQUIPMENT PLANS FOR IMAGING EQUIPMENT AND OTHER MISC. EQUIPMENT

3 CONTRACTOR TO COORDINATE WITH OWNER FOR EQUIPMENT NOT NOTED IN SIEMENS EQUIPMENT PLANS

4 REFER TO MANUF. REQUIREMENTS FOR EQUIPMENT REMOVAL

KEYED NOTES
22.00.01 NEW STAINLESS STEEL WALL HUNG DOUBLE STATION SURGEON SCRUB SINK; RE: PLUMBING


	Sheets
	G000 - COVER SHEET
	G001 - INDEX, GENERAL NOTES, LOCATION MAP, LEGENDS
	G003 - CODE ANALYSIS & CODE PLANS
	G012 - ACCESSIBILITY DETAILS, MOUNTING HEIGHTS & TYPICAL BLOCKING
	G015 - CODE REQUIRED SIGNAGE & DETAILS
	G100 - UL DESIGNS
	G200 - LEAD SHIELDING REPORT
	A001 - CONTEXT PLAN
	D102 - LEVEL 2 EXISTING FLOOR PLAN
	D103 - LEVEL 3 DEMO PLAN
	D132 - LEVEL 2 EXISTING RCP
	D133 - LEVEL 3 DEMO RCP
	D401 - INTERIOR ELEVATIONS DEMO
	A103 - LEVEL 3 ENLARGED FLOOR PLAN
	A113 - LEVEL 3 DIMENSION PLAN
	A133 - LEVEL 3 RCP PLAN
	A211 - 3D AXONOMETRIC VIEWS
	A411 - ENLARGED PLANS AND INTERIOR ELEVATIONS
	A501 - INTERIOR WALL ASSEMBLIES
	A503 - STRUCTURAL STEEL DETAILS
	A504 - STRUCTURAL STEEL DETAILS
	A531 - CEILING DETAILS
	A571 - INTERIOR DETAILS
	A581 - CASEWORK DETAILS
	A601 - DOOR SCHEDULE, TYPES, AND DETAILS
	A703 - LEVEL 3 FINISH PLAN AND FINISH SCHEDULE
	A901 - LEVEL 3  EQUIPMENT PLAN


